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ABSTRACT

THE DH11 STATIC LOGIC TEST IS DESIGNED TO PROVIDE A MFANS
FOR TESTING THE CORRECT FUNCTION OF ALL READ/WRITE BITS
IN THe FOLLOWING DH1i REGISVERS:

OHM11l SYSTEM CONTROL REGISTER

DH11 LINE PARAMETER REGISTER

NH11 BREAK CONTROL REGISTER

DH11 SILO STATUS REGISTER

IN ADDITION, TESTS ARE PROVIDED TO CHECK THE FUNCTION
OF THOSE BITS THAT ARE READ ONLY IN MAINTENANCE MODE.

ALSO PROVIDEJ ARL TC3TS OF REGISTER ADDRESSABILITY,
AND OF THE FUNCTION OF MASTER CLEAR.

THE DIAGNOSTIC HAS BEEN WRITTEN SO THAT THE TESTING
OFq%ACH :UNCTION IS CONTAINED IN AN INDIVIDUAL
TEST LOOP.
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REQUIREMENTS

EQUIPMENT

POP-11 FAMILY STANDARD COMPUTER WITH 8KW OF MEMORY
ASR-33 TELETYPE OR EQUIVALENT

DH11 ASYNCHRONOUS MULTIPLEXER

DM11 MAINTENANCE CARD INSTALLED

STORAGE

THE PROGRAM LOADS INTO 8KW OF MEMORY

LOADING PROCEDURE

THE STANDARD PROCEDURE FOR LOADING ABSOLUTE BINARY TAPES
CAN TO BE USED, OR CAN BE USED WITH XXDP.

STARTING PROCEDURE

CONTROL SWITCH SETTINGS

AFTER PROGRAM LOAD (INITIAL PROCRAM START)
ALL CONSOLE SWITCHES OOWN

TO MODIFY DEVICE VECTOR AND CONTROL REGISTER ADDRESSES
AFTER PROGRAM RESTART

SW00=1

TO START PROGRAM AT SELECTED TEST AFTER PROGRAM RESTART
SWO1=1

STARTING ADDRESS

THE STARTING ADDRESS FOR ALL TESTS IS 000200

THE RESTART ADDRESS FOR ALL TESTS IS 0002000

THE STARTING ADDRESS TO ENTER A SELECTED TEST IS 000200
PROGRAM AND/OR OPERATOR ACTION

INITIAL PROGRAM START

LOAD PROGRAM INTO MEMORY

LOAD ADDRESS 000200

CLEAR CONSOLE SWITCHES

PRESS START

THE PROGRAM WILL TYPE “DH11 STATIC LOGIC TEST"

AND WILL THEN TYPE “VECTOR ADORESS-" AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD,

SEQ 3
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4.3.1.6

NOTE:

4.3.1.7

4.3.1.8

4.3.1.9

4.3.2
4.3.2.1
4.3.2.2

4.3.3

4.3.3.1
4.3.3.2
4.3.3.3
4.3.3.4
4.3.4

4.3.4.1
4.3.4.2
4.3.4.3
4.3.4.4

4.3.4.5

4.3.4.6

NOTE:

TYPE IN THE ADDRESS OF THE RECEIVER INTERRUPT VECIOR
FOR THE DH11 TO BE TESTED FOLLOWED B8Y <CARRIAGE RETURN>

WORDS IN ANGLE BRACKETS, I.E. <CARRIAGE RETURN> MEAN THAT
THE TELETYPE KEY WITH THE NAMED FUNCTION SHOULD BE STRUCK

IF AN INCORRECT ADDRESS IS ENTERED, THE PROGRAM
WILL TYPE “?" AND WILL REPEAT THE SECOND MESSAGE OF 4.3.1.5

THE PROGRAM WILL TYPE "CONTROL REGISTER ADDRESS *
AND WAIT FOR AN INPUT FROM THE TELETYPE <EYBOARD

TYPE IN THE ADDRESS OF THE SYSTEM CONTROL REGISTER OF THE
DH11 TO BE TESTED FOLLOWED BY <CARRIAGE RETURN>

IF AN INCORRECT ADDRESS IS TYPED, THE PROGRAM WILL TYPE
#2¢ AND WILL THEN REPEAT THE MESSAGE OF 4.3.1.7

THE PROGRAM WILL TYPE “R” 7O INDICATE THAT IT IS
ABOUT TO START TESTING, AND THEN TESTING WILL BEGIN

PROGRAM RESTART WITH ALL SWITCHES DOWN
PERFORM 4.3.1.2 T0 4.3.1.5

THE PROGRAM WILL TYPE “DH11 STATIC LOGIC TEST*
AND WILL THEN CONTINUE AS DESCRIBED IN 4.3.1.9

PROGRAM RESTART WITH SW00=1

LOAD ADDRESS 000200

SET SWO1=1

PRESS START

THE PROGRAM WILL PERFORM AS DESCRIBED IN 4.3.1.5 70 4.3.1.9
PROGRAM RESTART WITH SWO1=1

LOAD ADDRESS 000200

SCT SWO1=1

PRESS START

THE PROGRAM WILL TYPE “DH11 STATIC LOGIC TEST”

AND WILL THEN TYPE *“TEST PC-~ AND WILL WAIT FOR AN INPUT
FROM THE TELETYPE KEYBOARD

TYPE IN THE ADDRESS OF THE TEST AT WHICH THE PROGRAM IS TO
BE STARTED FOLLOWED BY <CARRIAGE RETURN>

THE PROGRAM WILL TYPE R TO INDICATE THAT IT HAS STARTED
AND WILL START TESTING AT THE SELECTED TEST.

CARE MUST BE TAKEN WHEN THS FEATURE IS USED, SINCE

SEQ 4
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“HERE IS NO PROTECTION AGAINST SELECTING AN ADDRESS THAT
IS IN THE MIDDLE OF A TEST

IF IT IS DESIRED TO LOOP ON THE TEST THAT IS SELECTED
SET SW14=1 BEFORE ENTERING THE TEST ADDRESS
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15 5.2
17 5.2.1

39 5.2.2

45 5.2.3

OPERATING PROCEDURE
OPERATIONAL SWITCH SETTINGS

SW15=1, HALT ON ERROR

SWi14=1, LOOP ON CURRENT TEST

SW13=1, SUPPRESS ERROR TYPEOUT

SW11=1, INHIBIT ITERATIONS

SW10=1, ESCAPE TO NEXT TEST ON EXROR

SW09=1, FREEZE VARIABLE PARAMETER IN CURRENT TEST
SW01=1, START PROGRAM AT SELECTED TEST

SW00=1, CHANGE PARAMETERS AT PROGRAM RESTART

SUBROUTINE ABSTRACTS
TRAPCATCHER (LOCATIONS 000000 000776)
THIS ROUTINE IS USED TO INTERCEPT UNEXPECTED INTERRUPTS

AND TRAPS. THE AREA FROM 000000-000776 IS LOADED
WITH THE FOLLOWING SEQUENCE

osON

72

776
0

IF AN UNEXPECTED INTERRUPT OR TRAP OCCURS, THE PROGRAM
WILL HALT WITH THE PC 2 GREATER THAN THE ADDRESS TO
WHICH THE PROGRAM TRAPPED. THE PROCESSOR STACK MAY

BE EXAMINED TO DETERMINE WHERE THE PROGRAM WAS WHEN THE
TRAP OR INTERRUPT OCCURED.

START  (PROGRAM INITIALIZATION)

THIS ROUTINE INITIALIZES ALL PROGRAM FLAGS AND COUNTERS,
TYPES THE PROGRAM TITLE MESSAGE, AND INPUTS THE VECTOR
AND CONTROL REGISTER ADDRESSES OF THE DH11 TO BE TESTED.

BEGIN  (PROGRAM START AND RESTART)

THIS ROUTINE IS ENTERED IMMEDIATLY AFTER “START”

AND EACH TIME A PROGRAM PASS HAS BEEN COMPLETED.

THE ROUTINE SETS UP THE PROCESSOR STACK AND STATUS WORD
AND THEN TRANSFERS CONTROL TO THE TEST AT WHICH

TESTING WILL BEGIN. IF SW01=0 WHEN THIS ROUTINE IS ENTERD
TESTING WILL START AT T1 (TEST 1). IF SWO1l=1 WHEN

THIS ROUTINE IS ENTERED, TESTING WILL START AT THE PC
ENTERED FROM THE TELETYPE XEYBOARD.

o~

SEQ 6
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5.2.4

VSRV GN -

12 5.2.5

30 5.2.6

-0P (END OF PASS)

THIS ROUTINE IS ENTERED ONCE PER PASS AFTER ALL TESTS
HAVE BEEN COMPLETED. THIS R™ITINE TYPES THE MAINDEC
IDENTIFICATION CODE OF THE PROGRAM, CLEARS ERROR FLAGS
AND UPDATES THE PASS COUNT. IF THE PROGRAM WAS LOADED
UNDER ACT11 OR DDP, THE ROUTINE CHECKS FOR RETURN TO
THE ACT11 OR DDP MONITOR. IF THE PROGRAM IS NOT UNDER
MONITOR CONTROL, THE ROUTINE TRANSFERS TO BEGIN.

SCOPER (SCOPE LOOP AND ITERATION HANDLER)

THIS ROUTINE IS ENTERED EACH TIME A TEST IS COMPLETED.

THE ROUTINE CHECKS FOR THE FOLLOWING UPON ENTRY

A) IF SW10=1, THE ROUTINE WILL TRANSFER TO THE NEXT TEST
IN SEQUENCE, AFTER CLEARING ERROR FLAGS.

B) IF SWi1i=1, THE ROUTINE WILL TRANSFER TO THE NEXT TEST
SEQUENCE, AFTER CLEARING ERROR FLAGS.

C) IF SW14=1, THE ROUTINE WILL LOOP ON THE CURRENT TEST
REGARDLESS OF THE ITERATION COUNT.

IF NONE OF THE ABOVE IS TRUE, THE ROUTINE WILL ADD 1

TO THE COUNT OF TEST ITERATIONS, AND COMPARE THIS VALUE
TO THE NUMBER OF ITERATIONS THAT SHOULD BE PERFORMED.
IF THESE NUMBERS ARE EQUAL, THE ROUTINE WILL TRANSFER
TO THE NEXT TEST IN SEQUENCE. THE THE NUMBERS ARE NOT
EQUAL, THE TEST CURRENTLY IN PROGRESS WILL BE REPEATED.

SCOP1R (FREEZE ON CURRENT DATA)

THE CALL TO THIS ROUTINE FOLLOWS IMMEDIATLY AFTER THE

THE CALL TO THE ERROR HANDLER IN THOSE TESTS THAT HAVE
VARIABLE PARAMETERS. THIS ROUTINE IS ALWAYS ENTERED IN
THOSE TESTS, WHETHER OR NOT AN ERROR OCCURS.

IF SW09=1, THE ROUTINE WILL TRANSFER CONTROL BACK TO THE
TEST AT A POINT WHICH WILL ALLOW REPEATING THE FUNCTION
UNDER TEST CONTINUOUSLY WITH THE SAME DATA. IF THIS
OPTION IS SELECTED, THE ROUTINE "“SCOPER” IS NEVER ENTERED
AND ITERATION COUNTS WILL NOT BE UPDATED.

SEQ 7
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5.2.7

OB JRNE NN -

26 5.2.8

ERRORS (ERROR HANDLER)
THIS ROUTINE IS ENTERED UPON ERROR DETECTION ONLY.

WITH ALL CONSOLE SWITCHES DOWN, THE ROUTINE PROCEDES AS FOLLOWS:

A)

8)

o))

0)

THE PC OF THE INSTRUCTION THAT CALLED THE ERROR HANDLER
IS ACCESSED THRU THE STACK, AND THEN THE EMT INSTRUCTION
ITSELF IS FETCHED. THE 8 LSB OF THE EMT

INSTRUCTION ARE THE ERROR CODE. THIS CODE IS

USED TO ACCESS A TABLE OF ERROR MESSAGES AND ERROR

DATA STORAGE LOCATIONS.

IF THE TEST THAI FAILED DID NOT FAIL PREVIOUSLY

DURING THIS PASS, A COMPLETE ERROR REPCURT IS MADE

IF THE TEST THAT FAILED FAILED MOR THAT ONCE DURING

THE CURRENT PASS, ONLY THE DATA RELATING TO THE FAILUER
IS TYPED. IF SW13=1, NO ERROR TYPEOUT IS MADE.

THE ROUTINE NOW CHECKS FOR HALT ON ERROR. IF SW1S5=1
THE PROGRAM WILL HALT WITH THE PC OF THE CALL TO

THE ERROR ROUTINE IN RO. IF SW15=0, THE PROGRAM WILL
NOT HALT, BUT WILL CHECK FOR ESCAPE TO NEXT TEST.

IF SW10=0, THE ROUTINE WILL RETURN

TO THE TEST IN PROGRESS. 1IF SW10=1, THE ROUTINE WILL
ABORT THE CURRENT TEST, AND TRANSFER TO THE NEXT

TEST IN SEQUENCE, THRU THE ROUTINE “SCQPER",

TRPSRV (TRAP DECODE AND DISPATCH)

THIS ROUTINE DECODES THE 8 LSB OF THE TRAP INSTRUCTION

THAT CAUSED TH PROGRAM INTERRUPT, AND TRANSFERS CONTROL
TO THE ROUTINE THRU THE TABLE "TRPTAB” USING THE 8 LSB

OF THE TRAP INSTRUCTION AS AN OFFSET TO THE POINTER TO
THE ROUTINE YO BE ENTERED.

SEQ 8
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51 5.3.7

PROGRAM AND OR OPEPATOR ACTION
PROGRAM START WITH ALL SWITCHES DOWN

REFER TO SECTIONS 4.3.1 AND 4.3.2 FOR INITIAL PROGRAM
BEHAVIOR.

AFTER “R” HAS BEEN TYPED BY THE PROGRAM, TEST EXECUTION
WILL BEGIN., EACH TEST WILL BE REPEATED A SELECTED NUMBER
OF ITERATIONS (SEE LISTING FOR EXACT NUMBER FOR EACH TEST)
AND THEN THE PROGRAM WILL PROCEED TO THE NEXT TEST.

WHEN ALL ITERATIONS HAVE BEEN COMPLETED, THE PROGRAM

WILL TYPE “CZDHA D" AND THEN RESTART TESTING AT TEST 1
(LOCATION T1 IN THE PROGRAM).

IF AN ERROR OCCURS, THE PROGRAM WILL TYPE AN APPROPRIATE
ERROR MESSAGE, AND THEN CONTINUE THE TEST IN PROGRESS.

PROGRAM START WITH SW0O0=1

THE PROGRAM WILL PERFORM AS DESCRIBED IN 4.3.1 AND 5.3.1
PROGRAM START WITH SWO1=1

REFER TO SECTION 4.3.4 FOR INITIAL PROGRAM BEHAVIOR

TEST EXECUTION WILL START AT THE ADDRESS SPECIFIED
AND WILL CONTINUE AS DESCRIBED IN 5.3.1.2

AFTER "CZDHA-D* HAS BEEN TYPED, THE PROGRAM WILL
RESUME TESTING AT TEST 1

PROGRAM OPERATION WITH SW15=-1

SAME AS S.3.1, EXCEPT THAT IN THE CASE OF AN ERROR,
THE PROGRAM WILL HALT AFTER THE ERROR TYPEOUT, AND

TAE PC+2 OF THE CALL TO THE ERROR ROUTINE WILL BE
DISPLAYED IN RO.

PROGRAM OPERATION WITH SW13=1

SAME AS 5.3.1 EXCEPT THAT NO ERROR TYPEOUTS WILL OCCUR
PROGRAM OPERATION WITH SW11=1

SAME AS 5.3.1 EXCEPT THAT EACH TEST WILL BE REPEATED ONCE
ONLY

PROGRAM OPERATION WITH SW10=1
SAME AS 5.3.1, EXCEPT THAT IN THE CASE OF AN ERROR

THE CURRENT TEST WILL BE ABORTED, AND THE PROGRAM
WILL PROCEED TO THE NEXT TEST IN SEQUENCE.

SEQ 9
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5.3.8

6.1.1

6.2
6.2.1

6.2.2

6.3

6.3.1

6.3.2

(CONT' D)
PROGRAM OPERATION WITH SW14=1, OR SW09-=1

THESE FUNCTIONS ARE NORMALLY USED FOR TROUBLE SHOOTING.
SEE SECTION 6.3 FOR THEIR USE.

ERRORS
ERROR HALTS

THE ERROR MESSAGE FORMAT FOR ALL ERROR TYPEOUTS
IS AS FOLLOWS

PC+2 MESSAGE
HEADER (IF APPLICABLE)
DATA (IF APPLICABLE)

WHERE

PC+2 IS THE ADDRESS OF THE CALL TO THE ERROR HANDLER + 2
MESSAGE IS AN ASCII MESSAGE DESCRIBING (BRIEFLY) THE FAILURE
HEADER IS A DESCRIPTION OF THE DATA TO FOLLOW

DATA IS OCTAL INFORMATION RELATING TO THE CAUSE OF THE FAILURE
IF THE SAME ERROR OCCURS IN A GIVEN TEST ON THE SAME

PASS, AND IF DATA IS ASSOCIATED WITH THAT ERROR, ONLY

DATA IS TYPE ON SUCCEEDING ERROR TYPEOUTS

IF NO DATA IS ASSOCIATED WITH THE ERROR
THE COMPLETE ERROR MESSAGE IS TYPED.

ERROR DESCRIPTIONS

SEE LISTING FOR DETAILS OF ERRORS
ERROR RECOVERY

SK15=0

IF THE PROGRAM IS RUN WITH SW15-0, NO OPERATOT ACTION IS
REQgIRED TO CONTINUE TESTING
SW15=1

IF THE PROGRAM IS RUN WITH SW1S5=1, TO CONTINUE TESTING
AFTER THE PROGRAM HAS HALTED, PRESS THE FROCESSOR
CONSOLE CONTINUE SWITCH

SCOPE LOOPING

TO SCOPE ON A SPECIFIC TEST, SET SW14=1 AND SW13=1
THIS WILL CAUSE THE PROGRAM TO CONTINUOUSLY LOOP ON THE
SAME TEST, AND WILL CAUSE ALL ERROR TYPEOUTS TO B8E INHIBITED

TG SCOPE ON A SPECIFIC VALUE OF A PARAMETER WITHIN
A TEST, SET SW09=1 TO FREEZE THE DATA
(SEE LISTING FOR THOSE TESTS THAT INCORPORATE THIS FEATURE)

SEQ 10
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1
§ 6. (CONT'D)
g 6.3.3 PROGRAM START TO SCOPE LOOP ON SELECTED TEST
3 PERFORM SECTION 4.3.4 WITH SW14=1
3 7. RESTRICTIONS

12 7.1 STARTING

15 THE DH11 TES7 CARD MUST BE INSTALLED

14 7.2 RUNNING

15

16 NONE

17

13 8. MISCEL'. ANEOUS

20 8.1 EXECUTION TIME

21

22 THE TIME FOR ONE PASS OF THE PROGRAM (END OF

23 TYPEOUT OF CZDHA-D TO END OF TYPEOUT OF CZDHA-D)

gg IS GIVEN FOR VARIOUS PROCESSORS IN THE TABLE BELOW

26 TIME

27 PROCESSOR

28

29 PDP-11/04

30 05

31 10

32 15

33 20

34 24

35 34

36 35

37 40

38 44

X9 45

40 55

a1 60

42 70

43 74

a4 84

45

SEQ 11
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10.

PROGRAM DESTRIPTION

THIS PROGR/-X IS A LOW LEVFL TEST OF DH1l CONTROL
HEGISTERS.

THE PROGRAM BEGINS BY CRECXING THE ADDRESSABILITY OF
EACH DH11 REGISTER WI™THCUT CONCERN FOR ANY DATA CONTENT.
THE PURPOSE OF THESE TESTS IS TO VERFIY THAT THE ADDRESS
SELECTORS FOR THE VARIOUS REGISTERS ARE FUNCTIONING.

THE NEXT SET OF TES1S VERIFIES THAT EACH DH11 REGISTER
CAN BE MASTER CLSARED, AFTER ALL READ. LRITE BITS HAVE
BEEN SET TO 1. /rTS TEST DOES NOT VER.rY THAT ALL
BITS HAVE BEEM St/ ONLY THAT THEY HAVE BEEN CLEARED.

THE NEXT GROUP OF TESTS EXERCISES EACH READ/WRITE BIT
IN THE DH11 SYSTEM CONTROL REGISTER, IN BOTH NORMAL AND
MAINTENANCE MODE5S> OF OPERATION. IN NORMAL MODE, EACH
READ/WRITE BIT IS SET AND CLEARED, AND READ ONLY BITS
ARE CHECKED FOR READ ONLY FUNCTION.

IN MAINTENANCE MODS, THE BITS THAT ARE
READ ONLY IN NORMAL MODE ARE CHECKED FOR READ/WRITE OPERATION.

THE NEXT GROUP OF TESTS CHECKS EACH READ/WRITE BIT

OF THE DH11 LINE PARAMATER REGISTER, BREAK CONTROL REGISTER
AND SILO STATUS REGISTER FOR READ/WRITE CAPABILITY. EACH
BIT OF EACH REGISTER IS CHECKED IN AN INDIVIDUAL TEST LOOP.

THE NEXT GROUP OF TESTS CHECKS CLEARING OF A SINGLE

BIT IN EACH OF THE LINE PARAMETER, BREAK CONTROL AND
SILOTSTATUS REGISTERS WITH ALL OTHER READ/WRITE BITS
SET TO 1.

THE FINAL TWO TESTS VERIFY THAT A MOVE BYTE TO ONE BYTE
OF THE SYSTEM CONTROL REGISTER DOES NOT AFFECT THE OTHER BYTE
OF THE SYSTEM CONTROL REGISTER.

AFTER ALL TESTS HAVE BEEN COMPLETED, THE PROGRAM TYPES
"CZDHA-D* AND RESTARTS THE SEQUENCE OF TESTING JUST DESCRIBED,

LISTING
[]

SEQ 12
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; DHMAC-A - DHil MACRO LIBRARY
; COPYRIGHT 1985, DIGITAL EQUIPMENT CORP., MAYNARD, MASS. 01754

.LIST

ME

.NLIST MC,MD,CND

CLEAN END OF PASS
MESSAGE.

CMS REPLACEMENT HISTORY

*9
8
*7

*6
*5

*4
*3
*2

]

SKONETSKI
SKONETSKI
SKONETSKI

SKONE TSKI
SKONE TSKI

SKONE 7SK1
SKONE TSKI
SKONETSKI

SKONETSKI

26-APR-1985
22-APR-1985
22-APR-1985

22-APR-1985
22-APR-1985

18-APR-1985
12-APR-1985
11-APR-1985

11-APR-1985

16:23:08
16:48:03
16:26:04

14:22:35
08:28:54

14:20:15
10:34:52
16:00:24

15:49:05

SEQ 13

"FIXED TYPO CAUSING ASSEMBLY ERRORS"
*TYPO ERROR IN VECTOR CHANGE CODE SOURCE FIXED*
“ADDED CODE TO SET VECTORS FOR PWR FAIL, ERRORS, AND EMT

“FIXED BRANCH ERROR IN END OF PASS ROUTINE*
"FIXED BUG (AN OCTASC MACRO CALL WAS WRONG) ANC ADDED A

“ADDED SOFTWARE SWITCH REG SUPPORT, BUT UNTESTED*
“FIXED PROBLEMS WITH SPURIOUS CR/LFS*
“ADDED HACRO FROM SYSMAC.SML THAT SIZES FOR SOFTWARE SWI

“LIBRARY FOR UH11 DIAGNOSTICS*

-
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00000¢

6 0C0000

100000
040000
020000
010000
004000
002000
001000
000400
000100
000040
000020
000010
000004
000032
000001
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LIST ME
.NLIST mMC,MD,CND
.HEADER t/1972,1978,1985/,t/DH11 STATIC LOGIC TEST/,t/CZDHA-D/

iSTARTING PROCEDURE

:LOAD PROGRAM

:LOAD ADDRESS 000200

:PRESS START

;PROGRAM WILL TYPE DH11 STATIC LOGIC TEST

:PROGRAM WILL TYPE “VECTOR ADDRESS-*

sTYPE IN THE ADDRESS OF THE RECEIVER INTERRUPT VECTOR
;FOR THE DH1l 70 BE TESTED, FOLLOWED BY <CARRIAGE RETURN>
;PROGRAM WILL TYPE "CONTROL REGISTER ADDRESS-"

;TYPE IN THE ADDRESS OF THE SYSTEM CONTROL REGISTEK

;FOR THE OH11 TO BE TESTED, FOLLOWED BY <CARRIAGE RETURN>
+PROGRAM WILL TYPE *R” TO INDICATE THAT TESTING HAS STARTED
;AT THE END OF A PASS, PROGRAM WILL TYPE “ CZDHA-D *

sAND THEN RESUM TESTING

.TITLE CZDHA-D
.ENABLE ABS
.NLIST MC,MD,CND
LIST ME
.SYMBOLS

;SWITCH REGISTER OPTIONS

SW15=100000 i=1,HALT OGN ERROR

S5W14:=40000 ;=1,L00P ON CURRENT TES™

SW13=20000 :=1,INHIBIT ERROR TYPEOUY

SW12=10000

SW11=4000 :=1,INHIBIT ITERATIONS

SW10=2000 s=1,ESCAPE TO NEXT TEST ON ERRGR

SW09=1000 $=1,LO0P WITH CURRENT DATA

SW08=400

SH06=100

SW05=40

SW04 =20

SW03=10

SWO2=4

SHO1=2 ;FESTART PROGRAM AT SELECTED TEST

SW00=1 tRESELECT VECTOR AND CONTROL REGISTER
;AODRESS AFTER PROGRAM RESTART

SEQ 14
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0
:REGISTER DEFINITIONS
000000 RO=%0 1GENERAL REGISTER
000001 Rlesl 1GENERAL REGISTER
000002 R2=%2 :GENERAL REGISTER
000003 R3=u3 1GENERAL REGISTER
000004 R4 =84 ;:GENERAL REGISTER
000005 RS=%5 ;GENERAL REGISTER
000006 SP=%6 ;PROCESSOR STACK POINTER
000007 PC=%? 1PROGRAM COUNTER
:LOCATION EQUIVALENCIES
:SWR=177570 1CONSOLE SWITCH REGISTER
sLIGHTS=177570 ;POP-11/45 DISPLAY REGISTER
177776 PS=177776 1PROCESSOR STATUS WORD
021544 STACK=EN\DC0D+200 $START OF PROCESSOR STACK
; INSTRUCTION DEFINITIONS
005746 PUSH1S5P=5746 ;PECREMENT PROCESSOR STACK 1 WORD
005726 POP1SP=5726 s INCREMENT PROCESSOR STACK 1 WORD
010046 PUSHRO=10046 :SAVE RO ON STACK
012600 POPRO=12600 sRESTORE RO FROM STACK
024646 PUSH25P=24646  ;DECREMENT STACK TWICE
022626 POP25P=22626 sINCREMENT STACK TWICE
LMACRO HLT $A
EMT $A
CENDM O HLT
100000 8IT15=100000
040000 81714+40000
020000 B8IT13=20000
0190000 8IT12=10000
004000 8IT11=4000
002000 B8IT10=2000
001000 B8I709=1000
000400 BIT08=400
000200 8IT07=200
000100 8IT06=100
000040 8IT05=40
000020 8IT04=20
000010 B8IT03=10
000004 81T02-4
000002 B8IT0122
000001 B8IT00=1
1 000000 .CATCH

SEQ 15

-

[T R N ]




—-

000000
000002
000004
00006
000010
000012
000014
000016
000020
000022
000024
000026
000030
000032
000034
000036
000040
0C0042
000044
000046
000050
000052
000054
000056
000060
000062
000064
000066
000070
000072
000074
000076
000100
000102
000104
000106
000110
000112
000114
00011¢
000120
000122
009124
000126
000130
000132
000134
000136
000140
000142
000144

¢00000
000200

000002
000000
000006
Q00000
000012
000000
000016
000000
000022
000000
000026
000000
000032
000000
000036
000000
000042
000000
000046
000000
000052
000000
000056
000000
000062
000000
000066
000000
000072
000000
000076
000000
000102
000000
000106
000000
000112
000000
000116
000000
000122
000000
000126
000000
000132
000000
000136
000000
000142
000000
000146
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; TRAPCATCAER FOR ILLEGAL INTERRUPTS

.=0
.REPT 200

. o2
HALT

.e2
HALT
.2
HALT
.+2
HALT

.ENDR

sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE

:UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
1UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
(EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
tEXAMINE STACK TO FIND CAUSE
stUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
$EXAMINE STACK TO FIND CAUSE
$UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
1EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATICH
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
TEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TQO THIS LOCATION

SEQ 16




000146
000150
000152
Q00154
000156
000160
000162
000164
00166
000170
000172
000174
000176
000200
000202
000204
000206
000210
000212
000214
000216
000220
000222
0C0224
0C0226
000230
000232
000234
000236
000240
000242
000244
000246
000250
000252
000254
000256
000260
000262
000264
000266
000270
000272
000274
000276
000300
000302
000304
000306
000310
000312
000314
000316
000320
000322
000324
000326

000000
000152
000000
000156
000000
000162
000000
000166
000000
000172
000000
000176
000000
000202
000000
000206
000000
000212
000000
000216
000000
00222
000000
000226
000000
000232
000000
000236
000000
000242
000000
000246
000000
000252
000000
000256
000000
000262
000000
000266
000000
000272
000000
000276
000000
000302
000000
000306
000000
000312
000000
000316
000000
000322
000000
000326
000000
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MALT

;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TC FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TC THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
iEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;sEXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TPAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
{UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
tEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE

SEQ 17




[
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000330
000332
000334
000336
000340
000342
000344
000346
000350
000352
000354
000356
000360
000362
000364
000366
000370
000372
000374

000376

000400
000402
000404

0C04(5
000410
000412
000414

000416

000420

000422

000424
000426
000430
000432
000434
000436

000440

000442

000444

000446
000450

000452

000454
000456

000460

000462

000464

000466

000470

000472

000474

000476
000500
000502
000504
000506
000516

000332
000000
000336
000000
000342
000000
000346
000000
000352
000000
000356
000000
000362
000000
000366
000000
000372
000000
000376
000000
000402
000000
000406
000000
000412
000000
000416
0000600
000422
000000
000426
000000
000432
000000
000436
000000
000442
000000
000446
000000
000452
000000
000456
000000
000462
000000
000466
000000
000472
000000
0cu476
000000
000502
000000
000506
000000
000512

sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
iEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
tEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LuUCATION
$EXAMINE STACK TO FIND CAUSE
1UNEXPECTED TRAP TO THIS LOCATION
{EXAMINE STHCK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
1EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
1EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
+EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
:EXAHINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOZATION
;:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
{EXAMINE STACK TO “IND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
{UNEXPECTED TRAP TO THIS LOCATION

SEQ 18
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000512
000514
000516
000520
000522
000524
000526
000530
000532
000534
000536
000540
000542
000544
000546
000550
000552
000554
000556
000560
000562
000564
000566
0C0570
000572
000574
000576
000600
000602
000604
00G606
000610
000612
000614
000616
000620
000622
000624
000626
000630
000632
000634
000636
000640
000642
000644
000646
000650
000652
000654
000656
000660
000662
000664
000666
000670
000672

000000
000516
000000
000522
000000
000526
000000
000532
000000
000536
000000
000542
000000
000546
000000
000552
000000
000556
w00000
000562
000000
000566
000000
000572
000000
000576
000000
000602
000000
000606
000000
000612
000000
000616
000000
000622
000000
000626
000000
000632
000000
000636
000000
000642
000000
000646
000000
000652
000000
000656
000000
000662
000000
000666
000000
000672
000000

HALT

:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATIOM
;:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;:EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TQ THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
s:UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
{EXAMINE STACK TQ FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE

SEQ 19




T

i
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000674
000676
000700
000702
000704
000706
00710
000712
000714
000716
000720
000722
000724
000726
000730
000732
000734
000736
000740
000742
000744
000746
000750
0C0752
000754
000756
000760
000762
000764
000766
000770
000772
000774
000776
1 001000

000676
000000
000702
000000
000706
000000
000712
000000
000716
000000
000722
000000
000726
000000
000732
000000
000736
000000
000742
000000
000746
000000
000752
000000
000756
000000
000762
000000
000766
000000
000772
000000
000776
000000

.SETVEC

;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK 10 FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK 0 FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TG FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE

SEQ 20
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0
000200 .=200
000200 000167 000600
1 000204 . TRPDEF
000204 TRPDEF
104400
000001
000204 TRPDEF
104401
000002
000204 TRPDEF
104402
000003
000204 TRPDEF
104403
000004
0€0204 TRPDEF
104404
000005
000204 TRPDEF
104405
000006
000204 TRPDEF
104406
000007
000204 TRPDEF
104407
000010
000204 TRPDEF
104410
000011
2 000046 .=46
3 000046 016610 LOGICAL
4 000052 .=52
5 000052 040000 40000
6 .MACRO
2
8
9 .ENDM
10 000054 .START

;STANDARD INTERRUPT VECTORS

JHP START ;GO TO START OF PROGRAM

;DEFINITIONS FOR TRAP SUBROUTINE CALLS
;POINTERS TO SUBROUTINES CAN BE FOUND STARTING
;AT LOCATION “TRPTAB"

SCOPE, +/SCOPE LOOP AND ITERATION HANDLER/
SCOPE~TRAP oY :SCOPE LOOP AND ITERATION HANDLER
=Y ¢
TYPE,t/TELETYPE OUTPUT ROUTINE/
$YPE;TRAP0Y ;s TELETYPE OQUTPUT ROUTINE
=Ye
OCTASC,t/0CTAL TO ASCII CONVERSION/

0C$ASC-TRAP¢Y ;OCTAL TO ASCII CONVERSION
Y=Y+l

INSTR, t/INPUT ASCII STRING/

INSTR=TRAP +Y ; INPUT ASCII STRING

Y=Yel

INSTER,t+/STRING INPUT ERROR/

INSTER=TRAP+Y ;STRING INPUT ERROR

Y=Yel

PARAM, +/CONVERT STRING 7O OCTAL, CHECK LIMITS/

PAsAT-TRAPOY ;CONVERT STRING TO OCTAL, CHECK LIMITS
Y=Y+

SAVO5P,t/SAVE RO-RS, PC/

SAVOSP=TRAP+Y

YaYel

RESOS5, t/RESTORE RO-RS/

$E$OS-TRAP¢Y ;RESTORE RO-R5
aYs+]

SCOPE1, t/CHECK FOR FREEZE ON CURRENT DATA/

:SAVE RO RS, PC

$C$PE1=TRAP¢Y ;CHECK FOR FREEZE ON CURRENT DATA

zYe

CODEML

MOV DHSSR, DHSLR ;SET UP ADDRESS OF SILO

%gg DHSLR ;STATUS REGISTER HIGH BYTE
EM1

DHRVEC,3,4,DHSCR,0,177776,7,10,,,1

SEQ 21
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0

001000
001002

001004
001012
001016
001022
001026
001032
001036
001042
001046
0€1052
001056
001062
001061
001072
001076
001102
001106
001114
001120
001122
001122
001130
001134
001134
001136
001140
001144
001150
001154

001160

001000

177570
177570

012767
012706
012702
012722
012722
012722
012722
012722
012712
005067
005067
005067
005067
005067
016746
016746
012767
005777
000405

012767
005067

005726
005726
012667
012667
104401
005767

001001

.=1000

;PROGRAM INITIALIZATION

;LOCK OUT INTERRUPTS

+SET UP PROCESSOR STACK
;SET UP POWER FAIL VECTOR
;CLEAR PROGRAM FLAGS AND COUNTS

;TYPE TITLE MESSAGE

JIIF NB <>,
JIIF NB <o,

SWR: .WORD
LIGHTS: .WORD

000340 176764 START: MOV

021544
000024
020110
000340
016750
000340
017162
000340
017026
016762
016760
016750
016744
176702
176700
001122
177660

000176
177€46

176642
176634
020260
016722

176670

177650

MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
CLR
CLR
CLR
CLR
CLR
MOV
MOV
MOV
TST
BR

MOV
CLR

TST
TST
MoV
MOV
TYPE
TST

1$:

2%:

IF NB
BNE

JIFF

BNE
.ENDC
JIF NB <>
SIZE: CLR
MOV
b X1 18T
B8R
2%: MOV
sus
MOV

<DHRVEC>

;DETERMINE MEMORY SIZE

:SET UP TRACE TRAP RETURN

177570
177570

9340,PS
#STACK,SP
224,R2
#PFAIL,(R2)+
2340, (R2)»
#ERRORS, (R2)»
2340, (R2)+
#TRPSRV, (R2)+
2340, (R2)
STFLG

PASCNT

ERRCNT

ERRFLG

ERRFLG

4, -(SP)

6| ‘(SP)

1%, 4

SSWR

2%

2176, SWR
LIGHTS

(SP)«
(SP)+
(SP)+, 6
(SP)+, 4
MTITLE
INIFLG

VEC1

BEGIN

RO
224,804
(RO)»

13
RO,HCORE
#2 ,HCORE
£6,304

; SWITCH DHSCR ADDRESS
: LIGHTS

;LOCK OUT INTERRUPTS
:SET UP PROCESSOR STACK
; POINT TO VECTOR AREA
;SET UP POWER FAIL TRAP
;:SERVICE AT LEVEL 7
;ERROR HANDLER

:SERVICE AT LEVEL 7

;GENERAL HANDLER DISPATCH SERVICE ;

;SERVICE AT LEVEL 7
;CLEAR TEST START FLAG
sCLEAR PASS COUNT
:CLEAR ERROR COUNT
;:CLEAR ERROR FLAG
;CLEAR LAST ERROR PC

; PUSH TRAP VECTOR

SET UP TRAP VECTOR
TEST SWITCH REGISTER ADDRESS
IF SUCCESSFUL, LEAVE IT ALONE

: POINT TO SOFT SWITCH DHSCR
: 0 MEANS WE ARE NOT GOING TO USE

i CLEAN UP STACK

:TYPE TITLE MESSAGE
;CHECK INITIALIZATION FLAG

:IF NOT O, CHECK SWITCHES
:FOR REINITIALIZATION

;IF NOT O, START TEST

;SET UP TIME OUT RETURN

+WILL TRAP WHEN NO MEMORY
;LOCATION RESPONDED, CONTINUE
;RO CONTAINS ADDRESS OF

+NON EXISTANT MEMORY

;RESTORE TRAPCATCHER

SEQ 22

Lbhbd

s me as @t s W .
Wd~N~NNNN

o me o0 ws w0 [T as @ w0 W W ®
-
bbbbu‘lgbhbbbbb
-
w
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001162

001164
001172
001174
001174
001200
001204
0C1210
001212
001214
001216
001220
001224
001226
001230
001232
001234
001236
001240
001242
001243
001244
001246
001250
001252
001254
001256
001260
001261

001262
001262
001270

001274
001300
001302

000404

032777
001445

012701
12702
012703
010211
005012
060301
060302
020127
001371
104403
020315
104405
000300
000770
020032

003

004
104403
020337
104405
000000
177776
020010

007

010

016767
005267

005767
001002
005167

000001

000300
000302
000004

001000

016540
016534

016602
016574

177606

016540

.ENDC
IF NB <o
TRACER: MQV #14,8¢10
SXT RO
MOV ORTT,TRTRET
BR 23
1s: MOV #RTI,TRTRET
MOV #12,8410
MOV OTRTRET, 8416
.ENDC
.IF NB <DHRVEC>
IF B <>
BR VEC2
IFF
TST INIFLG
BEQ VEC2
.ENDC
VEC1: BIT #SW00, 8SWR
BEQ BEGIN
VEC2:
MOV #300,R1
MOV #302,R2
MOV #4 ,R3
1$: MOV R2,.(R1)
CLR (R2)
ADD R3,R1
ADD R3.R2
CMP R1,41000
BNE 1¢
INSTR
MVECTOR
PARAM
300
770
DHRVEC
.BYTE 3
.BYTE 4
INSTR
MREGAD
PARAM
0
177776
DHSCR
.BYTE 7
.BYTE 10
LENDC
OF N8 <)»>
CoDEML
MOV DHSSR, DHSLR
INC DHSLR
.ENDC
TST INIFLG
BNE BEGIN
COM INIFLG

:PROGRAM START

SEQ 23

;SET UP ILLEGAL INSTRUCTION TRAP RETURN
;00 11740, 11/45 INSTRUCTION
:11/40,45 RTT RETURN FROM TRACE TRAP

:1105,10,20 RTI RETURN FROM TRACE TRAP
;RESTROE TRAPCATCHER
;SET UP TRACE TRAP VECTOR

:IF INITIALIZE FLAG=0
;GET VECTOR AND CSR ADDRESS

;:IF SW00=1, GET NEMW VECTOR ; 4
;AND CSR
)
; 4

;RESTORE TRAPCATCHER
;IN FLOATING VECTOR AREA

: INPUT ADDRESS OF DEVICE VECTOR
;MESSAGE "VECTOR ADDRESS-*

:CONVERT STRING TO OCTAL

;LOW LIMIT

;HIGH LIMIT : 3
;:LOCATIONS TO BE FILLED

:NUMBER OF LOCATIONS

;LSB MASK

; INPUT ADDRESS OF DEVICE CSR
;MESSAGE "CONTROL REGISTER ADDRESS-"
;CONVERT STRING TO OCTAL

:LOW LIMIT

;HIGH LIMIT

;LOCATIONS TO BE FILLED

;NUMBER OF LOCATIONS

:LSB MASK

;:SET UP ADDRESS OF SILO
;STATUS REGISTER HIGH BYTE

;IF INITIALIZATION FLAG
:IS CLEARED
;SET IT

;CHECK FOR PROGRAM START AT SELECTED ADDRESS




001306
001314
001320
001326
001330
001332
001334
001336
001340
001342
001344
001345
001346
001350
001356
001362
001364
001370
001374
216 001400

001400
001400
001406
001414

001422
001430
001436

001442

0014434
001450
001450

001452
001456
001460
001466
001472
217 001474

012767
012706
032777
001410
104403
020526
104405
000000
017500
020050

001

001
000410
012767
005767
001004
005167
104401
000177

012767
012767
012767

000002
012737
012737
005777

000406
016705
104000
012716
000002
012737

005037
104400

000340
021544
000002

001400
016522

016514
020522
016450

000340
000100
001452

001444
000340
016346

016340

001460

000006
000006

176462 BEGIN:
177452

.BYTE
.BYTE

016472 1%:

2%:
3s:
RGADRS
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SEQ 24
MOV #340,PS :LOCK OUT INTERRUPTS
MOV #STACK,SP ;SET UP PROCESSOR STACK
BIT #5W01, ISWR :IF SWO1=1 )
BEQ 1 ;GET PC FOR FROGRAM START
INSTR ;GET PC
MTSTPC :MESSAGE "TEST PC”
gARAH ;CONVERT STRING TO OCTAL
17500
RETRN
1
1
BR 2%
MOV #T1,RETRN ;NORMAL START, TEST 1
TST STFLG ;IF LOOPING, BYPA_.5 TYPEQUT
BNE 33
COM STFLG
TYPE MR :TYPE “R" TO INDICATE START
JHP SRETRN ;START TESTING i 3

t/SCR/,t/DH11 SYSTEM CONTROL/

;DH11 SYSTEM CONTROL REGISTER ADDRESSING TEST

:VERIFY THAT DH11 SYSTEM CONTROL REGISTER RESPONDS TO ADDRESSING

;IF DH11l SYSTEM CONTROL REGISTER DOES NOT RESPOND, A BUSS ERROR TRAP
;WILL OCCUR, AND AN ERROR MESSAGE WILL BE TYPED.

TS \XN, 100,24

176370 T1:
016442
016430

JIF Ny

.ENDC
XN=XN+1

000004
000006

1%:

2%:
000004 3s:

RGADRS

HOV #340,PS :DISABLE ALL INTERRUPTS
MOV #100, ICOUNT :SET UP FOR 100 ITERATIONS
MOV #2% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
<>
10V #,FREEZL :SET UP TO LOOP WITH DATA i 3
MOV 14,004 :SET UP TIME OUT TRAP
MOV 340,866
TST 8DHSCR ;ADDRESS DH11 SYSTEM CONTROL
;REGISTER

BR 33 :NO TRAP, REGISTER RESPONDS

:TO ADDRESSING
MOV DHSCR,R5 ;REGISTER DID NOT RESPOND
HL} 0 ;TIME OUT TRAP, DH11 SYSTEM CONTROL
3] 0

;REGISTER DID NOT RESPOND
MOV #3%,(SP) ;SET UP TO RETURN FROM TRAP
RTI :RETURN FROM TRAP
MoV 46,834
CLR 806 ;RESTORE TRAP CATCHER
SCOPE ;CHETK FOR ITERATIONS, LOOP

t/NRC/,t/DH11 NEXT RECEIVED CHARACTER/

;DH11 NEXT RECEIVED CHARACTER REGISTER ADORESSING TEST

sVERIFY THAT DH11 NEXT RECEIVED CHARACTER REGISTER RESPONDS TO ADDRESSING

:IF DH1l NEXT RECEIVED CHARACTER REGISTER DOES NOT RESPOND, A BUSS ERROR TRAP
;WILL OCCUR, AND AN ERROR MESSAGE WILL BE TYPED.




SEQ 25
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001474
001474
001502
001510

001516
001524
001532

001536

001540
001544
0013544

001546

218 0C1570

001570
001570
001576
001604

001612
001620
001626

001632

001634
001640
001640

001642
001646
001650
001656
001662
219 001664

012767
012767
012767

000003
012737
012737
005777

000406
016705
104000

012716
000002
012737
005037
104400

012767
012767
012767

000004
012737
012737
005777

000406
016705
104000
012716
000002
012737

005037
104400

000340
000100
001546

001540
000340
016254

016246

001554

000006
000006

000340
0001920
001642

001634
000340
016162

Ci6154

001650

00000¢€
000006

176274
016346
016334

000004
00006

000004

176200
016252
016240

000004
000006

000004

TS \XN,100,2%

T2:

JIF N8

.ENDC
XN=XN+1

1%:

2%:
3%

RGADRS

MoV #340,PS ;DISABLE ALL INTERRUPTS

Hov €100, ICOUNT ;SET UP FOR 100 ITERATIONS

nov #2$ ,ESCAPE sSET UP TO ESCAPE TO NEXT TEST

<>

MOV &,FREEZL :SET UP TO LOOP WITH DATA ;3

MOV 013,304 ;SET UP TIME OUT TRAP

MOV 9340,846

TST SDHNRC :ADDRESS DH11 NEXT RECEIVED CHARACTER

;REGISTER

BR 33 :NO TRAP, REGISTER RESPONDS
:TO ADDRESSING

MOV DHNRC, RS ;REGISTER DID NOT RESPOND

2:} 8 ;: TIME OUT TRAP, DH11 NEXT RECEIVED CHARACTER
{REGISTER DID NOT RESPOND

MOV 43%,(SP) ;SET UP TO RETURN FROM TRAP

RTI ;RETURN FROM TRAP

MOV 96,304

CLR 806 ;:RESTORE TRAP CATCHER

SCOPE :CHECK FOR ITERATIONS, LOOP

t/LPR/,t/DH 11 LINE PARAMETER/

;DH 11 LINE PARAMETER REGISTER ADDRESSING TEST

;VERIFY THAT DH 11 LINE PARARETER REGISTER RESPONDS TO ADDRESSING

;IF DH 11 LINE PARAMETER REGISTER DOES NOT RESPOND, A BUSS ERROR TRAP
sWILL OCCUR, AND AN ERROR MESSAGE WILL BE TYPED.

TS \XN,100,2%

T3:

.IF NB

.ENDC
XN=XN+1

1¢:

2%:

_35:

RGADRS

MOV #340,PS :DISABLE ALL INTERRUPTS
MOV €100, ICOUNT :SET UP FOR 100 ITERATIONS
MOV #2% ,ESCAPE ;:SET UP TO ESCAPE TO NEXT TEST
<>
MOV 4 ,FREEZL :SET UP TO LOOP WITH DATA + 3
MOV @13,504 :SET UP TIME OUT TRAP
MOV 4340,306
TST S0HLPR ;ADDRESS DH 11 LINE PARAMETER
:REGISTER

BR 3% iNO TRAP, REGISTER RESPONDS

:TO ADDRESSING
MOV DHLPR, RS ;REGISTER DID NOT RESPOND
HLT 0 :TIME OUT TRAP, DH 11 LINE PARAMETER
EMT 0

;REGISTER DID NOT RESPOND
MOV 434,(SP) ;SET UP TO RETURN FROM TRAP
ATI :RETURN FROM TRAP
MOV o6 ,304
CLR 806 ;RESTORE TRAP CATCHER
SCCPE ;CHECK FOR ITERATIONS, LOOP

t/BA/, t/0H11 BUS ADDRESS/

;:DH11 BUS ADDRESS REGISTER ADDRESSING TEST
;VERIFY THAT DH11 BUS ADDRESS REGISTER RESPONDS TO ADDRESSING
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;IF DH11 BUS ADDRESS REGISTER DOES NOT RESPOND, A BUSS ERROR TRAP
;WILL OCCUR, AND AN ERRGR MESSAGE WILL BE TYPED.

001664 TS \XN,100,2¢
001664 012757 000340 176104 T4: MOV 9340,PS ;DISABLE ALL INTERRUPTS
001672 012767 000100 016156 Mov 4100, ICOUNT :SET UP FOR 100 ITERATIONS
001700 012767 001736 016144 IF N MoV 92$,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENOC MOV #,FREEZ1 ;SET UP TO LOOP WITH DATA
000005 XN=XN+1
001706 012737 001730 000004 MOV 414,804 ;SET UP TIME OQUT TRAP
001714 012737 000340 000006 MOV 340,896
0021722 005777 016070 ST S0HBA ; ADDRESS gﬂéi BUS ADDRESS
;REGISTER
001726 000406 BR 33 :NO TRAP, REGISTER RESPONDS
1 TO ADDRESSINC
001730 016705 016062 1. MOV DHBA ,RS ;REGISTER DID NOT RESPOND
001734 HLT 0 ;:TIME OUT TRAP, DH11 BUS ADDRESS
001734 104000 EMT 0
;REGISTER DID NOT RESPOND
001736 012716 001744 2%: MOV 43s,(5P) ;SET UP TO RETURN FROM TRAP
001742 000002 RTI ;RETURN FROM TRAP
0C1744 012737 000006 000003 3$: MOV 6,804
001752 005037 000006 CLR 806 ;RESTORE TRAP CATCHER
001756 104400 SCOPE ;CHECK FOR ITERATIONS, LOOP
220 001760 RGADRS +/BC/,t/DH11 BYTE COUNT/
;DH11 BYTE COUNT REGISTER ADDRESSING TEST
;VERIFY THAT DH11 BYTE COUNT REGISTER RESPONDS TO ADDRESSING
;IF DH11 BYTE COUNT REGISTER DOES NOT RESPOND, A BUSS ERROR TRAP
+WILL OCCUR, AND AN ERROR MESSAGE WILL BE TYPED.
001760 TS \XN,100,2$
001760 012767 000340 176010 T5: MOV #340,PS :DISABLE ALL INTERRUPTS
001766 012767 000100 016062 MOV €100, ICOUNT ;SET UP FOR 100 ITERATIONS
001774 012767 002032 016050 — MOV @24 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV ¢, FREEZ1 ;SET UP TC LOOP WITH DATA
000005 XN=XN+1
002002 012737 002024 000004 MOV 014,804 :SET UP TIME OUT TRAP
002010 012737 000340 000006 MOV 0340 ,806
002016 005777 015776 187 S0HaC sADDRESS OH1l BYTE COUNT
;REGISTER
002022 000406 B8R 3 iNQ TRAP, REGISTER RESPONDS
1 T0 ADORESSING
002024 016705 015770 1s: MOV OHBC RS tREGISTER DID NOT RESPOND -
002030 HLT 0 1 TIME QUT TRAP, OM11 BYTE COUNT
002030 104000 EMT 0
;REGISTER DID NOT RESPOND
002032 012716 002040 2%: MoV #33,(5P) $1SET UP TO RETURN FROM TRAP
002036 000002 RTI sRETURN FROM TRAP
002040 012737 000006 000004 33: MoV % ,904
002046 005037 000006 CLR 806 1RESTORE TRAP CATCHER
002052 104400 SCOPE ;CHECK FOR ITERATIONS, LOOP
221 002054 RGADRS *+/8CR/,t/DH11 BREAK CONTROL/

SEQ 26

: 3
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2ezé

002054
002054
002062
002070

002076
002104
002112

002116

002120
002124
002124

002126
002132
002134
002142
002146
002150

002150
002150
002156
002164

002172
002200
002206

002212

002214
002220
002220

002222
002226
002230

0127€7
012767
012767

000007
012737
012737
005777

000406
016705
104000

012716
000002
012737
005037
104400

012767
012767
012767

000010
012737
012737
005777

000406
016705
104000
012716

000002
012737

000340
000100
002126

002120
000340
015706

015700

002134

000006
000006

000340
000100
002222

002214
000340
015610

015602

002230
000006

175714
015766
015754

000004
000006

000004

175620
015672
015660

000004
000006

000004
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sDH11 BREAK CONTROL REGISTER ADDRESSING TEST

:VERIFY THAT DH.1 BREAK CONTROL REGISTER RESPONDS TO ADDRESSING

SEQ 27

:IF DH11 BREAK CONTROL REGISTER DOES NOT RESPOND, A BUSS ERROR TRAP

sWILL OCCUR, AND AN ERROR MESSAGE WILL BE TYPED.

TS \XN,100,29

T6: MOV 0340,PS ;DISABLE LL INTERRUPTS
MOV €100, IZ0UNT :SET UP F(U? 100 ITERATIONS
S MOV 423 ,ESCAPE ;SET UP TO £SCAPE TO NEXT TEST
. <>
MOV ¢,FREEZL sSET UP TO LOOP WITH DATA : 3
.ENDC
AN=XN+1
MOV 014,804 ;SET UP TIME OUT TRAP
MOV 0340,8%6
ST 8DHBCR ;ADDRESS DH11 BREAK CONTROL
sREGISTER
BR 33 sNO TRAP, REGISTER RESPONDS
;TO ADDRESSING
18: MOV DHBCR,RS sREGISTER DID NOT RESPOND
2:} g ;TIME OUT TRAP, DH11 BREAK CONTROL
;REGISTER DID NOT RESPOND
2%: MOV 233.(SP) ;SET UP TO RETURN FROM TRAP
RTI sRETURN FROM TRAP
3s: MOV 06,804
CLR 806 ;RESTORE TRAP CATCHER
SCOPE ;CHECK FOR ITERATIONS, LOOP
RGADRS t/BAR/,t/BUS ACTIVE/
:BUS ACTIVE REGISTER ADDRESSING TEST
s VERIFY THAT BUS ACTIVE REGISTER RESPONDS TO ADDRESSING
;IF BUS ACTIVE REGISTER DOES NOT RESPOND, A BUSS ERROR TRAP
;sWILL OCCUR, AND AN ERROR MESSAGE MWILL BE TYPED.
TS \XN,100,2%
17: MOV #340,PS ;DISABLE ALL INTERRUPTS
HOV €100, ICOUNT ;SET UP FOR 100 ITERATIONS
HOV 824 ,ESCAPE ;SET UP TG ESCAPE TO NEXT TEST
JIF N8B o
MoV ¢, FREEZL ;SET UP TO LOOP WITH DATA : 3
.ENDC
AN=XN+1
MOV 414,804 ;SET UP TIME QUT TRAP
MOV 2340,906
TST SOHBAR +RDDRESS BUS ACTIVE
;REGISTER
BR 3s ;NO TRAP, REGISTER RESPONDS
;TO ADDRESSING
1s: MOV DMBAR,RS ;REGISTER DID NOT RESPOND
HT 0 :TIME NUT TRAP, BUS ACTIVE
EMT 0
sREGISTER DIN NOT RESPOND
2%: MOV 23s,(SP) $SET UP TC REI'RN FROM TRAP
RTI sRETURN FROM TRAP
3s: MOV 6,804




ol

SEQ 28
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002236
002242
223 002244

002244
002244
002252
002260

002266
002274
002302

002306

0€2310
0C2314
002314

002316
002322
002324
002332
002336
224
225 002340

002340
002340
002346
002354

002362

002370
002376

002402

005037
104400

012767
012767
012767

000011
012737
012737
005777

000406
016705
104000
012716
000002
012737

005037
104400

012767
012767
012767

000012
012777

052777
017704

005704

000006

000340
000100
002316

002310
000340
015520

015512

002324

000006
000006

000340
004000
002416

173777

004000
015406

175524
015576
015564

000004
000006

000004

175430
015502
015470

015420
015412

CLR 806 ;RESTORE TRAP CATCHER
SCOPE sCHECK FOR ITERATIONS, LOOP
RGADRS t/SSR/,t/SILO STATUS/

$SILO STATUS REGISTER ADDRESSING TEST

;VERIFY THAT SILO STATUS REGISTER RESPONDS TO ADDRESSING

+IF SILO STATUS REGISTER DOES NOT RESPOND, A BUSS ERROR TPAP
tWILL OCCUR, AND AN ERROR MESSAGE WILL BE TYPED.

TS \XN,100,2%

T10: MOV #340.,PS ;OISABLE ALL INTERRUPTS
MOV 2100, ICOUNT ;SET UP FOR 100 ITERATIONS
— MOV 4214 ,ESCAPE sSET UP TO ESCAPE TO NEXT TEST
. <>
MOV 4.FREEZ1 ;SET UP TO LOOP WITH DATA ; 3
.ENDC
XN=XN+1
MOV 214,804 sSET UP TIME OQUT TRAP
MOV 2340,806
T1ST SDHSSR ;ADDRESS SILO STATUS
;REGISTER
BR 3 ;:NO TRAP, REGISTER RESPONDS
: TO ADDRESSING
1%: MOV DHSSR,RS sREGISTER DID NOT RESPOND
Eh} 8 ;s TIME OUT TRAP, SILO STATUS
sREGISTER DID NOT RESPOND
2%: MOV 93s,(SP) sSET UP TO RETURN FROM TRAP
RTI :RETURN FROM TRAP
3’: mv “.a“
CLR 806 sRESTORE TRAP CATCHER
SCOPE tCHECK FOR ITERATIONS, (P

REGTSS t/SYSTEM CONTROL/, t/DHSCR/,173777

sMASTER CLEAR TEST

sSET SYSTEM CONTROL REGISTER TO 'CDATA‘
;ISSUE MASTER CLEAR

:VERIFY THAT SYSTEM CONTROL WAS CLEARED

TS \XN,4000,1$
T11: MOV #340,PS
MOV #4000, ICOUNT

;:DISABLE ALL INTERRUPTS
:SET UP FOR 4000 ITERATIONS

IF N8 MOV 018 ,ESCAPE sSET UP TO ESCAPE TO NEXT TEST
. «>
MOV 4,FREEZL ;SET UP TO LOOP WITH DATA : 3
.ENDC
AN=XN+1
MOV #173777,80HSCR :SET SYSTEM CONTROL REGISTER
170 173777
BIS #8IT11,8DHSCR ;ISSUE MASTER CLEAR
MOV 8DHSCR,R4 :(R4)=ACTUAL DATA IN
:SYSTEM CONTROL REGISTER
IFNB o
ENDC BIC 4,.R4 ;CLEAR UNWANTED BITS
TST R4 ;VERIF¥ THAT SYSTEM CONTROL REGISTER
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;WAS CLEARED

13

RS :(RS)=EXPECTED DATA IN
:SYSTEM CONTROL REGISTER, 0O

DHSCR,R3 ;GET REGISTER ADDRESS

S sMASTER CLEAR FAILED

:CHECK FOR ITERATIONS, LOOP

t/LINE PARAMETER/,t/DHLPR/,177777

:MASTER CLEAR TEST

:SET LINE PARAMETER REGISTER TO 'CDATA’
1ISSUE MASTER CLEAR

:VERIFY THAT LINE PARAMETER WAS CLEARED

9340,PS sDISABLE ALL INTERRUPTS
€4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
@13 ,ESCAPE sSET UP TO ESCAPE TO NEXT TEST
@,FREEZ1 $SET UP TO LOOP WITH DATA ;i 3
177777, 8OHLPR ;SET LINE PARAMETER REGISTER
: 70 177777
#81T11,8DHSCR ;ISSUE MASTER CLEAR
SOHLPR R4 ;(R4)=ACTUAL DATA IN
;LINE PARAMETER REGISTER
®.R4 ;CLEAR UNWANTED BITS
R4 ;VERIFY THAT LINE PARAMETER REGISTER
L ;WAS CLEARED
$
RS :(RS)=EXPECTED DATA IN
:LINE PARAMETER REGISTER, O
DHLPR,R3 ;GET REGISTER ADDRESS
g :MASTER CLEAR FAILED

+CHECK FOR ITERATIONS, LOOP

t/BREAK CONTROL/,*/DHBCR/,177777

sMASTER CLEAR TEST

;SET BREAK CONTROL REGISTER TO ‘CDATA’
s ISSUE MASTER CLEAR

iVERIFY THAT BREAK CONTROL WAS CLEARED

002404 001404 BEQ
002406 005005 CLR
002410 016703 015374 MOV
002414 HLT
002414 104005 EMT
002416 104400 1s: SCOPE
226 002420 REGTSS
002420 TS \XN,4000,1$
002420 012767 000340 175350 Tie: MOV
002426 012767 004000 015422 MOV
002434 012767 002476 015410 MOV
IF N8 o
MOV
.ENDC
000013 XN=XN+1
0C2442 012777 177777 015344 MOV
002450 052777 004000 015332 8IS
002456 017704 015332 MOV
JFNB O
BIC
.ENDC
002462 005704 TST
002464 001404 BEQ
002466 0925005 CLR
002470 016707 015320 MOV
002474 HLT
002474 104005 ENT
002476 104400 1% SCOPE
227 0025LC REGTSS
002500 TS \XN,4000,1%
002500 012767 000340 175270 T13: MOV
002506 012767 004000 015342 MOV
002514 012767 002556 015330 MoV
IFNB o
MoV
.ENDC
000014 XN=XN+1
002522 012777 177777 015274 MOV

0340,PS ;ODISABLE ALL INTERRUPTS

#4000, ICOUNT :SET UP FOR 4000 ITERATIONS
913 ,ESCAPE sSET UP TQ ESCAPE TO NEXT TEST
¥, FREEZL ;SET UP TQ LOOP WITH DATA
2177777,00HBCR ;SET BREAK CONTRQL REGISTER

sT0 177777

SEQ 29
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002530 052777 004000 015252 BIS #BIT11,8DHSCR ;ISSUE MASTER CLEAR
002536 017704 015262 MOV QDHBCR,R4 ;(R4)=ACTUAL DATA IN
sBREAK CONTROL REGISTER
JOFNB o
BIC #,R4 ;CLEAR UNWANTED BITS
.ENDC
002542 005704 TST R4
;WAS CLEARED
002544 001404 BEQ 1s
002546 005005 CLR RS ;(RS)=EXPECTED DATA IN
;BREAK CONTROL REGISTER, 0
002550 016703 015250 MOV DHBCR,R3 ;:GET REGLSTER ADDRESS
002554 HLT S ;MASTER CLEAR FAILED
002554 104005 EMT S
002556 104400 14 SCOPE ;CHECK FOR ITERATIONS, L09P
228 002560 REGTSS t/SILO STATUS/,t/DHSSR/,100077,77700

sMASTER CLEAR TESY

:SET SILO STATUS REGISTER TO ’CODATA’
;ISSUE MASTER CLEAR

tVERIFY THAT SILO STATUS WAS CLEARED

002560 TS \XN,4000.1%
MoV

0C2560 012767 000340 175210 T14: 4340.PS ;:DISABLE ALL INTERRUPTS
002566 012767 004000 015262 MOV 94000, ICOUNT :SET UP FOR 4000 ITERATIONS
002574 012767 002642 015250 IF N8 nov 918 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV ¢, FREEZ2L s:SET UP TO LOOP WITH DATA : 3
000015 XN=XN«1
002602 012777 100077 015216 MoV 4100077, 8DHSSR :$5T135397STATUS REGISTER
:
002610 052777 004000 015172 BIS BIT11,80H5CR s ISSUE MASTER CLEAR
002616 017704 015204 MV SDHSSR R4 :(R4)=ACTUAL DATA IN
$SILO STATUS REGISTER
IF NB  <77700>
002622 042704 077700 ENDC 8IC ¢77700,.R4 ;CLEAR UNUANTED BITS
002626 005704 157 R4 ;VERIFY THAT SILO STATUS REGISTER
;WAS CLEARED
002630 001404 eeqQ 1%
002632 005005 CLR RS i (RS)=EXPECTED DATA IN
sSILO STATUS REGISTER, 0
002634 016703 015166 MoV DHSSR ,RY ;GET REGISTER ADDRESS
002640 HLY 3 ;MASTER CLEAR FAILED
002640 104005 EMT 5
002642 104400 1%: SCOPE ;CHECK FOR ITERATIONS, LOOP
229 002644 REGTS1 t/LINE SELECT BIT 0/,BITOO
;SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
;SET LINE SELECT BIT O IN SYSTEM CONTROL REGISTER
;VERIFY THAT LINE SELECT BIT O WAS SET
;CLEAR LINE SELECT BIT O
sVERITY THAT LINE SELECT BIT O WAS CLEARED
002644 TS \XN,4000,24

002644 012767 000340 175124 T15: MOV 4340,PS :DISABLE ALL INTERRUPTS

SEQ 30

;s VERIFY THAT BREAK CONTROL REGISTER




002652
002660

002666
002672
002676
002702
002704

002710

002712
002712

002714
002720
002722

002724

002726
002726

002730
230 002732

002732
002732
002740
002746

002754
002760
002764
002770
002772

002776

003000
003000

003002

012767
012767

000016
016703
012713
022713
001404
012705

011304

104001
042713
001403
005005

011304

104001
104400

012767
012767
012767

000017
016703
012713
022713
001404
012705

011304

104001
042713

004000
002730

015116
000001
000001

000001

000001

000340
004000
003016

015030
000002
000002

000002

000002

015176
015164

175036
015110
015076
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MoV 94000, ICOUNT

MOV 024 ,ESCAPE
JF NB O
MOV 9,FREEZ)
.ENDC
XN=XN+1
MOV DHSCR,R3
MOV #81700,(R3)
cMpP #81T00,(R3)
BEQ 14
MOV 08IT00,RS
MOV (R3),R4
HLT 1
EMT 1
1s: BIC 031700,(R3)
BEQ 2%
CLR RS
MOV (R3),R4
HL.T 1
EMT 1
2%: SCOPE

REGTS1 t/LINE SELECT BIT 1/,BIT01

SeEQ 31

:SET UP FOR 4000 ITERATIONS
$SET UP TO ESCAPE TO NEXT TEST

sSET UP TO LOOP WITH DATA ;3

;PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
sSET LINE SELECT BIT O
sVERIFY THAT LINE SELECT BIT O WAS SET

;(R5)= EXPECTED VALUE

:IN SYSTEM CONTROL REGISTER
sLINE SELECT BIT O
1(R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER
3sSYSTEM CONTROL REGISTER

sWRITE/READ ERROR
sCLEAR LINE SELECT BIT O

+(RS)=EXPECTED DATA IN
sSYSTEM CONTROL REGISTER, O
s(R4)=ACTUAL DATA IN
3DYSTEM CONTROL REGISTER
YSTEM CONTROL REGISTER

RITE/READ ERROR
HECK FOR ITERATIONS, LOOP

;SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
sSET LINE SELECT BIT 1 IN SYSTEM CONTROL REGISTER
sVERIFY THAT LINE SELECT BIT 1 WAS SET

;CLEAR LINE SELECT BIT 1

tVERITY THAT LINE SELECT BIT 1 WAS CLEARED

TS \XN,4000,2¢
T16: MoV #340,PS
MoV €4000, ICOUNT

MoV 924 ,ESCAPE

IFNB o
MOV &, ,FREEZL
.ENDC
XN=XN+1
MOV DHSCR.R3
HOV #BIT01,.(R3)
cHp #BIT01,(R3)
BEQ 13
MOV #IT01,RS
MOV (R3).R4
HLT 1
EMT 1
1s: BIC #81T01,(R3)

:DISABLE ALL INTERRUPTS
:SET UP FOR 4000 ITERATIONS
:SET UP TO ESCAPE TO NEXT TEST

sSET UP TO LOOP WITH DATA

™
w

:PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
;:SET LINE SELECTY BITV i
sVERIFY THAT LINE SELECT BIT 1 WAS SET

:(RS5)= EXPECTED VALVE

sIN SYSTEM CONTROL REGISTER
;:LINE SELECT BIT 1
:(R4)=ACTUAL DATA IN
:SYSTEM CONTROL REGISTER
:SYSTEM CONTROL REGISTER

;WRITE/READ ERROR
;:CLEAR LINE SELECT BIT 1
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003006
003010

003012

003014
003014

003016
231 003020

003020
003020
003026
003034

003042
003046
003052
003056
003060

003064

003066
003066

003070
003074
003076
003100

003102
003102

003104
232 003106

003106
003106

001403
005005

011304

104001
104400

012767
012767
012767

000020
016703
012713
022713
001404
012705

011304

104001
042713
001403
005005

011304

104001
104400

012767

000340 174750
004000 015022
003104 015010

014742
000004
000004

000004

000004

2%:
REGTS1
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BEQ 24

CLR RS ; (R5)=EXPECTED DATA IN
:SYSTEM CONTROL REGISTER, 0

MOV (R3),R4 :(R4)=ACTUAL DATA IN
sSYSTEM CONTROL REGISTER

Eh} i ;SYSTEM CONTROL REGISTER
;WRITE/READ ERROR

SCOPE ;CHECK FOR ITERATIONS, LOOQP

t/LINE SELECT BIT 2/,BIT02

:SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
:SET LINE SELECT BIT 2 IN SYSTEM CONTROL REGISTER
;VERIFY THAT LINE SELECT BIT 2 WAS SET

;:CLEAR LINE SELECT BIT 2

;VERITY THAT LINE SELECT BIT 2 WAS CLEARED

TS \XN,4000,24$

T17:

.IF N8

.ENDC
XN=XN+1

1s:

2%:
REGTS1

MOV #340,PS ;DISABLE ALL INTERRUPTS

MOV ©€4000, ICOUNT ;SET UP FOR 4000 ITERATIONS

MOV 924 ,ESCAPE sSET UP TO ESCAPE TO NEXT TEST

<

MOV #,FREEZL :SET UP TO LOOP WITH DATA ;i 3

MoV DHSCR,R3 ;PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3

MOV #8I702,(R3)
cHpP #81702,(R3)

:SET LINE SELECT BIT 2

BEQ 13

MOV 9BIT02.RS ;{R5)= EXPECTED VALUE
;IN SYSTEM CONTROL REGISTER
;LINE SELECT BIT 2

MOV (R3),R4 s(R4)=ACTUAL DATA IN
sSYSTEM CONTROL REGISTER

g:; i ;SYSTEM CONTROL REGISTER
:WRITE/READ ERROR

gég gBITOZ.(R3) ;:CLEAR LINE SELECT BIT 2

$

CLR RS :(R5)=EXPECTED DATA IN
:SYSTEM CONTROL REGISTER, O

MOV (R3),R4 :(R4)=ACTUAL DATA IN
:SYSTEM CONTROL REGISTER

HL} 1 :SYSTEM CONTROL RESISTER

M 1
:WRITE/READ ERROR

SCOPE sCHECK FOR ITERATIONS, LOOP

t/LINE SELECT BIT 3/,BITO03

;SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
;SET LINE SELECT BIT 3 IN SYSTEM CONTROL REGISTER
;VERIFY THAT LINE SELECT BIT 3 WAS SET

;CLEAR LINE SELECT BIT 3

;VERITY THAT LINE SELECT BIT 3 WAS CLEARED

TS \XN,4000,2%
000340 174662 T20:

MOV 4340,PS :DISABLE ALL INTERRUPTS

SEQ 3z

sVERIFY THAT LINE SELECT BIT 2 WAS SET
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003114 012767 004000 014734
012767 003172 014722

003122

003130
003134
003140
003144
003146

003152

003154
003154

003156
003162
003164

003166

003170
003170

003172
233 003174

003174
003174
003202
003210

003216
003222
003226
003232
003234

003240

003242
003242

003244

000021
016703
012713
022713
001404
012705

011304

104001
042713
001403
005005

011304

104001
104400

012767
012767
012767

000C22
016703
012713
022713
001404
012705

011304

104001
042713

014654
000010
0€J010

000010

000010

000340
004000
003260

014566
0C0020
000920

000020

000020

174574
014646
014634

MOV #4000, ICOUNT
MOV 424 ,ESCAPE
JIF NB <o
MOV #,FREEZ1
.ENDC
XN=XN-1
MOV DHSCR,R3
MOV #B81703,(R3)
CMP #B81703,(R3)
BEQ 14
MOV #8IT03,RS
MOV (R3),R4
HLT 1
EMT 1
1%: BIC 9817T03,(R3)
BEQ 2%
CLR RS
MOV (R3),R4a
HLT 1
EMT 1
2%: SCOPE

REGTS1 t/MEMUPY EXTENS1ON BIT 0/,BITO4

SEQ 33

;SET UP FOR 4000 ITERATIONS
:SET UP TO ESCAPE TO NEXT TZST

:SET UP TO LOOP WITH DATA i 3

;PUT ADDRESS OF SYSTZM CONTROL REGISTER IN R3
:SET LINE SELECT BIT 3
sVERIFY THAT LINE SFIECT BIT 3 WAS SET

;(R5)= EXPECTED VALUE

;:IN SYSTEM CONTROL REGISTER
;:LINE SELECT BIT 3
;(R4)=ACTUAL DATA IN
:SYSTEM CONTROL REGISTER
;SYSTEM CONTROL REGISTER

:WRITE/READ ERROR
sCLEAR LINE SELECT BIT 3

;(R5)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER, 0
;s (R4)=ACTUAL DATA IN
;:SYSTEM CONTROL REGISTER
;SYSTEM CONTROL REGISTER

;WRITE/READ ERROR
;CHECK FOR ITERATIONS, LOOP

;SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
;SET MEMORY EXTENSION BIT O IN SYSTEM CONTROL REGISTER
;VERIFY THAT MEMORY EXTENSION BIT O WAS SET

;CLEAR MEMORY EXTENSION BIT O

sVERITY THAT MEMORY EXTENSION BIT O WAS CLEARED

TS \XN,4000,2%

T21: MOV 0340,PS
MOV #4000, ICOUNT
MoV #24 ,ESCAPE

JIFNB o
MOV 4,FREEZ21

.ENDC

XN=XN+1
MOV DHSCR,R3
MOV #BIT04,(R3)
cHP 481704 ,(R3)
BEQ 14
MOV #BIT04 ,RS
MOV (R3).R4
HT 1
EMT 1

1%: B8IC #BIT04,(R3)

;DISABLE ALL INTERRUPTS
;SET UP FOR 4000 ITERATIONS
:SET UP TO ESCAPE TO NEXT TEST

;SET UP TO LOOP WITK DATA

(7]

;PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
:SET MEMORY EXTENSION BIT 0O
;VERIFY THAT MEMORY EXTENSION BIT O WAS SET

:(R5)= EXPECTED VALUE

;IN SYSTEM CONTROL REGISTER
{MEMORY EXTENSION BIT O
;(R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER
;SYSTEM CONTROL REGISTER

;WRITE/READ ERROR
sCLEAR MEMORY EXTENSION BIT O




003250
003252

003254

003256
003256

003260
234 003262

003262
003262
003270
003276

003304
003310
003314
003320
003322

002326

003330
003330

003332
003336
003340
003342

003344
003344

003346
235 003350

003350
003350

001403
005005

011304

104001
104400

012767
012767
012767

000023
016703
012713
022713
001404
012705

011304

104001
042713
001403
005005

011304

104001
104400

012767

SEQ 34
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BEQ 24

CLR RS ;s (R5)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER, O

MoV (R3).,R4 ;(R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER

2#% i ;SYSTEM CONTROL REGISTER
;WRITE/READ ERROR

2%: SCOPE ;CHECK FOR ITERATIONS, LOOP

REGTS1 t/MEMORY EXTENSION BIT 1/,BITOS

;SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
;SET MEMORY EXTENSION BIT 1 IN SYSTEM CONTROL REGISTER
;VERIFY THAT MEMORY EXTENSION BIT 1 WAS SET

;CLEAR MEMORY EXTENSION BIT 1

;VERITY THAT MEMORY EXTENSION BIT 1 WAS CLEARED

TS \XN,4000,2¢

000340 174506 T22: MOV 4340,PS ;DISABLE ALL INTERRUPTS
004000 014560 MOV 44000, ICOUNT ;:SET UP FOR 4000 ITERATIONS
003346 014546 —— MoV 924 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
MOV 4,FREEZ1 ;:SET UP TO LOOP WITH DATA : 3
.ENDC
XN=XN+1
014500 MOV OHSCR,R3 ;:PUT ADORESS OF SYSTEM CONTROL REGISTER IN R3
000040 MOV #81705,(R3) ;SET MEMORY EXTENSION BIT 1
000040 gg: ¢8IT05,(R3) ;VERIFY THAT MEMORY EXTENSION BIT i WAS SET
14
000040 MOV #8ITO5,R5 ;(RS)= EXPECTED VALUE
;IN . STEM CONTROL REGISTER
;MEMORY EXTENSION BIT 1
MOV (R3),R4 ;(R4)=ACTUAL DATA IN
:SYST™H CONTROL REGISTER
HLT 1 ;SYST_M CONTROL REGISTER
EMT 1
:WRITE/READ ERROR
000040 1s%: gég g?ITOS.(R3) ;:CLEAR MEMORY EXTENSION BIT 1
CLR RS :(RS)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER, O
MOV {R3),R4 ;{R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER
g%} 1 ;SYSTEM CONTROL REGISTER
1
iWRITE/READ ERROR
2s: SCOPE ;CHECK FOR ITERATIONS, LOOP
REGTSY1 t/RECEIVER INTERRUPT ENABLE/,BITO6
;:SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MOOE)
:SET RECEIVER INTERRUPT ENABLE IN SYSTEM CONTROL REGISTER
;VERIFY THAT RECEIVER INTERRUPT ENABLE WAS SET
;CLEAR RECEIVER INTERRUPT ENABLE
;VERITY THAT RECEIVER IMTERRUPT ENABLE WAS CLEARED
TS \XN,4000,2%
000340 174420 T23: Mov 4340,PS ;DISABLE ALL INTERRUPTS
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003356
003364

003372
003376
003402
003406
003410

003414

003416
003416

003420
003424
003426

003430

003432
003432

003434
236 003436

003436
003436
003444
003452

003460
003464
003470
003474
003476

003502

003504
003504

003506

012767 004000 014472

012767

000024
016703
012713
022713
001404
012705

011304

104001
042713
001403
005005

011304

104001
104400

012767
012767
012767

000025
016703
012713
022713
001404
012705

011304

104001
042713

003434

014412
000100
000100

000100

000100

000340
004000
003522

014324
001000
001200

001000

001000

014160

174332
014404
014372

MOV #4000, ICOUNT
MOV #24% ,ESCAPE
JFNB o
MOV #.FREEZ1
.ENCT
XN=XN+1
MOV DHSCR,R3
MOV #81706,(R3)
CMP #81IT06,(R3)
BEQ 13
MOV #8IT06,R5
MOV (R3).R4
HLT 1
EMT 1
13: 8IC #8I706,(R3)
BEQ 2%
CLR RS
MOV (R3).R4
HLT 1
EMT 1
2%: SCOPE

REGTS1 t/MAINTENANCE MODE/,BITO9

SEQ 35

;SET UP FOR 4000 ITERATIONS
:SET UP TO ESCAPE TQ NEXT TEST

iSET UP 7O LOOP WITH DATA i 3

:PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
sSET RECEIVER INTERRUPT ENAB.LE
{VERIFY THAT RECEIVER INTERRUPT ENABLE WAS SET

:(R5)= EXPECTED VALUE

;IN SYSTEM CONTROL REGISTER
;RECEIVER INTERRUPT ENARBLE
;i (R4)=ACTUAL DATA IN
:SYSTEM CONTROL REGISTER
:SYSTEM CONTROL REGISTER

;WRITE/READ ERROR
:CLEAR RECEIVER INTERRUPT ENABLE

;(RS)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER, 0
;(R4)=ACTUAL DATA IN
:SYSTEM CONTROL REGISTER
:SYSTEM CONTROL REGISTER

;WRITE/READ ERROR
;CHECK FOR ITERATIONS, LOOP

:SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MOOE)
:SET MAINTENANCE MODE IN SYSTEM CONTROL REGISTER
sVERIFY THAT MAINTENANCE MODE MWAS SET

;CLEAR MAINTENANCE MODE

;VERITY THAT MAINTENANCE MODE WAS CLEARED

TS \XN,4000,2%
T24: MOV %340,PS
MOV #4000, ICOUNT

MOV 924 ,ESCAPE

JF NB <>
MOV @, FREE2L
.ENOC
AN=XN+1
MOV DHSCR,R3
MOV 4BIT09,(R3)
e BIT09,(R3)
B8EQ is
MOV #81IT09,RS
MOV (R3).R4
HLT 1
EMT 1
1s: 8IC #8IT09,(R3)

sOISABLE ALL INTERRUPTS
;SET UP FOR 4000 ITERATIONS
:SET UP TO ESCAPE TO NEXT TEST

;SET UP TO LOOP WITH DATA : 3

sPUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
:SET MAINTENANCE MODE
$VERIFY THAT MAINTENANCE MODE MWAS SET

s(RS)= EXPECTED VALUE

;IN SYSTEM CONTROL REGISTER
iMAINTENANCE MODE
s(R4)=ACTUAL DATA IN
$1SYSTEM CONTROL REGISTER
;SYSTEM CONTROL REGISTER

;WRITE/READ ERROR
1CLEAR MAINTENANCE MODE




SEQ 36
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003512
003514

003516

003520
003520

003522
237 003524

003524
003524
003532
003540

003546
003552
003556
003562
003564

003570

003572
003572

003574
003600
003602
003604

003606
003606

003610
238 003612

003612
003612

001403
005005

011304

104001
104400

012767
012767
012767

000026
016703
012713
022713
001404
012705

011304

104001
042713
001403
005005

011304

104001
104400

012767

BEQ 24

CLR R5 ;s (R5)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER, 0

MOV (R3),R4 ;(R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER

EL} 1 ;SYSTEM CONTROL REGISTER

M 1
sWRITE/READ ERROR

2%: SCOPE ;CHECK FOR ITERATIONS, LOOP

REGTS1 t/SILO OVERFLOW INTERRUPT ENABLE/,BIT12

;SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)

:SET SILO OVERFLOW INTERRUPT ENABLE IN SYSTEM CONTROL REGISTER
:VERIFY THAT SILO OVERFLOW INTERRUPT ENABLE WAS SET

;CLEAR SILO OVERFLOW INTERRUPT ENABLE

;VERITY THAT SILO OVERFLOW INTERRUPT ENABLE WAS CLEARED

TS \XN,4000,2¢

000340 174244 T125: MoV 4340,PS ;:DISABLE ALL INTERRUPTS
004000 014316 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
003610 014304 IF e Hov 923 ,ESCAPE iSET UP TO ESCAPE TO NEXT TEST
. <>
MOV ¢,FREEZ1 ;SET UP TO LOOP WITH DATA : 3
.ENDC
XN=XNe+1
014236 MOV DHSCR, R3 :PUT ADDRLSS OF SYSTEM CONTROL REGISTER IN R3
010000 MOV #8IT12,(R3) :SET SILO OVERFLOW INTERRUPT ENABLE
010000 gg: 0?IT12.(R3) ;VERIFY THAT SILO OVERFLOW INTERRUPT ENABLE WAS SET
1
010000 MOV #B8IT12,R5 ;{R5)+ EXPECTED VALUE
sIN SYSTEM CONTROL REGISTER
:SILO OVERFLOW INTERRUPT ENABLE
MOV (R3),R4 1(R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER
EL} { ;SYSTEM CONTROL REGISTER
"
sMRITE/READ ERROR
010000 1%: gég ;BITlE.(RB) ;:CLEAR SILO OVERFLOW INTERRUPT ERABLE
$
CLR RS iCRS5)=EXPECTED DATA IN
1SYSTEM CONTROL REGISTER, O
MOV (R3).R4 ;{R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER
HLT 1 ;SYSTEM CONTROL REGISTER
EMT 1
:WRITE/READ ERROR
24: SCOPE sCHECK FOR ITERATIONS. LOOP
REGTS1 t/TRANSMITTER INTERRUPT ENABLE/,BIT13
;SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL HODE)
:SET TRANSMITTER INTERRUPT ENABLE IN SYSTEM CONTROL REGISTER
;VERIFY THAT TRANSMITTER INTERRUPT ENABLE WAS SET
{CLEAR TRANSMITTER INTERRUPT ENABLE
;VERITY THAT TRANSMITTER INTERRUPT ENABLE WAS CLEARED
TS \XN,4000,2$
000340 174156 T26: MOV #340,PS sDISABLE ALL INTERRUPTS




-t
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SEQ 37

f

0036¢0 012767 004000 014230 MOV 94000, ICOUNT ;:SET UP FOR 4000 ITERATIONS
003626 012767 003676 014216 IF N8 MOV 92$,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MoV # . FREEZ1 sSET UP TO LOOP WITH DATA ; 3
000027 XN=XN+1
003634 016703 014150 MOV DHSCR,R3 ;PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
003640 012713 020000 MOV #8IT13,(R3) ;SET TRANSMITTER INTERRUPT ENABLE
003644 022713 020000 CMP BIT13,(R3) sVERIFY THAT TRANSMITTER INTERRUPT ENABLE WAS SET
003650 001404 BEG 14
003652 012705 020000 MOV #8IT13,R5 ;(RS)= EXPECTED VALUE
:IN SYSTEM CONTROL REGISTER
;TRANSMITTER INTERRUPT ENABLE
003656 011304 MOV (R3),R4 :(R4)=ACTUAL DATA IN
sSYSTEM CONTROL REGISTER
003660 HLT 1 ;SYSTEM CONTROL REGISTER
003660 104001 EMT 1
;WRITE/READ ERROR
003662 042713 020000 14: 8IC #8IT13,(R3) ;CLEAR TRANSMITTER INTERRUPT ENABLE
002666 001403 BEQ 2%
003670 005005 CLR RS ;s (RS)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER, O
003672 011304 MOV (R3).R4 ;(R4)=ACTUAL DATA IN
:SYSTEM CONTROL REGISTER
003674 HLT 1 ;SYSTEM CONTROL REGISTER
003674 104001 EMT 1
;WRITE/READ ERROR
003676 104400 2%: SCOPE ;CHECK FOKR ITERATIONS, LOOP
239 003700 REGTS1 +/TRANSMITTER DONE/,BIT1S
:SYSTEM CONTROL REGISTER WRITE/REAQ TEST (NORMAL MODE)
;:SET TRANSMITTER OONE IN SYSTEM CONTROL REGISTER
:VERIFY THAT TRANSMITTER DOUNE WAS SET
;CLEAR TRANSMITTER DONE
;:VERITY THAT TRANSMITTER DUNE WAS CLEARED
003700 TS \XN,4000,2%
003700 012767 000340 174070 T27: MOV #340,PS :OISABLE ALL INTERRUPTS
003706 012767 004000 014142 HOV 24000, ICOUNT ;SET UP FOR 4000 ITERATIONS
003714 012767 003764 014130 F N8 MOV 2% ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
I <>
MOV 4.FREEZL :SET UP TO LOOP WITH DATA
.ENDC
000030 XN=XN+]1
003722 016703 014062 MOV DHSCR,R3 ;PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
003726 012713 100000 MOV #8IT15,(R3) ;SET TRANSMITTER DONE
003732 022713 100000 CHP MBIT15,(R3) ;VERIFY THAT TRANSMITTER DONE WAS SET
003736 001404 BEQ 14
003740 012705 100000 MOV #BIT15.RS s(RS)s EXPECTED VALUE
;IN SYSTEM CONTROL REGISTER
; TRANSMITTER DONE
003744 011304 MOV (R3),R4 ;(R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER
003746 HLT 1 :SYSTEM CONTROL REGISTER
003746 104001 EMT 1
sWRITE/READ ERROR
003750 042713 100000 1%: 8IC @BIT15,(R3) ;CLEAR TRANSMITTER DONE




CZDHA-0 MACRO V04.00 27-JUN-85 12:46:01 PAGE 17-16

003754
003756

003760

003762
003762

003764
240 003766

003766
003766
003774
004002

004010

004016
004022
004024

004026

004032
004036
004036

004040
241 004042

004042
004042
004059
004056

004064

004072
004076
004100

004102

001403
005005

011394

104001
104400

012767
012767
012767

000031
012777

005777
001406
005005
017704
016703
104001

104400

012767
012767
012767

000032
012777

005777
001406
005005

017704

000340
004000
004040

000200

013766

013756
013752

000340
004000
004114

000400

013712

013702

174002
014054
014042

013772

173726
014000
013766

013716

BEQ
CLR

MoV

HLY
EMT

2¢: SCOPE

REGTS2 +/CHARACTER AVAILABLE/,BITOQ7

2%
RS

(R3),R4

SEQ 38

;(RS)=EXPECTED DATA 1IN
;SYSTEM CONTROL REGISTER, O
;(R4)=ACTUAL DATA IN
:SYSTEM CONTROL REGISTER
;SYSTEM CONTROL REGISTER

;WRITE/READ ERROR
;CHECK FOR ITERATIONS, LOOP

;SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
sVERIFY THAT CHARACTER AVAILABLE IS READ ONLY IN NORMAL MODE

TS \XN,4000,1$

T30: MOV
HOV
MoV

JIFNB o

MOV
.ENDC
XN=XN+1

MoV

TST
BEQ
CLR

HOV

MOV
HLT
EMT

14: SCOPE
REGTSZ t/CLEAR

;SYSTEM
; VERIFY

TS \XN,4000,1$
T31: MOV
MOV
MOV
IF NB o

MOV
.ENDC
XN=XN+1

MOV

TST
BEQ
CLR

MoV

#340,PS
4000, ICOUNT
@14 ,ESCAFE

¢,FREEZ1
#8IT07,3DHSCR

80HSCR

14

RS
80HSCR,R4
DHSCR,R3
1

1

;0ISABLE ALL INTERRUPTS
;SET UP FOR 4000 ITERATIONS
:SET UP TO ESCAPE TO NEXT TEST

:SET UP TO LOOP WITH DATA i 3

;ATTEMPT TO WRITE

;CHARACTER AVAILABLE IN
:SYSTEM CONTROL REGISTER
;WAS CHARACTER AVAILABLE SET

; (R5)=EXPECTED DATA

:IN SYSTEM CONTROL REGISTER, 0

; (R4)=ACTUAL DATA IN SYSTEM
;CONTROL REGISTER

;ADDRESS OF SYSTEM CONTROL REGISTER
;SYSTEM CONTROL REGISTER

;WRITE/READ ERROR

NON EXISTANT MEMORY/,BITO08
CONTROL REGISTER WRITE/READ TEST (NORMAL MOQDE)

THAT CLEAR

#340,PS
#4000, ICOUNT
#1¢ ,ESCAPE

#,FREEZL

¢8IT08,90HSCR

SOHSCR
14
RS

S0HSCR,R4

NON EXISTANT MEMORY IS READ ONLY IN NORMAL MODE

;:DISABLE ALL INTERRUPTS
;SET UP FOR 4000 ITERATIONS
;SET UP TO ESCAPE TO NEXT TEST

;SET UP TO LOOP WITH DATA i 3

sATTEMPT TO WRITE

;CLEAR NON EXISTANT MEMORY IN

sSYSTEM CONTROL REGISTER

;WAS CLEAR NON EXISTANT MEMORY SET

; (RS)=EXPECTED DATA
;IN SYSTEM CONTROL REGISTER, O
;:CR4)=ACTUAL DATA IN SYSTEM




SEQ 39
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004106
004112
004112

004114
242 004116

004116
004116
004124
004132

004140

004146
0C4152
00454

00415¢

004162
004166
004166

004170
243 0C4172

004172
004172
004200
004206

004214

004222
004226
004230

004232

004236
004242

016703
04001
104400

012767
0127867
012767

000033
012777

005777
001406
005005
017704
016703
104901

104400

012767
012767
012767

000034
012777

005777
001406
005005
017704

016703

013676

000340

004000

004170

002000

013636

013626
013622

000340

004000

004244

004000

013562

0135:
013546

173652
013724
013712

013642

173576
013650
013636

013566

1s:
REGTS2

;CONTROL REGISTER
MOV DHSCR,R3 ;ADDRESS OF SYSTEM CONTROL REGISTER
1

HLT :SYSTEM CONTROL REGISTEK
EMT b

;WRITE/READ ERROR
SCOPE

t/NON EXISTANT MEMORY/.BIT10

;SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
;VERIFY THAT NON EXISTANT MEMORY IS READ ONLY IN NORMAL MODE

TS \XN,4000,1%

T32:

.IF N8

.ENDC
XN=XN+1

1s:
REGTS2

TS \XN,4000,1¢
MoV

T33:

.IF N8

.ENGC
XN=XNe+1

MoV #340,PS :DISABLE ALL INTERRUPTS

MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS

MoV #1$,ESCAPE :SET UP TO ESCAPE TO MEXT TEST

<>

MoV 4,FREEZ1 ;SET UP TO LOOP WITH DATA : 3
MoV #81T710,3DHSCR ;PTTEMPT TO WRITE

sNON EXISTANT MEMORY IN
:SYSTEM CONTROL REGISTER

TST 80HSCR iHAS NON EXISTANT MEMORY SET

8EQ 1s

CLR RS :CRS)=EXPECTED DATA
:IN SYSTEM CONTROL REGISTER, 0

MoV 80HSCR,R4 :(R4)=ACTUAL DATA IN SYSTEM
;CONTROL REGISTER

MoV DHSCR,R3 ;ADDRESS OF SYSTEM CONTROL REGISTER

HLT 1 sSYSTEM CONTROL REGISTER

EMT 1

;WRITE/READ ERROR
SCOPE
t/MASTER CLEAR/,BIT11
;SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
sVERIFY THAT MASTER CLEAR IS READ ONLY IN NORMAL MODE

#340,PS ;:DISABLE ALL INTERRUPTS

MoV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS

MoV #14 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST

<>

MoV ¢,FREEZL sSET UP TO LOOP WITH DATA i 3
MoV #8IT11,80HSCR sATTEMPT TO MRITE

:MASTER CLEAR IN
1SYSTEM CONTROL REGISTER

TST SOHSCR 1WAS MASTER CLEAR SET

8EQ 13

CLR RS 1(RS)=EXPECTED DATA
:IN SYSTEM CONTROL REGISTER, O

MOV S0OHSCR R4 1(R4)=ACTUAL DATA IN SYSTEM
;CONTROL REGISTER

MOy DHSCR,R3 sADDRESS OF SYSTEM CONTROL REGISTER

HLT 1 1SYSTEM CONTROL REGISTER
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004242

004244
244 004246

104001
104400

004246
004246
004254
004262

000340
004000
004320

012767
012767
012767

000035

004270 012777 040000

004276
004302
004304

0C4306
0C4312
004316
004316

004320
245 004322

005777
001406
005005
017704
016703
104001

104400

013506

013476
013472

004322
004322
004330
004336

000340
004000
004450

012767
012767
012767

000035
016703
012713
052713
022713

001404
012705

013440
001000
000200
001200

004344
004350
004354
004779

(04364

004366 001200

SEQ 40
12:46:01 PAGE 17-18

EMT 1
sWRITE/READ ERROR
1s: SCOPE
REGTS2 */SILO OVERFLOW/,BIT14

1SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
{VERIFY THAT SILO OVERFLOW IS READ ONLY IN NORMAL MODE

TS \XN,4000,1¢$

173522 T34: MOV #340,PS ;DISABLE ALL INTERRUPTS
013574 MOV 04000, ICOUNT ;SET UP FOR 4000 ITERATIONS
013562 IF e MOV 213 ,ESCAPE sSET UP TO ESCAPE TO NEXT TEST
. <>
MOV o,FREEZ1 ;SET UP TO LOO”? WITH DATA ; 3
.ENDC
XN=XN+1
013512 MOV #81T714,80HSCR sATTEMPT TO WRITE
sSILO OVERFLOW IN
sSYSTEM CONTROL REGISTER
ST 8DHSCR ;WAS SILO OVERFLOW SET
BEQ 13
CLR RS ;(RS)=EXPECTED DATA
;IN SYSTEM CONTROL REGISTER., ©
MOV 8DHSCR R4 ;(R4)=ACTUAL DATA IN SYSTEM
;CONTROL REGISTER
MOV DHSCR,R3 ;sADDRESS OF SYSTEM CONTROL REGISTER
HL; 1 ;SYSTEM CONTROL REGISTER
EM 1
;WRITE/READ ERROR
13: SCOPE
REGTS3 +/CHARACTER AVAILABLE/.BITO7
;SYSTEM CONTROL REGISTER WRITE/READ TEST (MAINTENANCE MODE)
;SET MAINTENANCE MODE
;SET CHARACTER AVAILABLE IN SYSTEM CONTROL REGISTER
;VERIFY THAT CHARACTER AVAILABLE WAS SET
;CLEAR MAINTENANCE MODE
sVERIFY THAT CHARACTER AVAILABLE CANNOT BE CLEARED
;SET MAINTENANCE MODE
;CLEAR CHARACTER AVAILABLE
;VERIFY THAT CHARACTER AVAILABLE WAS CLEARED
TS “XN,4000,3s
173446 T35: MoV 9340,PS ;DISABLE ALL INTERRUPTS
013520 MOV ©4000, ICOUNT ;:SET UP FOR 4000 ITERATIONS
013506 MoV 033 ,ESCAPE ;:SET UP TO ESCAPE TO NEXT TEST
IF N8B o
MOV ¢,FREEZL sSET UP TO LOOP WITH DATA : 3
.ENDC
XN=XN+1
MOV DHSCR,R3 ;PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
MOV BIT09,(R3) ;SET MAINTENANCE MODE
BIS eBIT07,(R3) :SET CHARACTER AVAILABLE
cMP #81T709.8IT07,(R3) ;VERIFY THAT CHARACTER AVAILABLE
;AND MAINTENANCE MODE ARE SET
BEQ 1
MOV #81T09.BITO7,R5 ;(R5)=EXPECTED DATA

;IN SYSTEM CONTROL REGISTER
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246

00437¢

004374
004374

004376
004402
004406
004412
004414

004420
004420

004422
004426
004432

004436
004440

0C4444

004446
004446

004450
004452

004452
004452
004460
004466

004474
004500
004504
004510

004514
004516

011304

104001

042713
042713
022713
001403
012705

104001

052713
042713
022713

001404
012705

011304

104001
104400

012767
012767
012767

000037
016703
012713
052713
022713

001404
012705

001000
000200
000200

00020¢C

001000
000200
001000

001000

000340
004000
004600

013310
001000
002000
003000

003000

173316
013370
013356

{MAINTENANCE MODE AND CHARACTER AVAILABLE

MOV (R3),R4 ;(R4)=ACTUAL DATA IN

;SYSTEM CONTROL REGISTER
gL} i ;SYSTEM CONTROL REGISTER
M

;sWRITE/READ ERROR

1s: 8IC #BIT09,(R3) :C.EAR MAINTENANCE MODE
8IC MIT07,(R3) {ATTEMPT TO CLEAR CHARACTER AVAILABLE
gg: ;eITO7.(R3) sCHARACTER AVAILABLE SHOWD BE SET

MOV BITO07,RS :(R5)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER
;CHARACTER AVAILABLE

HLT 1 ;SYSTEM CONTROL REGISTER

EMT 1
sWRITE/READ ERROR
24: 8IS IT09,(R3) ;SET MAINTENANCE MODE
8IC IT07,(R3) :CLEAR CHARACTER AVAILABLE
cHP #BIT09,(R3) sEXPECT ONLY MAINTENANCE
;MODE TO BE SET
8EQ 3

MOV 48IT09,R5 ;(R5)=EXPECTED DATA IN
sSYSTEM CONTROL REGISTER,

;MAINTENANCE MODE BIT

MoV (R3),R4 ;(R4)=ACTUAL DATA IN
:SYSTEM CONTR(L REGISTER
HLT 1 sSYSTEM CONTROL REGISTER
EMT 1
;WRITE/READ ERROR
3%: SCOPE ;CHECK FOR ITERATIONS, LOOP

REGTS3 t/NON EXISTANT MEMORY/,BIT10
;SYSTEM CONTROL REGISTER WRITE/READ TEST (MAINTENANCE MODE)
:SET MAINTENANCE MODE
;SET NON EXISTANT MEMORY IN SYSTEM CONTROL REGISTER
;VERIFY THAT NON EXISTANT MEMORY WAS SET
;CLEAR MAINTENANCE MODE
;VERIFY THAT NON EXISTANT MEMORY CANNOT BE CLEARED
:SET MAINTENANCE MODE
;CLEAR NON EXISTANT MEMORY
sVERIFY THAT NON EXISTANT MEMORY 4AS CLCARFD

TS \XN,4000,3$
T36: MOV 4340,PS
MoV 94000, JCOUNT

;:0ISABLE ALL IN)ERRUPTS
:SET UP FOR 4000 I I RATIONS

MOV 438 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
JOFNB o
MOV &,FREEZL ;SET UP TO LOOP MWITH DATA : 3
.ENDC
XN=XN+1
MOV DHSCR,R3 ;PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3

MoV #81IT09,(R3) $SET MAINTENARTE MODE
8IS #81710,(R3) sSET NON EXISTANT MEMORY
cHp #81T09+8IT10,(R3) sVERIFY THAT NON EXISTANT MEMORY
:AND MAINTENANCE MODE ARE SET
BEQ 1s
MoV eBIT09+8IT10,RS ;(RS)=EXPECTED DATA
sIN SYSTEM CONTROL REGISTER
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(R3).R4

1
1

981709, (R3)
4B8IT10,(R3)
4BIT10,(R3)
23
#81T10,RS

1

1
481IT09,(R3)
8IT10,(R3)
48IT09,(R3)
3
#8IT09.RS
(R3).R4

1
1

t/SILO OVERFLOW/,BIT14

SEQ 42

;MAINTENANCE MODE AND NON EXISTANT MEMORY
;(R4)=ACTUAL GATA IN

sSYSTEM CONTROL REGISTER

sSYSTEM CONTROL REGISTER

;WRITE/READ ERROR

;CLEAR MAINTENANCE MQDE

;ATTEMPT TO CLEAR NON EXISTANT MEMORY
;NON EXISTANT MEMORY SHOULD BE SET

;(RS)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER
:NON EXISTANT MEMORY
;SYSTEM CONTROL REGISTER

sWRITE/READ ERROR

:SET MAINTENANCE MODE
;CLEAR NON EXISTANT MEMORY
sEXPECT ONLY MAINTENANCE
;MODE TO BE SET

;(R5)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER,
tMAINTENANCE MODE BIT
:(R4)=ACTUAL DATA IN
:SYSTEM CONTROL REGISTER
;SYSTEM CONTROL REGISTER

;WRITC/READ ERROR
;CHECK FOR ITERATIONS, LOOP

;SYSTEM CONTROL REGISTER WRITE/READ TEST (MAINTENANCE MOOE)
:SET MAINTENANCE MODE
;SET SILO OVERFLOW IN SYSTEM CONTROL REGISTER
;VERIFY THAT SILO OVERFLOW WAS SET

:CLEAR MAINTENANCE MODE
sVERIFY THAT SILO OVERFLOW CANNOT BE CLEARED
;SCT MAINTENANCE MODE
:CLEAR SILO OVERFLOW
;VERIFY THAT SILO OVERFLOW WAS CLEARED

004522 011304 MOV
004524 HLT
004524 104001 EMT
004526 042713 001000 1s: 8IC
004532 042713 002000 8I1C
004536 022713 002000 CHP
004542 001403 BEQ
004544 012705 002000 MOV
004550 HLT
004550 104001 EMT
004552 052713 001000 2%: 8IS
004556 042713 002000 8IC
004562 022713 001000 cHp
00456€ 001404 BEQ
004570 012705 001000 HOov
0C4574 011304 MOV
004576 HLT
004576 104001 EMT
0046G0 104400 3s: SCOPE
247 004602 REGTS3
004602 TS \XN,4000,3$
004602 012767 000340 173166 T137: MOV
004610 012767 004000 013240 MOV
004616 012767 004730 013226 MOV
.IJF NB <>
MOV
.ENDC
000040 XN=XN+1
004624 016703 013160 MOV
004630 012713 001000 MOV
004634 052713 040000 8IS
004640 022713 041000 cMpP
004644 001404 8eqQ
004646 012705 041000 MOV

9340,PS
#4000, ICOUNT
933 ,ESCAPE

#,FREEZ1

DHSCR,R3
#B81I709,(R3)
8IT14,(R3)
#BIT09+8IT14,(R3)

13

;DISABLE ALL INTERRUPTS
:SET UP FOR 4000 ITERATIONS
sSET UP TO ESCAPE TO NEXT TEST

:SET UP TO LOOP WITH DATA : 3

;PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
:SET MAINTENANCE MODE

:SET SILO OVERFLOMW

;VERIFY THAT SILO OVERFLOW

$AND MAINTENANCE MODE ARE SET

#B8IT09+BIT14,RS ;(RS)=EXPECTED DATA

:IN SYSTEM CONTROL REGISTER
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249
250
251
252
254
255
256
257
258
259
260
261
262
263
264
2565
266

004652

004654
004654

004656
004662
004666

004672
004674

004700
004700
004702
004706
004712
004716
004720
0Ca724

004726
004726

004730

004732

004732

011304

104001

042713
042713
022713
001403
012705

104001

052713
042713
022713

001404
12705

011304

104001

104400
000000
000020
000001
000000
000017

001000
040000
040000

040000

001000
040000
001000

001000

1¢:

2%:

3s:

MOV

HLT
EMT

BIC
BIC
.MP
8CQ
MOV

HLT
EMT
8IS
BIC
cHp
BEQ
MoV
MoV

HLT
EMT

SCOPE

XBIT=BITX
CBIT=BITC

BITX=1
BITC=0
.REPT

REGTS6
IF EQ
.NLIST

15,

(R3),R4

1
1

981IT09,(R3)
981T14,(R3)
8IT14,(R3)
2y

981714 ,RS

1

1
¢8IT09,(R3)
#81IT14,(R3)
#81T709,(R3)
38
#8IT09.RS5
(R3).R4

1
1

SEQ 43

:MAINTENANCE MODE AND SILO OVERFLOW
: (R4)=ACTUAL DATA IN

;SYSTEM CONTROL REGISTER

:SYSTEM CONTROL REGISTER

iWRITE/READ ERROR

;CLEAR MAINTENANCE MODE
;ATTEMPT TO CLEAR SILO OVERFLOW
;SILO OVERFLOW SHOULD BE SET

:(RS5)=EXPECTED DATA IN
:SYSTEM CONTROL REGISTER
+SILO OVERFLOW

$SYSTEM CONTROL REGISTER

;WRITE/READ ERROR

;SET MAINTENANCE MODE
;CLEAR SILO OVERFLOW
sEXPECT ONLY MAINTENANCE
;MODE TO BE SET

1 (R5)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER,
;MAINTENANCE MODE BIT
:(R4)=ACTUAL DATA IN
:SYSTEM CONTROL REGISTER
:SYSTEM CONTROL REGISTER

sWRITE/READ ERROR
;CHECK FOR ITERATIONS, LOOP

t/DHLPR/ ,\BITX,t/LINE PARAMETER/ ,\BITC

8ITx-4
BITX=BITX+BITX

BITC=BITC+1

LLIST
.ENDC
.NLIST

BITX=BITX+BITX

BITC=BITC+1

.LIST
.ENDR
REGTS6

TS \XN,4000,2%

004732 012767 000340 173036 T40:

t/DHLPR/ ,\BITX, t/LINE PARAMETER/,\BITC

;LINE PARAMETER REGISTER DATA TEST
;SET BIT O IN LINE PARAMETER T0O 1

sVERIFY THAT BIT O WAS SET

;CLEAR BIT 0O

;VERIFY THAT BIT O WAS CLEARED

MOV

#340,PS

:DISABLE ALL INTERRUPTS
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004740 012767 004000 013110 MOV 44000, ICOUNT ;SET UP FOR 4000 ITERATIONS
004746 012767 005020 013076 IF N8 MOV 924 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV 9,FREEZL ;SET UP TO LOOP WITH DATA ;0 3
000041 XN=XN+1
004754 012777 004000 013026 MOV 98IT11,8DHSCR ;MASTER CLEAR INTERFACE
004762 016703 013026 MOV DHLPR,R3 ;SET UP POINTER TO LINE PARAMETER
004766 012705 000001 MOV #1.R5 ;BIT O WILL BE SET IN LINE PARAMETER
004772 010513 MOV RS,(R3) ;SET BIT O
004774 011304 MOV (R3),R4 ;GET CONTENTS OF LINE PARAMETER
.IIF NB <>, BIC #,R4 ;CLEAR UNWANTED BITS
004776 020504 CMP R5.R4 ;WAS BIT O SET
005000 001401 BEQ 1$
005002 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
005002 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
005004 040513 1$: B8IC RS,(R3) ;CLEAR BIT O
005006 011304 MOV (R3),R4 ;READ CONTENTS OF LINE PARAMETER
.IIF NB <>, BIC ®.R4 ;CLEAR UNWANTED BITS
005010 005704 ST R4 ;WAS BIT O CLEARED
005012 001402 BEQ 2$
005014 005005 CLR RS
005016 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
005016 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
005020 104400 2%: SCOPE
.IF EQ BITX-4
.NLIST
BITX=BITX+BITX
BITC=BITC+1
LIST
.ENDC
000002 BITX=BITX+BITX
000001 BITC=BITC+1
005022 REGTS6 t+/DHLPR/ ,\BITX,t/LINE PARAMETER/ ,\BITC
;LINE PARAMETER REGISTER DATA TEST
;:SET BIT 1 IN LINE PARAMETER TO 1
;VERIFY THAT BIT 1 WAS SET
;CLEAR BIT 1
;VERIFY THAT BIT 1 WAS CLEARED
005022 TS \XN,4000,2%
005022 012767 000340 172746 T41: MOV 0340,PS ;DISABLE ALL INTERRUPTS
005030 012767 004000 013020 MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
005036 012767 005110 013006 _— MOV 024 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
I <>
MOV 9,FREEZ1 ;SET UP TO LOOP WITH DATA : 3
.ENDC
. 000042 XN=XN+1
005044 012777 004000 012736 MOV #BIT11,80DHSCR +MASTER CLEAR INTERFACE
005052 016703 012736 MOV OHLPR,R3 ;SET UP POINTER TO LINE PARAMETER
005056 012705 000002 MOV #2.RS ;8IT 1 WILL BE SET IN LINE PARAMETER
005062 010513 MOV R5,(R3) ;SET BIT 1

SEQ 44
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SEQ 45

005064 011304 MOV (R3).R4 ;GET CONTENTS OF LINE PARAMETER
.IIF NB <>, BIC 2.R4 ;:CLEAR UNWANTED BITS
005066 020504 CMP RS.R4 ;WAS BIT 1 SET
gggg;o 001401 ITF 1o BEQ 13
2 . N <DHLPR>, <DHLPR>, HLT 2 ;:LINE PARA
STER ERROR METER REGI
005072 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 :LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;sLINE PARAMETER REGI
STER ERROR
005074 040513 1¢: 8IC RS5,(R3) ;CLEAR BIT 1
005076 011304 MOV (R3).R4 ;READ CONTENTS OF LINE PARAMETER
JIIF NB <, BIC #,R4 ;:CLEAR UNWANTED BITS
005100 005704 ST R4 ;WAS BIT 1 CLEARED
005102 001402 BEQ 2%
005104 005005 CLR RS
005106 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;sLINE PARAMETER REGI
STER ERROR
005106 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 :LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
005110 104400 2% : SCOPE
.IF EQ BITX-4
.NLIST
BITX=BITX+BITX
BITC=BITC+1
LIST
.ENDC
000004 BITX=BITX+BITX
000002 BITC=BITC.1
005112 REGTS6 t/DHLPR/,\BITX,t/LINE PARAMETER/,\BITC
;LINE PARAMETER REGISTER DATA TEST
:SET BIT 2 IN LINE PARAMETER TO 1
;VERIFY THAT BIT 2 WAS SET
;CLEAR BIT 2
;VERIFY THAT BIT 2 WAS CLEARED
005112 TS \XN,4000,2$
005112 012767 000340 172656 T42: MOV #340,PS ;DISABLE ALL INTERRUPTS
005120 012767 004000 012730 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS -
005126 012767 005200 012716 IF e MOV 02% . ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,FREEZ1 sSET UP TO LOOP WITH DATA H]
000043 XN=XNe«1
005134 012777 004000 012646 MOV #8IT11,8DHSCR ;MASTER CLEAR INTERFACE
005142 016703 012646 MOV DHLPR,R3 ;SET UP POINTER TO LINE PARAMETER
005146 012705 000004 MOV #4,RS ;B8IT 2 WILL DE SET IN LINE PARAMETER
005152 010513 MOV RS5,(R3) :SET BIT 2
005154 011304 MOV (R3).R4 ;GET CONTENTS OF LINE PARAMETER
IIF NB <>, 8IC #,R4 ;CLEAR UNWANTED BITS
005156 020504 CMP RS,R4 ;WAS BIT 2 SET
005160 001401 BEQ 13
005162 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ZRROR
005162 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;sLINE PARAMETER REGI
w-S1ER_ERROR
005164 040513 1s. 8IC RS, (R3) ;CLEAR BIT 2
005166 011304 MOV (R3),R4 ;READ CONTENTS OF LINE PARAMETER
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BIC 4,R4

R4

24

RS

<DHLPR>, <DHLPR>,

2
<DHLPR>, <DHBCR>,
<DHLPR>, <DHSSR>,

SEQ 46

;CLEAR UNWANTED BITS
;WAS BIT 2 CLEARED

HLT 2 ;LINE PARAMETER REGI
HLT 3 :LINE PARAMFTER REGI
HLT 4 ;LINE PARAMETER REGI

REGTS6 t/DHLPR/,\BITX,t/LINE PARAMETER/,\BITC

;:LINE PARAMETER REGISTER DATA TEST
:SET BIT 4 IN LINE PARAMETER TO 1

+VERIFY THAT BIT 4 WAS SET

;:CLEAR BIT 4

:VERIFY THAT BIT 4 WAS CLEARED

9340.F5
#4000, ICOUNT
428 ,ESCAPE

#,FREE21

®BIT11,80HSCR
DHLPR,R3

420,R5

R5,(R3)

(R3).R&

BIC &, R4
RS,R4

13

<DHLPR>, <DHLPR>,

2
<DHLPP> , «DHBCR>,
<DHLPR>, <Di SR>,

R5,(R3)

(R3).R4

8IC 4.R4

R4

24

RS

<OHLPR>, <DHLPR>,

2
<DHLPR>, <DHBCR>,
<DHLPR>, <DHSSR>,

;OISABLE ALL INTERRUPTS
;SET UP FOR 4000 ITERATIONS
;SET UP TO ELCAPE TO NEXT TEST

;:SET UP TO LOOP WITH DATA : 3

:MASTER CLEAR INTERFACE

;SET UP POINTER TO LINE PARAMETER
;BIT & MWILL BE SET IN LINE PARAMETER
;SET BIT 4

;GET CONTENTS OF LINE PARAMETER
sCLEAR UNMWANTED BITS

iWAS BIT & SET

T 2 ;LINE PARAMETER REGI
HLT 3 ;LINE PARAMETER REGI
HLT 4 ;:LINE PARAMETER REGI
;CLEAR BIT 4

;READ CONTENTS OF LINE PARAMETER
;:CLEAR UNWANTED BITS
;WAS BIT 4 CLEARED

HLT 2 ;LINE PARAMETER REGI
HLT 3 ;LINE PARAMETER REGI
HLT 4 ;LINE PARAMETER REGI

JOIF NB <>,
005170 005704 TST
005172 001402 BEQ
005174 005005 CLR
005176 .IIF IDN
STER ERROR
005176 104002 EMT
.IIF IDN
STER ERROR
.IIF IDN
STER ERROR
005200 104400 2%: SCOPE
.IF EQ BITX-4
000010 BITX=BITX+BITX
009003 BITC=BITC.1
.ENDC
000020 BITX=BITX+BITX
000004 BITC=BITC-1
005202
005202 TS \XN,4000,2¢
005202 012767 000340 172566 T43: MOv
005216 012767 004000 012640 MOV
005216 012767 005270 012626 MOV
JFNB o
MOV
.ENDC
000044 XN=XN+1
005224 012777 004000 012556 MOV
005232 016703 012556 MOV
005236 012705 000020 MOV
005242 010513 MOV
005244 011304 MOV
IIF NB <>,
005246 020504 CHP
005250 001401 BEQ
005252 .IIF IDN
STER ERROR
005252 104002 EMT
.IIF IDN
STER ERROR
.IIF IDN
STER ERROR
005254 040513 14: 8IC
005256 011304 MOV
JIIF NB <>,
005260 005704 TST
005262 001402 BEQ
005264 005005 CLR
005266 .IIF IDN
STER £RROR
005266 104002 EMT
.IIF IDN
STER ERROR
.IIF IDN
STER ERRUR
005270 104400 24: SCOPE
e e s s < B samns
NLIST

BITY>RITX:RTTX




-

SEQ 47
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005272

005272
005272
005300
005306

005314
005322
0C5326
005332
005334

005336
005340
005342
STER ERROR
005342

STER ERROR

STER ERROR
005344
005346

005350
005352
005354
005356
STER ERROR
005356

STER ERROR

STER ERROR
005360

005362

000040
000005

012767
012767
012767

000045
012777
016703
012705
010513
011304

020504
001401

104002

040513
011304

005704
001402
005005

104002

104400

000100
000006

000340
004000
005360

004000
012466
000040

172476
012550
012536

012466

8ITC=BITC.1

LIST

.ENDC

BITX=BITX+BITX

BITC=BITC+1

REGTS6 +/DHLPR/,\BITX,t/LINE PARAML ER/,\BITC

;LINE PARAMETER REGISTER DATA TEST
;SET BIT 5 IN LINE PARAMETER T0 1
:VERIFY THAT BIT 5 WAS SET

;CLEAR BIT 5

;VERIFY THAT BIT 5 WAS CLEARED

TS \XN,4000,2¢

T44: MOV 0340,PS ;DISABLE ALL INTERRUPTS
MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
IF N8 MOV 224 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
MOV ¢,FREEZ1 :SET UP TO LOOP WITH DATA ; 3
.ENDC
XN=XNe+1
MOV #81IT11,8DHSCR ;MASTER CLEAR INTERFACE
MOV DHLPR,R3 sSET UP POINTER TO LINE PARAMETER
MOV 240,RS ;BIT 5 WILL BE SET IN LINE PARAMETER
MOV RS,(R3) sSET BIT S
MOV (R3).R4 sGET CONTENTS OF LINE PARAMETER
.IIF NB <>, BIC o,.R4 ;CLEAR UNMANTED BITS
cMP RS,.R4 ;WAS BIT S SET
BEQ 14
.IIF IDN <DHLPR> , <DHLPR>, HT 2
EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HT 3
.IIF IDN <DHLPR>, <DHSSR»>, HT 4
1%: 8IC RS,(R3) 1CLEAR BIT S
MOV (R3).R4 :READ CONTENTS OF LINE PARAMETER
.IIF NB <, BIC O.R4 ;CLEAR UNMANTED BITS
157 R4 sWAS BIT S CLEARED
BEG 24
CLR RS
.IXF IDN <DHLPR>, <DHLPR>, HLT 2
EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3
.IIF IDN <DHLPR>, <DHSSR>, HT 4
2%: SCOPE
IF EQ BITX-4
NLIST
BITX=BITX+BITX
BITC=BITC+1
LIST
.ENDC
BITX=BITX+BITX
BITC=BITC+1

REGTS6 t/DHLPR/,\BITX,t/LINE PARAMETER/,\BITC

sLINE PARAMETER REGISTER DATA TEST
$sSET BIT 6 IN LINE PARAMETER TO 1
sVERIFY THAT BIT 6 WAS SET

;LINE PARAMETER REGI

;LINE PARAMETER REGI
:LINE PARAMETER REGI

:LINE PARAMETER REGI

:LINE PARAMETER REGI
;LINE PARAMETER REGI




CZDOHA-D MACRO V04.00 27-JUN-85 12:46:01 PAGE 17-26

;:CLEAR BIT 6
sVERIFY THAT BIT 6 WAS CLEARED

SEG 48

005362 TS \XN,4000,2%
005362 012767 000340 172406 T4S: MOV #340,PS ;0ISABLE ALL INTERRUPTS
005370 012767 004000 012460 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
005376 012767 005450 012446 ¢ MOV 24 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
JIF N8B O
ENDC MOV 4.FREEZ21 ;SET UP TO LOOP WITH DATA i 3
000046 XN=XN+1
005404 012777 004000 012376 MOV #B8IT11,80HSCR ;MASTER CLEAR INTERFACE
005412 016703 012376 MOV ODHLPR,R3 ;SET UP POINTER TO LINE PARAMETER
005416 012705 000100 MOV 9100,RS5 ;BIT 6 WILL BE SET IN LINE PARAMETER
005422 010513 MOV RS5,(R3) ;sSET BIT 6
005424 011304 MOV (R3).,R4 1GET CONTENTS OF LINE PARAMETER
JIIF NB <>, 8IC o.R4 ;CLEAR UNMANTED BITS
005426 020504 CMP R5,R4 sWAS BIT 6 SET
005430 001401 BEQ 1$
005432 .IIF IDN <DHLPR>, <DHLPR>, HT 2 ;LINE PARAMETER REGI
STER ERROR
005432 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HT 4 ;:LINE PARAMETER REGI
STER ERROR
005434 040513 1% BIC RS5,(R3) ;:CLEAR BIT 6
005436 011304 MoV (R3),R4 ;READ CONTENTS OF LINE PARAMETER
.IIF N8 <, 8IC o.R4 ;CLEAR UNMANTED BITS
005440 005704 187 R4 ;WAS BIT 6 CLEARED
005442 001402 BEQ 2%
005444 005005 CLR 1163
005446 .IIF IDN <DHLPR>, <DHLPR>, HT 2 ;LINE PARAMETER REGI
STER ERROR
005446 104002 EnY 2
.IIF ION <DHLPR>, <DHBCR>, HT 3 sLINE PARAMETER REGI
STER ERROR
.IIF ION <DHLPR»>, <DHSSR>, HT 4 ;LINE PARA*ETER REGI
STER ERROR
005450 104400 28: SCOPE
IF EQ BITX-4
-NLISY
BITX=BITX+BITX
BITC=BITC.1
LIST
.ENDC
000200 BITX=BITX+BITX
000007 BITC=BITC+1
005452 REGTS6 t+/DHLPR/,\BITX,t/LINE PARAMETER/,\BITC
;LINE PARAMETER REGISTER DATA TEST
;SET BIT 7 IN LINE PARAMETER TO 1
;VERIFY THAT BIT 7 WAS SEY
;CLEAR BIT 7
;VERIFY THAT BIT 7 WAS CLEARED
0CS4S TS \XN,4000,2¢
005452 012767 000340 172316 T46: MoV #340,PS 1DISABLE ALL INTERRUPTS
005460 012767 004000 012370 MoV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
005466 012767 005540 012356 MOV #24 ,ESCAPE 1SET UP TO ESCAPE TO NEXT TEST
IF NB ©
MOV 9,FREEZL 1SET UP TO LOOP WITH DATA i 3
5 .ENDC
JO—
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SEQ 49

000047 XN=XN+1
005474 012777 004000 012306 MOV 081T11,8DHSCR ;MASTER CLEAR INTERFACE
005502 016703 012306 MOV DHLPR,R3 ;SET UP POINTER TO LINE PARAMETER
005506 012705 000200 MOV #200,RS :BIT 7 WILL BE SET IN LINE PARAMETER
005512 010513 MOV RS.(R3) ;SET BIT 7
005514 011394 MOV (R3),R4 ;GET CONTENTS OF LINE PARAMETER
JITF NB <>, B8IC #.R4 ;CLEAR UNWANTED BITS
005516 020504 CMP RS.R4 ;WAS BIT 7 SET
005520 001401 BEQ 13
005522 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
005522 104002 ITF Io EMT 2 p
. N <DHLPR>, <DHBCR>, HLT 3 ;
STER ERROR LINE PARAMETER REGI
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
005524 040513 13: BIC RS,(R3) ;CLEAR BIT 7
005526 011304 MOV (R3),.R4 sREAD CONTENTS OF LINE PARAMETER
IIF NB <>, 8IC 2.R4 ;CLEAR UNWANTED 817S
005530 005704 18T R4 ;WAS BIT 7 CLEARED
005532 0014¢2 BEQ 2%
005534 005005 CLR RS
005536 .IIF IDN <DHLPR>, <DHLPR>, HT 2 ;LINE PARAMETER REGI
STER ERROR
005536 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HT 3 :LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HT 4 ;LINE PARAMETER REGI
STER ERROR
005540 104400 2%: SCOPE
IF EQ BITX-4
NLIST
BITX=BITX+BITX
BITC=BITC.1
LIST
.ENDC
000400 BITX=BITX+BITX
000010 BITC=BITC.1
005542 REGTSE t/0HLPR/ \BITX,t/LINE PARAMETER/ \BITC
;LINE PARAMETER REGISTER DATA TEST
;SET BIT 10 IN LINE PARAMETER TO 1
sVERIFY THAT BIT 10 MAS SET
;CLEAR BIT 10
;VERIFY THAT BIT 10 WAS CLEARED
005542 TS \XN,4000,24
005542 012767 000340 172226 T47: MOV 4340,PS ;DISABLE ALL INTERRUPTS
005550 012767 004000 012300 MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
005556 012767 005630 012266 - MOV 024 ,ESCAPE 1SET UP TQ ESCAPE TO NEXT TEST
LI <>
ENDC MOV #,FREEZL ;SET UP TO LOOP MITH DATA : 3
000050 XN=XN+1
005564 012777 004000 012216 MOV #B8IT11,80HSCR ;sMASTER CLEAR INTERFACE
005572 016703 012216 MOV DHLPR,R3 ;SET UP POINTER TO LINE PARAMETER
005576 012705 000400 MOV #400,RS5 ;8IT 10 MILL BE SET IN LINE PARAMETER
005602 010513 MOV RS,(R3) ;SET BIT 10
005604 011304 MOV (R3),R4 :GET CONTENTS OF LINE PARAMETER
IIF NB <>, BIC #,R4 sCLEAR UNWANTED BITS
005606 020504 cHp RS,R4 +WAS BIT 10 SET
005610 001401 BEQ 14
005612 .IIF IDN <OHLPR>, <DHLPR>, HLT 2 tLINE PARAMETER REGI
'w-S1ER-_ERROR
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SEQ S0

005612 104002 IIF 10 EMT 2
. IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAM
STER ERROR ETER RECI
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAM
STER ERROR ETER REGI
005614 040513 1%: BIC RS, (R3) ;CLEAR BIT 10
005616 011304 MOV {R3),R4 ;READ CONTENTS OF LINE PARAMETER
JIIF NB o, 31¢C 4.R4 ;CLEAR UNWANTED BITS
005620 005704 TST R4 :WAS BIT 10 CLEARED
005622 001402 BEQ 24
005624 005005 CLR RS
005626 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
005626 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 :LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
005630 104400 a2s: SCOPE
IF EQ BITX-4
.NLIST
BITX=BITX+BITX
BITC=BITC.1
LIST
.ENDC
001000 BITX=BITX+BITX
000011 BITC=BITC.1
005632 REGTS6 t/DHLPR/ ,\BITX,t/LINE PARAMETER/ ,\BITC

:LINE PARAMETER REGISTER DATA TEST
;SET BIT 11 IN LINE PARAMETER T0O 1
;VERIFY THAT BIT 11 WAS SET

;:CLEAR BIT 11

:VERIFY THAT BIT 11 WAS CLEARED

K e

005632 TS \XN,4000,24
005632 012767 000340 172136 TS0: OV #340,PS sOISABLE ALL INTERRUPTS
005640 012767 004000 012210 "oV 24000, ICOUNT ;SET UP FOR 4000 ITERATIONS
005646 012767 005720 012176 IF e MoV 924 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV 2,FREEZY ;SET UP TO LOOP WITH DATA : 3
000051 XN=XN+1
005654 012777 004000 012126 MOV &BIT11.,80HSCR +MASTER CLEAR INTERFACE
005662 016703 012126 MoV OHLPR,R3 :SET UP POINTER TO LINE PARAMETER
005666 012705 001000 MoV ¢1000,R5 :BIT 11 MWILL BE SET IN LINE PARAMETER
005672 010513 MoV R5,(R3) ;SET BIT 11
005674 011304 HOV (R3),R4 ;GET CONTENTS OF LINE PARAMETER
LIIF NB <>, 8IC ¢, R4 ;CLEAR UNMANTED BITS
005676 020504 CHP R5,R4 ;WAS BIT 11 SET
005700 001401 BEQ 13
005702 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 :LINE PARAMETER REGI
STER ERROR
005702 104002 ENT 2
.IIF IDN <DHLPR>, <DHBCR >, HLT 3 :LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 :LINE PARAMETER REGI
STER ERROR
005704 040513 1s: 8IC RS,(R3) ;CLEAR BIT 11
005706 011304 MOV (R3),R4 ;READ CONTENTS OF LINE PARAMETER
IIF NB <>, BIC 4,R4 ;CLEAR UNWANTED BITS
005710 005704 TST R4 ;WAS BIT 11 CLEARED
005712 001402 EEg g:
005716 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI

CTEFR ERROR
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SEQ 51

005716 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT ;LINE PARAMETER RECI
STER ERROR
.IIF IDN <CHLPR>, <DHSSR>, HLT ;LINE PARAMETER REGI
STER ERROR
005720 104400 2% : SCOPE
.IF EQ BITX 4
.NLIST
BITX=BITX+BITX
BITC=BITC.+1
LIST
.ENDC
002000 BITX=BITX+BITX
000012 BITC=BITC.1
005722 REGTS6 +/DHLPR/ ,\BITX,t/LINE PARAMETER/,\BITC
;LINE PARAMETER REGISTER DATA TEST
sSET BIT 12 IN LINE PARAMETER TO 1
sVERIFY THAT BIT 12 WAS SET
;CLEAR BIT 12
sVERIFY THAT BIT 12 WAS CLEARED
005722 TS \XN,4000,2% .
0CS5722 012767 000340 172046 TS1: MOV #340,PS ;OISABLE ALL INTERRUPTS
005730 012767 004000 012120 MOV 94000, ICOUNT ;SET UP FOR 4000 ITERATIONS
005736 012767 006010 012106 IF N8 MOV 924 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #.FREEZ1 ;SET UP TO LOOP WITH DATA : 3
000052 XN=XM+1
005744 012777 004000 012036 MOV #81T11,8DHSCR iMASTER CLEAR INTERFACE
005752 016703 012036 MoV DHLPR,R3 ;:SET UP POINTER TO LINE PARAMETER
005756 012705 002000 MOV #2000,R5 ;8IT 12 WILL BE SET IN LINE PARAMETER
005762 010513 MOV R5,(R3) ;SET BIT 12
005764 011304 MoV (R3),R4 ;:GET CONTENTS OF LINE PARAMETER
IIF NB <>, 8IC ?,R4 ;:CLEAR UNWANTED BITS
0n5766 020504 CHP RS,R4 ;WAS BIT 12 SET
005770 001401 BEQ 1%
005772 .IIF ION <DHLPR>, <DHLPR>, HLT 2 ;:LINE PARAMETER REGI
STER ERROR
005772 104002 EMT 2
.1IIF ION <DHLPR>, <DHBCR>, HLT 3 ;1 IME PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
005774 040513 1%: 8IC R5,(R3) ;CLEAR BIT 12
005776 011304 MOV (R3),R4 ;READ CONTENTS OF LINE PARAMETER
.IIF NB <>, 8IC &,R4 ;CLEAR UNWANTED BITS
006000 005704 LEL R4 ;WAS BIT 12 CLEARED
006002 001402 BEQ 24
006004 005005 CLR RS
006006 .IIF ION <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
006006 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 sLINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
006010 104400 2s: SCOPE
JIF EQ BITX-4
.NLIST
BITX=BITX+BITX
BITC=BITC.1
A_vhnl -

.ENDC
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SEQ 52

004000 BITX=BITX+BITX
000013 8ITC=8ITC.1
006012 REGTS6 t/DHLPR/ ,\BITX,t/LINE PARAMETER/,\BITC
;:LINE PARAMETER REGISTER DATA TEST
;SET BIT 13 IN LINE PARAMETER TO 1
;VERIFY THAT BIT 13 WAS SET
;CLEAR BIT 13
;VERIFY THAT BIT 13 WAS CLEARED
006012 TS \XN,4000,2$
006012 012767 000340 171756 T52: MOV #340,PS ;DISABLE ALL INTERRUPTS
006020 012767 004000 012030 MOV #4000, ICOUNT ;:SET UP FOR 4000 ITERATIONS
006026 012767 006100 012016 IF N8 MOV 2% ,ESCAPE ;SET UP TO ESCAPE TQ NEXT TEST
. <>
MOV ¢,FREEZ1 :SET UP TO LOOP WITH DATA i 3
.ENDC
000053 XN=XN+1
006034 012777 004000 011746 MOV #BIT11,8DHSCR ;MASTER CLEAR INTERFACE
006042 016703 011746 MOV DHLPR,R3 ;SET UP POINTER TO LINE PARAMETER
006046 012705 004000 MOV #4000,RS ;8IT 13 WILL BE SET IN LINE PARAMETER
006052 010513 MOV R5,(R3) ;SET BIT 13
006054 011304 MOV (R3),R4 :GET CONTENTS OF LINE PARAMETER
IIF NB <>, 8IC .R4 ;CLEAR UNWANTED BITS
006056 020504 cHp RS.R4 tWAS BIT 13 SET
006060 001401 8EQ 1$
006062 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
006062 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 sLINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HT 4 ;LINE PARAMETER REGI
STER ERROR
006064 040513 1%: 8I1C RS,(R3) :CLEAR BIT 13
006066 011304 MOV (R3),R4 sREAD CONTENTS OF LINE PARAMETER
IIF NB <>, 8IC e,R4 sCLEAR UNMWANTED BITS
006070 005704 757 R4 ;WAS BIT 13 CLEARED
006072 001492 BEG 2%
006074 005( )3 CLR RS
006076 .IIF IDN <DHLPR>, <DHLPR>, HT 2 ;:LINE PARAMETER REGI
STER ERROR
006076 104002 EMT 2
.IIF IDN <DMLPR >, <OMBCR>, HT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, MY 4 ;:LINE PARAMETER REGI
STER ERROR
006100 104400 2%: SCOPE
.IF EQ BITX-4
.NLIST
BITX=BITX+BITX
B8ITC-BITC.1
LIST
.ENDC
010000 BITA=BITY.«BITX
000014 B8ITC-BITC-1
005102 REGTS6 t/DMLPR/,\BITX,t/LINE PARAMETER/ ,\BITC

sLINE PARAMETER REGISTER DATA TEST
+SET BIT 14 IN LINE PARAMETER TO i

sVERIFY THAT B8IT 14 WAS SET

;CLEAR BIT 14

s VERIFY THAT BIT 14 WAS CLEARED
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l€EQ 53

006102 TS \XN,4000,2%
006102 012767 000340 171666 T153: MOV 0340,PS ;DISABLE ALL INTERRUPTS
006110 012767 004000 011740 MOV 04000, ICOUNT :SET UP FOR 4000 ITERATIONS
006116 012767 006170 011726 IF N MOV 023 ,ESCAPE $SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV 0,FREEZL :SE1 UP TO LOOP WITH DATA : 3
000054 XN=XN+1
006124 012777 004000 01165¢ MOV 9B8IT11,80HSCR sMASTER CLEAR INTERFACE
006132 016703 011656 MOV OHLPR,R3 +SET UP POINTER TO LINE PARAMETER
006136 012705 010000 MOV €10000,RS ;8IT 14 WILL BE SET IN LINE PARAMETER
006142 010513 MOV RS,(R3) ;SET BIT 14
006144 011304 MOV (R3),R4 ;GET CONTENTS OF LINE PARAMETER
IIF NB <>, 8IC ¢.R4 ;CLEAR UNWANTED BITS
006146 020504 CMP R5,R4 ;WAS BIT 14 SET
882122 001401 I IDNBEQ 1¢
1 . <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAM
STER ERROR I AMETER REGI
006152 104002 EMT e
.IIF IDN <DHLPR >, <DHBCR>, HLT 3 ;:LLINE PARAMETER REGY
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
0C6154 040513 1s: BIC RS,.(R3) ;CLEAR BIT 14
0C6156 011304 MOV (R3),R4 ;READ CONTENTS OF LINE PARAMETER
IIF NB <>, BIC 4.RA ;CLEAR UNWANTED BITS
006160 005704 TST R4 ;WAS BIT 14 CLEARED
006162 001402 BEQ 23
006164 005005 CLR RS
006166 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER RECI
STER ERROR
006166 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 sLINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
006170 104400 2%: SCOPE
JIF EQ BITX-4
NLIST
BITX=BITX.BITX
BITC=BITC.1
LIST
.ENDC
020000 BITX=BITX+BITX
000015 BITC=BITC.1
006172 REGTS6 t/DHLPR/ ,\BITX,t/LINE PARAMETER/ ,\BITC
;LINE PARAMETER REGISTER DATA TEST
sSET BIT 15 IN LINE PARAMETER TO 1
sVERIFY THAT BIT 15 WAS SET
;CLEAR BIT 15
sVERIFY THAT BIT 15 WAS CLEARED
006172 TS \XN,4000,2%
006172 012767 000340 171576 T54: MOV #340,PS ;DISABLE ALL INTERRUPTS
006200 012767 004000 011650 MOV #4000, ICOUNT $SET UP FOR 4000 ITERATIONS
006206 012767 006260 011636 ; MOV 824 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
IFNB O
MOV 8,FREEZ2Y ;SET UP TO LOOP WITH DATA ; 3
.ENDC
000055 XN=XN+1
006214 012777 004000 011566 MOV #B8IT11,8DHSCR sMASTER CLEAR INTERFACE
006222 016703 011566 MOV DHLPR,R3 :SET UP POINTER TO LINE PARAMETER
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STER ERROR

006226 012705 020000 MOV 420000,RS JRTT 15 WILL BE SET IN LINE PARAMETER
006232 010513 HOV RS, (R3) :SET BIT 15
006234 011304 HOV (R3),R4 ;GET CONTENTS OF LINE PARAMETER
IIF N8B <, 8IC #,R4 ;:CLEAR UNWANTED BITS
006236 020504 CcHP RS,R4 ;WAS BIT 15 SET
8gg§:g 001401 IIF 10 BEQ 1
2 . IDN <DHLPR>, <DHLPR>, HLT 2 ;
STER ERRON LINE PARAMETER REGI
006242 104002 1IF 10 EMT 20 oR
. N <DHLPR>, <DHBCR»>, HLT 3 ;LINE PARAM R
STER ERROR X LINE PARAMETER REGI
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ; P
STER ERROR LINE PARAMETER REGI
006244 040513 1s: BIC RS, (R3) ;CLEAR BIT 15
006246 011304 MOV (R3).R4 ;READ CONTENTS OF LINE PARAMETER
IIF NB <>, BIC o.R4 :CLEAR UNWANTED BITS
006250 005704 TST R4 ;WAS BIT 15 CLEARE"
006252 001402 BEQ 23
006254 005005 CLR RS
006256 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
006256 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
006260 104400 2%: SCOPE
IF EQ BITX-4
NLIST
BITX=BITX.BITX
BITC=BITC.1
.LIST
.ENDC
040000 BITX=BITX+BITX
000016 BITC=BITC.1
006262 REGTS6 t/DHLPR/ \BITX,t/LINE PARAMETER/ \BITC
;:LINE PARAMETER REGISTER DATA TEST
sSET BIT 16 IN LINE PARAMETER TO 1
sVERIFY THAT BIT 16 WAS SET
;CLEAR BIT 16
sVERIFY THAT BIT 16 MWAS CLEARED
006262 TS \XN.4000,2%
005262 012767 000340 171506 T155: MOV 0340,PS :DISABLE ALL INTERRUPTS
006270 012767 004000 011560 MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
006276 012767 006350 011546 —_— MOV 923 ,ESCAPE ;+SET UP TO ESCAPE TO NEXT TEST
I <>
MOV 9,.FREEZL :SET UP TO LOOP WITH DATA : 3
.ENDC
000056 XN=XN+1
0056304 012777 004000 011476 MOV #B8IT11,80HSCR :MASTER CLEAR INTERFACE
005312 016703 011476 MOV DHLPR,R3 :SET UP POINTER TO LINE PARAMETER
006316 012705 040000 MOV 940000,RS ;:BIT 16 WILL BE SET IN LINE PARAMETER
006322 010513 MOV R5,(R3) ;SET BIT 16
005324 011304 MOV (R3),R4 ;GET CONTENTS OF LINE PARAMETER
.IIF NB <>, BIC ¢.R4 ;CLEAR UNWANTED BITS
005326 020504 CcHP R5,R4 ;WAS BIT 16 SET
006330 001401 BEQ 1s
006332 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 :LINE PARAMETER REGI
STER ERROR
006332 104002 EMT 2
[ LIIF IDN <DHLPR>, <DHBCR>, HLT 3 :LINE PARAMFTER REGI
w-21ER_ERROR.
.IIF IDN <DHLPR>, <DHS5R>, HLT 4 :LINE PARAMETER REGI
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STER ERROR

006334 040513 1s: BIC RS5,(R3) ;CLEAR BIT 16
006336 011304 MOV (R3).R4 ;READ CONTENTS OF LINE PARAMETER
IIF NB <>, BIC 4.R4 ;CLEAR UNWANTED BITS
006340 005704 TST R4 ;:WAS BIT 16 CLEARED
006342 001402 BEQ 2%
886224 005005 IIF 10 CLR Rg
6346 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PA
STER ERROR INE PARAMETER REGI
006346 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PAPAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLY 4 ;LINE PARAMETER
STER ERROR ETER REGI
006350 104400 2%: SCOPE
.IF EQ BITX-4
.NLIST
BITX=BITX+BITX
BITC=BITC.1
LLIST
.ENDC
100000 BITX=BITX+BITX
000017 BITC=BITC.1
006352 REGTS6 t/DHLPR/ ,\BITX,t/LINE PARAMETER/,\BITC
;LINE PARAMETER REGISTER DATA TEST
;:SET BIT 17 IN LINE PARAMETER TO 1
:VERIFY THAT BIT 17 WAS SET
;sCLEAR B8IT 17
sVERIFY THAT BIT 17 WAS CLEARED
006352 TS \XN,4000,2%
006352 012767 000380 171416 T156: MOV 9340,PS ;DISABLE ALL INTERRUPTS
006360 012767 004000 011470 MOV 24000, ICOUNT sSET UP FOR 4000 ITERATIONS
006366 012767 006440 011456 IF N8 MOV 924 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV & ,FREEZL ;SET UP TO LOOP WITH DATA : 3
000057 XN=XN.1
006374 012777 004000 011406 MoV 9B8IT11,8DHSCR sMASTER CLEAR INTERFACE
006402 016703 011406 MoV DHLPR,R3 :SET UP POINTER TO LINE PARAMETER
006406 012705 100000 MOV #100000,R5 ;BIT 17 MWILL BE SET IN LINE PARAMETER
006412 010513 MOV RS5,(R3) ;SET 81T 17
006414 0113C4 MOV (R3).R4 sGET CONTENTS OF LINE PARAMETER
.IIF NB <>, BIC 2.R4 ;CLEAR UNWANTED BITS
005416 020504 CMP RS,R4 ;WAS BIT 17 SET
006420 001401 BEQ 13
006422 .IIF ION <D: LPR>, <DHLPR>, HT 2 ;LINE PARAMETER REGI
STER ERROR
006422 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.1IF IDN <DHLPR>, <DHSSR>, HLT 4 ;:LINE PARAMETER REGI
STER ERROR
000424 040513 1s: 8IC RS,(R3) ;CLEAR BIT 17
006426 011204 MOV (R3),R4 ;READ CONTENTS OF LINE PARAMETER
.IIF NB <>, 8IC £.R4 ;:CLEAR UNWANTED BITS
006430 005704 TST R4 ;:WAS BIT 17 CLEARED
005432 001402 8EQ 2%
006434 005005 CLR RS
006436 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
006436 104002 EMT 2
- .IIF ION <DHLPR>, <DHBCR>, HLT 3 ;:LINE PARAMETER REGI
-2l ER_ERROR.
.IIF ION <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
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006440

268
269
270
271
273
274
275
276
277
278
279
006442

006442
006442
006450
006456

006464
006472
006476
006502
006504

006506
006510

TER ERROR
006512

TER ERROR
006512

TER ERROR
006514
006516

006520
006522
006524

TER EXRROR
006526

TER ERROR
006526

104400

000000
000020
000000
000020
000001
000000
000020

012767
012767
012767

000060
012777
016703
012705
010513
011304

020504
001401

104003
040513
011304
005704

001402
005005

104003

000340
004000
006530

004000
011326
000001

171326
011400
011366

011316

2% SCOPE
.IF EQ BITX-4
NLIST
BITX=BITX+BITX
BITC=BITC.1
LIST

.ENDC
BITX=BITX+BITX
BITC=BITC.1
XBIT=BITX
CBIT=BITC
BITX=1
BITC=0
.REPT
REGTS6
NLIST
BITX=BITX+BITX
BITC=BITC.+1
LIST
.ENDR
REGTS6

16.
t/0HBCR/ ,\BITX, t+/BREAK CONTROL/,\BITC

t/DHBCR/ ,\BITX, t/BREAK CONTROL/,\BITC

;:BREAK CONTROL REGISTER DATA TEST
;SET BIT O IN BREAK CONTROL "0 1
;VERIFY THAT BIT O WAS SET

;:CLEAR BIT O

;VERIFY THAT BIT O WAS CLEARED

TS \XN,4000,2%

157: MOV €340,PS ;DISABLE ALL INTERRUPTS
MOV #4000, ICOUNT ;:SET UP FOR 4000 ITERATIONS
IF e MOV #2$ ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
MOV &,FREEZL ;SET UP TO LOOP WITH DATA : 3
LENDC
XN=XN+1
MOV #BIT11,8DHSCR sMASTER CLEAR INTERFACE
MOV DHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
MOV #1.R5 ;BIT O WILL BE SET IN BREAK CONTROL
MOV RS.(R3) ;:SET BIT O
MOV (R3).R4 ;GET CONTENTS OF BREAK CONTROL
JIIF NB <>, BIC #.R4 ;CLEAR UNWANTED BITS
CcMP RS.R4 ;:WAS BIT O SET
BEQ 1s
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
.IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
14: BIC R5,(R3) ;CLEAR BIT O
MOV (R3),R4 ;READ CONTENTS OF BREAK CONTROL
.IIF NB <>, BIC 4,R4 ;:CLEAR UNWANTED BITS
18T R4 ;WAS BIT O CLEARED
BEQ 2%
CLR RS
.IIF IDN <DHBCR >, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
.IIF IDN <DHBCR >, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
EMT 3
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TER ERROR
006530

006532

006532
006532
006540
006546

006554
006562
0C6566
006572
006574

006576
006600

TER ERROR
006602

TER ERROR
006602

TER ERROR
006604
006606

006610
006612
006614

TER ERROR
006616

TER ERROR
006616

TER ERROR
006620

006622

006622
006622

SeEQ 57

;BREAK CONTROL REGIS

;BRERK CONTROL REGIS
;BREAK CONTROL REGIS

;BREAK CONTROL REGIS

;:BREAK CONTROL REGIS
:BREAK CONTROL REGIS

;:BREAK CONTROL REGIS

.IIF IDN <DHBCR>, <DHSSR>, HLT 4
104400 2%: SCOPE
000002 BITX=BITX+BITX
000001 BITC=BITC.1
REGTS6 t/DHBCR/,\BITX,t/BREAK CONTROL/,\BITC
;BREAK CONTROL REGISTER DATA TEST
;SET BIT 1 IN BREAK CONTROL TO 1
;VERIFY THAT BIT 1 WAS SET
;CLEAR BIT 1
;VERIFY THAT BIT 1 WAS CLEARED
TS \XN,4000,24
012767 000340 171236 T60: MOV ¢340,PS ;DISABLE ALL INTERRUPTS
012767 004000 011310 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
012767 006620 011276 IF N8 MOV 224 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
IF <>
ENDC MOV 4,FREE21 :SET UP TO LOOP WITH DATA
.EN
000061 XN=XNe+1
012777 004000 011226 MOV #B8IT11,aDHSCR ;MASTER CLEAR INTERFACE
016703 011236 MOV DHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
012705 000002 MOV #2.RS ;BIT 1 WILL BE SET IN BREAK CONTROL
010513 MOV RS,(R3) ;SET BIT 1
011304 MOV (R3),R4 ;GET CONTENTS OF BREAK CONTRAIL
LIIF NB <o, 8IC #.R4 ;CLEAR UNWANTED BITS
020504 CMP RS.R4 ;WAS BIT 1 SET
001401 BEQ 1
.IIF IDN <DHBCR>, <DHLPR>, HLT 2
.IIF IDN <DHBCR>, <DHBCR>, HLT 3
104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4
040513 1¢: BIC RS5,(R3) ;CLEAR BIT 1
011304 MOV (R32,R4 :READ CONTENTS OF BREAK CONTROL
IIF NB <>, BIC &,R4 ;CLEAR UNWANTED BITS
005704 TST P4 ;:WAS BIT 1 CLEARED
001402 BEQ 2%
005005 CLR RS
.IIF IDN <DHBCR>, <DHLPR>, HLT 2
.IIF IDN <DHBCR >, <DHBCR>, HLT 3
104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4
104400 2%: SCOPE
000004 BITX=BITX+BITX
000002 BITC=BITC+1
REGTS6 +/DHBCR/ ,\BITX,t/BREAK CONTROL/,\BITC
;BREAK CONTROL REGISTER DATA TEST
;SET BIT 2 IN BREAK CONTROL TO 1
;VERIFY THAT BIT 2 WAS SET
;CLEAR BIT 2
;VERIFY THAT BIT 2 WAS CLEARED
TS \XN,4000,24
012767 000340 171146 Té61: MOV #340,PS ;:DISABLE ALL INTERRUPTS
006630 012767 004000 011220 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
v ST TOCSCRPETONEXT TEST

e O3 l03. 3262 306410
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TER ERROR

SEQ S8

JF N8B <o
ENDC MOV #,FREEZ1 ;SET UP TO LOOP WITH DATA : 3
000062 XN=XN+1
006644 012777 004000 011136 MOV #8IT11,8DHSCR ;MASTER CLEAR INTERFACE
006652 016703 011146 MOV OHBCR,R3 :SET UP POINTER TO BREAK CONTROL
006656 012705 000004 MOV #4 RS ;8IT 2 WILL BE SET IN BREAK CONTROL
006662 010513 MOV RS,(R3) ;SET BIT 2
006664 011304 MOV (R3),R4 ;GET CONTENTS OF BREAK CONTROL
.IIF NB <>, B8IC #,R4 ;:CLEAR UNWANTED BITS
006666 020504 CMP R5,R4 ;WAS BIT 2 SET
006670 001401 ITF IDNBEQ 1; BCR
. <DH >, <DHLPR>, HLT 2 ;BREAK CONTR R
TER ERROR BRE C OL REGIS
006672 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
006672 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR >, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
006674 040513 1¢: B8IC R5,(R3) ;CLEAR BIT 2
006676 011304 MOV (R3),R4 ;READ CONTENTS OF BREAK CONTROL
IIF NB <>, BIC 2,R4 ;:CLEAR UNWANTED BITS
006700 005704 TST R4 ;:WAS BIT 2 CLEARED
0C6702 001402 BEQ 23 -
006704 005005 CLR RS
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
006706 .IIF IDN <DHBCR >, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
006706 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
006710 104400 2%: SCOPE
000010 BITX=BITX+BITX
000003 BITC=BITC+1
006712 REGTS6 t/DHBCR/,.\BITX,t/BREAK CONTROL/,\BITC
;:BREAK CONTROL REGISTER DATA TEST
;:SET BIT 3 IN BREAK CONTROL TO 1
;VERIFY THAT BIT 3 WAS SET
;CLEAR BIT 3
;:VERIFY THAT BIT 3 WAS CLEARED
006712 TS \XN,4000,2%
006712 012767 000340 171056 Té2: MOV €340,PS ;DISABLE ALL INTERRUPTS
006720 012767 004000 011130 MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
006726 012767 007000 011116 IF N8 MOV #2% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,FREEZL ;SET UP TO LOOP WITH DATA ; 3
000063 XN=XN+1
006734 012777 004000 011046 MOV #BIT11,8DHSCR ;MASTER CLEAR INTERFACE
006742 016703 011056 MOV DHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
006746 012705 000010 MOV #10,RS ;BIT 3 WILL BE SET IN BREAK CONTROL
006752 010513 MOV RS,(R3) ;SET BIT 3
006754 011304 MOV (R3),R4 ;GET CONTENTS OF BREAK CONTROL
IIF NB <>, BIC #,R4 ;CLEAR UNWANTED BTTS
005756 020504 CMP R5,R4 ;WAS BIT 3 SET
006760 001401 BEQ 13
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
006762 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 :BREAK CONTROL REGIS
- TER ERROR
.IIF IDN <DHBCR>, <DHSSR>, HL1Y 4 ;BREAK CONTROL REGIS
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006764 040513 1s: BIC RS,(R3) ;:CLEAR BIT 3
006766 011304 MOV (R3),R4 ;READ CONTENTS OF BREAK CONTROL
.IIF NB <, BIC ¢,R4 ;CLEAR UNWANTED BITS
006770 005704 TST R4 ;WAS BIT 3 CLEARED
006772 001402 BEQ 2%
006774 (€05005 CLR RS
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
- ERRO306776 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
006776 104003 EMT 3
.IIF IDN <DHBCR> , <DHSSR>, HLT 4 sBREAK CONTROL REGIS
TER ERROR
007000 104400 2s: SCOPE
000020 BITX=BITX+BITX
000004 BITC=BITC+1
007002 REGTS6 +/DHBCR/,\BITX, t/BREAK CONTROL/,\BITC
;BREAK CONTROL REGISTER DATA TEST
;SET BIT 4 IN BREAK CONTROL TO i
;VERIFY THAT BIT 4 WAS SET
;CLEAR BIT 4
;VERIFY THAT BIT 4 WAS CLEARED
007002 TS \XN,4000,2$
007002 012767 000340 170766 T63: MOV #340,PS ;DISABLE ALL INTERRUPTS
007010 012767 004000 011040 MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
007015 012767 007070 011026 IF N8 MOV #2$ ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,FREEZL ;SET UP TO LOOP WITH DATA i 3
000064 XN=¥N+1
007024 012777 004000 010756 MOV #8IT11,80HSCR ;MASTER CLEAR INTERFACE
007032 016703 010766 oV DHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
007036 012705 000020 MOV #20,RS ;BIT 4 WILL BE SET IN BREAK CONTROL
007042 010513 MOV RS,(R3) ;SET BIT 4
007044 011304 MOV (R3),R4 ;GET CONTENTS OF BREAK CONTROL
JIIF NB <, BIC 2,R4 ;CLEAR UNWANTED BITS
007046 020504 cHp RS ,R4 ;WAS BIT 4 SET
007050 001401 BEQ 1
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
007052 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
007052 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
007054 040513 1s: BIC 295,(R3) ;CLEAR BIT 4
007056 011304 MOV v 3).R4 ;READ CONTENTS OF BREAK CONTROL
LIIF NB <>, BIC 2,R4 ;sCLEAR UNWANTED BITS
007060 005704 18T R4 sWAS BIT 4 CLEARED
007062 001402 BEQ 24
007064 005005 CLR RS
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
007066 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
007066 104003 EMT k]
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
007070 104400 2%: SCOPE
000040 BITX=BITX+BITX
000005 BITC=BITC+1
- 002022 - —CONTROC7<BITC

;BREAK CONTROL REGISTER DATA TEST
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;SET BIT S IN BREAK CONTROL TO 1
;VERIFY THAT BIT S WAS SET
;CLEAR BIT 5

;VERIFY THAT BIT S WAS CLEARED

SEQ 60

007072 TS \XN,4000,2$
007072 012767 000340 170676 T64: MOV #340.PS ;:0ISABLE ALL INTERRUPTS
007100 012767 004000 010750 MOV #4000, JCOUNT :SET UP FOR 4000 ITERATIONS
007106 012767 007160 010736 F N8 MOV #23 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,FREEZ1 ;SET UP TO LOOP WITH DATA i 3
000065 XN=XN+1
007114 012777 004000 010666 MOV #8IT11,80HSCR ;MASTER CLEAR INTERFACE
007122 016703 010676 MOV OHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
007126 012705 000040 MOV #40,RS ;:BIT S WILL BE SET IN BREAK CONTROL
007132 010513 MOV RS.(R3) ;SET BIT S5
007134 011304 MOV (R3).R4 ;GET CONTENTS OF BREAK CONTROL
.IIF NB <>, BIC ¢#,R4 ;CLEAR UNWANTED BITS
007136 020504 CMP RS,.R4 ;WAS BIT 5 SET
007140 0014C1 BEQ 13
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;:BREAK CONTROL REGIS
TER ERRNR
0C7142 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
007142 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;:BREAK CONTROL REGIS
TER ERROR
007144 040513 1s: BIC RS,(R3) ;CLEAR BIT S
007146 011304 MOV (R3),R4 ;READ CONTENTS OF BREAK CONTROL
.IIF NB o, BIC #,R4 ;:CLEAR UNWANTED BITS
007150 005704 TST R4 ;WAS BIT S CLEARED
007152 001402 BEQ 24
007154 005005 CLR RS
IIF IDN <DHBCR>, <DHLPR>, HLT 2 :BREAK CONTRQL REGIS
TER ERROR
007156 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
007156 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 :BREAK CONTROL REGIS
TER ERROR
007160 104400 2%; SCOPE
000100 BITX=BITX+BITX
000006 BITC=BITC.1
007162 REGTS6 */DHBCR/,\BITX,t/BREAX CONTROL/,\BITC
;BREAK CONTROL REGISTER DATA TEST
;SET BIT 6 IN BREAK CONTROL TO 1
;VERIFY THAT BIT 6 WAS SET
;CLEAR BIT 6
;VERIFY THAT BIT 6 WAS CLEARED
007162 TS \XN,4000,2%
007162 012767 000340 170606 T165: MOV #340,PS ;DISABLE ALL INTERRUPTS
007170 012767 004000 010660 MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
007176 012767 007250 010646 MOV 424 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
IF N8 o
MOV &,FREEZL ;SET UP TO LOOP WITH DATA i 3
.ENDC
000066 XN=XN+1
007204 012777 004000 010576 MOV #B1IT11,8DHSCR ;MASTER CLEAR INTERFACE
007212 016703 010606 MOV DHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
007216 012705 000100 MOV #100,R5 ;B8IT 6 WILL BE SET IN BREAK CONTROL
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SEQ 61

007222 010513 MOV RS5,(R3) ;:SET BIT 6
007224 011304 MOV (R3),R4 :GET CONTENTS OF BREAK CONTROL
.IIF NB <>, BIC #,R4 ;CLEAR UNWANTED BITS
007226 020504 CMP RS,R4 :WAS BIT 6 SET
007230 001401 - BEQ 18 R
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 :
TER ERROR BREAK CONTROL REGIS
007232 .IIF IDN <DHBCR >, <DHBCR>, HLT 3 :
TER ERROR BREAK CONTROL REGIS
007232 104003 EMT 3
.IIF ION <DHBCR>, <DHSSR>, HLT 4 :
TER ERROR BREAK CONTROL REGIS
007234 040513 18: BIC R5,(R3) ;CLEAR BIT 6
007236 011304 MOV (R3),R4 ;READ CONTENTS OF BREAK CONTROL
IIF NB <>, 8IC #,R4 ;CLEAR UNWANTED BITS
007240 005704 187 R4 ;WAS BIT & CLEARED
007242 001402 BEQ 24
007244 005005 CLR RS
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REG.S
TER ERROR
007246 .IIF IDN <DHBCR>, <DHBCR>, H.T 3 ;:BREAK CONTROL REGI:
TER ERROR
007246 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 :BREAK CONTROL REGIS
TER ERROR
007250 104400 2% : SCOPE
000200 BITX=BITX+BITX
000007 BITC=BITC-1
007252 REGTS6 t/DHBCR/ ., \BITX,t/BREAK CONTROL/,\BITC
;BREAK CONTROL REGISTER DATA TEST
;SET BIT 7 IN BREAK CONTROL TO 1
;VERIFY THAT BIT 7 WAS SET
:CLEAR BIT 7
sVERIFY THAT BIT 7 WAS CLEARED
007252 TS \XN,4000,2%
007252 012767 000340 170516 T66: MoV 9340,PS ;DISABLE ALL INTERRUPTS
007260 012767 004000 010570 MOV #4000, ICOUNT sSET UP FOR 4000 ITERATIONS
007266 012767 007340 010556 _— MOV #2% ,ESCAPE sSET UP TO ESCAPE TO NEXT TEST
. <>
MOV &,FREEZL ;SET UP TO LOOP WITH DATA i 3
.ENDC
000067 XN=XN+{
007274 012777 004000 010506 MOV #8IT11,80HSCR ;MASTER CLEAR INTERFACE
007302 016703 010516 MOV DHBCR,R3 :SET UP POINTER TO BREAK CONTROL
007306 012705 000200 MOV #200,RS :BIT 7 WILL BE SET IN BREAK CONTROL
007312 010513 MOV RS5,(R3) 1SET BIT 7
007314 011304 MOV (R3).R4 sGET CONTENTS OF BREAK CONTROL
LIIF N8B <o, BIC ¢.R4 ;CLEAR UNMWANTED BITS
007316 020504 cHp RS.R4 sWAS BIT 7 SET
007320 001401 BEQ 13
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
007322 .IIF IDN <DHBCR>, <DHBCR>, HLY 3 ;BREAK CONTROL REGIS
TER ERROR
007322 104003 EMT 3
.IIF IDN <DHBCR >, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
TER EXRROR
007324 040513 1%: BIC R5,(R3) ;CLEAR BIT 7
007326 011304 MOV (R3),R4 :READ CONTENTS OF BREAK CONTROL
.IIF NB <, BIC #.Ra ;CLEAR UNWANTED BITS
007330 005704 ST R4 ;WAS BIT 7 CLEARED
SEQ B
007334 005005 CLR RS
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
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<DHBCR>, <DHBCR >,

3
<DHBCR>, <DHSSR>,

#340,PS
44000, JCOUNT
24 ,ESCAPE

&,FREEZ21

48IT11,80HSCR
OHBCR,R3

4400 ,RS
R5,(R3)
(R3),R4

BIC %.R4
R5,R4

1
<DHBCR>, <DHLPR>,
<DHBCR>, <DHBCR>,

3
<DHBCR>, <DHSSR>,

RS,(R3)

(R3).R4

BIC &,R4

R4

2%

RS
<DHBCR >, <DHLPR>,

<DHBCR>, <DHBCR>,

3
<DHBCR>, <DHSSR»>,

SEQ 62

HLTY 3 ;BREAK CONTROL REGIS

HLTY 4 ;:BREAK CONTROL REGIS

t/DHBCR/ ,\BITX, t/BREAK CONTROL/,\BITC

;BREAK CONTROL REGISTER DATA TEST
;SET B8IT 10 IN BREAK CONTROL T0 1
;VERIFY THAT BIT 10 WAS SET

:CLEAR BIT 10
;VERIFY THAT BIT 10 WAS CLEARED

:DISABLE ALL INTERRUPTS
;:SET UP FOR 4000 ITERATIONS
;SET UP TO ESCAPE TO NEXT TEST

;SET UP TO LOOP WITH DATA i 3

;HASTER CLEAR INTERFACE

;SET UP POINTER TO SREAK CONTROL
:BIT 10 WILL BE SET IN BREAK CONTROL
iSET BIT 10

;GET CONTENTS OF BREAK CONTROL
;CLEAR UNMANTED BITS

:MAS BIT 10 SET

W 2 ;:BREAK CONTROL RECIS
HT 3 ;:BREAK CONTROL REGIS
HLT 4 ;BREAK CONTROL REGIS

:CLEAR BIT 10

;READ CONTENTS OF BREAX CONTROL
sCLEAR UNUWANTED BITS

;WAS BIT 10 CLEARED

HLT 2 ;BREAK CONTROL REGIS
HLT 3 :BREAK CONTROL REGIS
HT 4 .CRFAK CONTROL REGIS

+/DHBCR/ ,\BITX, t/BREAK CONTROL/,\BITC

sBREAK CONTROL REGISTER DATA TEST
;SET BIT 11 IN BREAK CONTROL TO 1
sVERIFY THAT BIT 11 WAS SET

;CLEAR BIT 11
sVERIFY THAT BIT 11 WAS CLEARED

007336 .IIF IDN
TER ERROR
007336 104003 EMT
.IIF IDN
TER ERROR
00734n 104400 2%: SCOPE
000400 BITX=BITX+BITX
000010 BITC=BITC.1
007342 REGTS6
007342 TS_\XN,4000,2
007342 012767 000340 170426 T67: MOV
007350 012767 004000 010500 MOV
007356 012767 007430 010466 MOV
IF N8 ©
MOV
.ENDC
000070 XN=XN+ 1
007364 012777 004000 010416 MOV
007372 016703 010426 HOV
007376 012705 000400 MOV
007402 010513 HOvV
007404 011304 MOV
IIF NB <>,
007406 020504 cHp
007410 001401 BEQ
.IIF ION
TER ERROR
007412 .IIF IDN
TER ERROR
007412 104003 EMT
.IIF IDN
TER ERROR
007414 040513 1s: BIC
007416 011304 MOV
IIF NB <>,
007420 005704 TSt
007422 001402 BEQ
007424 005005 CLR
IIF ION
TER ERROR
007426 .IIF IDN
TER ERROR
007426 104003 EMT
.IIF ION
TER ERROR
007430 104400 2%: SCOPE
001000 BITX=BITX+BITX
000011 BITC=BITC+1
007432 REGTS6
o — 002432 To—t i dO00rs-

007432 012767 000340 170336 T70: MOV

#340,PS

1DISABLE ALL INTERRUPTS




A
TER ERROR
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SEQ 63

007440 012767 004000 010410 MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
007446 012767 007520 010376 - MOV #24% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV &,FREEZ1 ;SET UP TO LOOP WITH DATA ;3
000071 XN=XN+1
007454 012777 004000 010326 MOV #8IT11,80HSCR ;MASTER CLEAR INTERFACE
007462 016703 010336 MOV DHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
007466 012705 001000 MOV #1000,RS ;8IT 11 WILL BE SET IN BREAK CONTROL
007472 010513 MOV RS,(R3) ;SET BIT 1t
007474 011304 MOV (R3).R4 ;GET CONTENTS OF BREAK CONTROL
.IIF NB <>, BIC #.R4 ;CLEAR UNWANTED BITS
007476 020504 CMP RS,R4 ;WAS BIT 11 SET
007500 001401 BEQ 1s
.IIF IDN <DHBCR>, <DriLPR>, MLT 2 ;BREAK CONTROL REGIS
TER ERROR
007502 .IIF IDN <DHBCR>, «DHBCR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
007502 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
007504 040513 18: BIC RS,(R3) ;CLEAR BIT 11
007506 011304 MOV (R3),R4 ;READ CONTENTS OF BREAK CONTROL
IIF NB <>, B8IC é.R4 ;CLEAR UNWANTED BITS
007510 005704 187 R4 sWAS BIT 11 CLERRED
007512 001402 BEQ 24
007514 005005 CLR RS
.IIF IDN <DOHBCR>, <DHLPR>, HLY 2 ;BREAK CONTROL REGIS
TER ERROR
007516 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
007516 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT ) ;sBREAK CONTROL REGIS
TER ERROR
007520 104400 2%: SCOPE
002000 BITX=BITX«BITX
(00012 BITC=BITC.1
007522 REGTS6 +/DHBCR/ A\BITX,t/BREAK CONTROL/ . \BITC
sBREAK CONTROL REGISTER DATA TEST
:SET BIT 12 IN BREAK CONTROL TO 1
;VERIFY THAT BIT 12 WAS SET
;CLEAR BIT 12
;VERIFY THAT BIT 12 WAS CLEARED
007522 TS \XN,4000,2¢
007522 012767 000340 170246 T171: MOV #340,PS ;DISABLE ALL INTERRUPTS
007530 012767 004000 010320 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
007536 012767 007610 010306 IF N8 MOV #24% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. T3S
MOV ¢,FREEZ1 :SET UP TO LOOP WITH DATA : 3
.ENDC
000072 XN=XN+1
007544 012777 004000 010236 MOV 4BIT11,30HSCR ;MASTER CLEAR INTERFACE
007552 016703 010246 MOV DHBCR,R3 :SET UP POINTER TO BREAK CONTROL
007556 012705 002000 MOV #2000,RS :8IT 12 WILL BE SET IN BREAK CONTROL
007562 010513 MOV RS.(R3) :SET BIT 12
007564 011304 MOV (R3),R4 :GET CONTENTS OF BREAX CONTROL
.IIF N8 <>, BIC #,.R4 ;:CLEAR UNWANTED BITS
007566 020504 cMP RS,R4 ;WAS BIT 12 SET
007570 001401 BEQ 13
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 :BREAK CONTROL REGIS
TER ERROR
D0I522 e 3 as SDHBERI -+ DHBER > "t S TBRERX CONTRUC REGIS
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SEQ 64

007572 104003 11 IDNEHT 30
. <DHBCR>, <DHSSR>, HLT 4 ; BREAK
TER ERROR EAK CONTROL REGIS
007574 040513 13: BIC R5,(R3) ;CLEAR BIT 12
007576 011304 MOV (R3),R4 ;READ CONTENTS OF BREAK CONTROL
.IIF NB <>, BIC #,R4 ;CLEAR UNWANTED BITS
007600 005704 TST R4 ;WAS BIT 12 CLEARED
007602 001402 BEQ 2
007604 005005 1T IDNCLR Rg R or
. <DHBCR>, <DHLPR>, HLT 2 sBREAK R
TER ERROR CONTROL REGIS
007606 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 -BREAK CONTROL R
TER ERROR ¢ L REGIS
007606 104003 EMT 3
.IIF IDN <DHBCR»>, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
007610 104400 2%: SCOPE
004000 BITX=BITX+BITX
000013 BITC=BITC+1
007612 REGTS6 t/DHBCR/ ,\BITX,t/BREAK CONTROL/,\BITC
sBREAK CONTROL REGISTER DATA TEST
sSET BIT 13 IN BREAK CONTROL TO 1
;VERIFY ThaT BIT 13 WAS SET
;CLEAR BIT i
:VERIFY THAT B8IT 13 WAS CLEARED
007612 TS \XN,4000,23
007612 012767 000340 170156 T72: MGV 4340,PS :DISABLE ALL INTERRUPTS
007620 012767 004000 010230 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
007626 012767 007700 010216 IF N MOV 028 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV o,FREEZ1 ;SET UP TO LOOP WITH DATA ; 3
000073 XN=XN+1
007634 012777 004000 0101436 MOV #81IT11,8DHSCR ;MASTER CLEAR INTERFACE
007642 0167G3 010156 MOV DHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
007646 012705 004000 MOV #4000,RS :B8IT 13 WILL BE SET IN BREAK CONTROL
007652 010513 MOV RS ,(R3) ;SET BIT 13
007654 011304 MOV (R3).R4 :GET CONTENTS OF BREAKX CONTROL
IIF NB <>, BIC o,R4 ;CLEAR UNWANTED BITS
007656 020504 cMP RS .R4 ;WAS BIT 13 SET
007660 001401 BEQ 13
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAX CONTROL REGIS
TER ERROR
007662 .IIF IDN <DHBCR >, <DHBCR>, HLT 3 ;BREAX CONTROL REGIS
TER ERROR
007662 104003 EMT 3
.IIF IDN <DHBCR >, <DHSSR>, HLT 4 ;:BREAK CONTROL REGIS
TER ERROR
007664 040513 13 BIC RS,(R3) :CLEAR BIT 13
007666 011304 MOV (R3),R4 tREAD CONTENTS OF BREAK CONTROL
IIF NB <o, BIC ?,.R4 ;CLEAR UNWANTED BITS
007670 005704 TST R4 +WAS BIT 13 CLEARED
007672 001402 BEQ 2t
007674 005005 CLR RS
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;:BREAK CONTROL REGIS
TER ERR(C?
007676 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
007676 104003 EMT 3
.IIF IDN <DHBCR >, <DHSSR >, HLT 4 ;:BREAK CONTROL REGIS
TER ERROR
—— e g G GORE
010C00 BITX=BITX+BITX
000014 ARTTIC=RTTIC.1
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SEQ 65

;:BREAK CONTROL REGISTER DATA TEST
;SET BIT 14 IN BREAK CONTROL TO 1

;VERIFY THAT BIT 14 WAS SET

;CLEAR BIT 14

;:VERIFY THAT BIT 14 WAS CLEARED

007702 TS \XN,4000,2¢
007702 012767 000340 170066 T173: MOV #340,PS ;DISABLE ALL INTERRUPTS
007710 012767 004000 010140 MOV 94000, ICOUNT :SET UP FOR 4000 ITERATIONS
007716 012767 007770 010126 IF NG MOV 924 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV ¢,FREEZ) sSET UP TO LOOP WITH DATA : 3
000074 XN=XN+1
007724 012777 004000 010056 MOV #BIT11,80HSCR +MASTER CLEAR INTERFACE
007732 016703 010066 MOV OHBCR,R3 ;SET UP POINTER TO BREA¥ CONTROL
007736 012705 010000 MOV #10000,RS ;BIT 14 WILL BE SET IN BREAK CONTROL
007742 010513 MOV RS,(R3) ;SET BIT 14
007744 011304 MOV (R3).RA ;GET CONTENTS OF BREAK CONTROL
.IIF NB <>, 8IC %,R4 ;CLEAR UNWANTED BITS
007746 020504 CcMp RS,.R4 ;WAS BIT 14 SET
007750 001401 BEQ 1
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
007752 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 :BREAX CONTROL REGIS
TER ERROR
007752 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAX CONTROL REGIS
TER ERROR
007754 040513 1s: BIC RS,(R3) :CLEAR BIT 14
007756 011304 MOV (R3).R4 ;READ CONTENTS OF BREAK CONTROL
IIF NB <>, 8IC 2.R4 ;CLEAR UNMANTED BITS
007760 005704 187 R4 :MAS BIT 14 CLEARED
007762 001402 BEQ 24
007764 005005 CLR RS
.IIF IDN <DHBCR>, <DHLPR>, MY 2 :BREAKX CONTROL REGIS
TER ERROR
007766 .IIF IDN <DHBCR >, <DHBCR>, HT 3 ;BREAX CONTROL REGIS
TER ERROR
007766 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLY 4 ;BREAK CONTROL REGIS
TER ERROR
007770 104400 2%: SCOPE
02000C BITX=BITX.BITX
000015 BITC=BITC.1
007772 REGTS6 t/DHBCR/,\BITX,*/BREAX CONTROL/,\BITC
+BREAK CONTROL REGISTER DATA TEST
$SET B8IT 1S IN BREAK CONTROL T0 1
;VERIFY THAT BIT 15 MWAS SET
;CLEAR BIT 15
;VERIFY THAT BIT 1S WAS CLEARED
007772 TS \XN,4000,2%
007772 012767 000340 167776 T74: Mov #340,.PS sDISABLE ALL INTERRUPTS
010000 012767 004000 010050 MoV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
010006 012767 010060 010036 - MoV 924 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
I <>
Mov ¢, FREEZL ;SET UP TO LOOP WITH DATA i 3
.ENDC
000075 XN=XN+1
E 010014 012777 004000 007766 MOV #81IT11,8DHSCR tHASTER CLEAR INTERFACE
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010022 016703 007776 MOV
010026 012775 020000 MOV
010032 010513 MoV
010034 011304 MoV
IIF NB o>,
010036 020504 CHP
010040 001401 BEQ
.IIF IDN
TER ERROR
010042 .I1IF IDN
TER ERROR
010042 104003 EMT
.IIF IDN
TER ERROR
010044 040513 1%: BIC
010046 011304 MOV
.IIF NB <>,
010050 005704 TST
010052 001402 BEQ
010054 005005 CLR
.IIF IDN
TER ERROR
010056 .IIF IDN
TER SRROR
010056 104003 EMT
.IIF IDN
TER ERROR
010060 104400 2%: SCOPE
040000 BITX=BITX.BITX
000016 BITC-BITC.1
010062

OHBCR,R3
420000,R5
R5,(R3)
(R3),R4

BIC ¢.R4

18
<DHBCR >, <DHLPR>,
<DHBCR>, <DHBCR>,

3
<DHBCR»>, <DHSSR>,

R5,(R3)

(R3),R4

BIC 4.R4

R4

23

RS

<DHBCR>, <DHLPR>,

<DHBCR>, <DHBCR>,

3
<DHBCR>, <DHSSR>,

SEQ 66

;:SET UP POINTER TO BREAK CONTROL
:BIT 15 WILL BE SET IN BREAK CONTROL
;SET BIT 15
;GET CONTENTS OF BREAK CONTROL
;:CLEAR UNWANTED BITS
;WAS BIT 15 SET

HLT 2 ;:BREAK CONTROL REGIS
HLT 3 sBREAK CONTROL REGIS
HMLT 4 :BREAK CONTROL REGIS

:CLEAR BIT 15

:READ CONTENTS OF PREAK CONTROL
;CLEAR UNWANTED BITS

;WAS BIT 15 CLEARED

HLT 2 .BREAK CONTROL REG.S
HLT 3 ;:BREAK CONTROL REGIS
HLT 4 ;BREAK CONTROL REGIS

REGTS6 t/DHBCR/ ,\BITX,t/BREAK CONTROL/,\BITC

;BREAK CONTROL REGISTER DATA TEST
;SET BIT 16 IN BREAK CONTROL 7O 1

sVERIFY THAT BIT 16 WAS SET

;:CLEAR BIT 16

;VERIFY THAT BIT 16 WAS CLEARED

010062 TS \XN,4000,2%
010062 012767 000340 167706 T75: MOV
010070 012767 004000 007760 MOV
010076 012767 0'0150 007746 MOV
JIFNB o
MOV
.ENDC
000076 AN=XN+1
010104 012777 004000 007676 MOV
010112 016703 007706 MOV
010116 012705 040000 MOV
010122 010513 MOV
010124 011304 MOV
IIF N8 <o,
010126 020504 cHp
010130 001401 BEQ
.IIF IDN
TER ERROR
010132 .IIF IDN
TER ERROR
010132 104003 EMT
.IIF IDN
TER ERROR
010134 040513 14: 8IC
010136 011304 MOV
—— vk ity
017140 005704 ST

010142 001402 8eQ

4340,PS
#4000, ICOUNT
#2$,ESCAPE

9,FREEZL

08IT11,80HSCR
DHBCR,R3
€40000,RS
RS,(R3)

(R3),R4

B8IC ¢,R4

RS .R4

13

<DHBCR>, <DHLPR>,

<DHBCR>, <DHBCR>,

3
<DHBCR>, <DHSSR>,

RS,(R3)
(R3),.R4

R4
24

;0ISABLE ALL INTERRUPTS
;SET UP FOR 4000 ITERATIONS
;SET UP TO ESCAPE TO NEXT TEST

;SET UP TO LOOP WITH DATA i 3

sMASTER CLEAR INTERFACE
:SET UP POINTER TO BREAK CONTROL
;BIT 16 WILL BE SET IN BREAK CONTROL
;SET BIT 16
;GET CONTENTS OF BREAK CONTROL
;CLEAR UNWANTED BITS
;WAS BIT 16 SET

HLT 2 ;BREAK CONTROL REGIS
HLT 3 ;BREAK CONTROL REGIS
HLT 4 ;:BREAK CONTROL REGIS

;CLEAR BIT 16
;READ CONTENTS OF BREAK CONTROL

-
;WAS BIT 16 CLEARED
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LA

010144 005005 - IDNCLR RS R
. <DHBCR>, <DHLPR>, HLT 2 ;BREAK
{ER ERROR 8 CONTROL REGIS
010146 .IIF ION <DHBCR>, <DHBCR>, HLT 3 ;BREAK
TER ERROS 8 CONTROL REGIS
010146 104003 r IDNEHT 3 R> <0
I <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL R
1ER ERROR CONTROL REGIS
010150 104400 2s: SCOPE
100000 BITX=BITX+BITX
000017 BITC-BITC.1
010152 REGTS6 */DHBCR/,\BITX,t/BREAK CONTROL/,\BITC
:BREAK CONTROL REGISTER DATA TEST
:SET BIT 17 IN BREAK CONTROL TO 1
{VERIFY THAT BIT 17 WAS SET
;:CLEAR BIT 17
:VERIFY THAT BIT 17 WAS CLEARED
010152 TS \XN,4000,2$
01015 012767 000340 167616 T76: MOV #340,PS ;DISABLE ALL INTERRUPTS
010160 012767 004000 007670 MOV 24000, ICOUNT ;SET UP FOR 4000 ITERATIONS
010166 012767 010240 007656 F e MOV 023 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ERoC MOV ¢,FREEZL :SET UP TO LOOP WITH DATA ; 3
000077 XN=XN+1
010174 012777 004000 007606 MOV #BIT11,80HSCR :MASTER CLEAR INTERFACE
010202 016703 007616 MOV DHBCR,R3 :SET UP POINTER TO BREAK CONTROL
010266 012705 100000 MOV #100000,RS :BIT 17 WILL BE SET IN BREAK CONTROL
010212 010513 MOV RS, (R3) ;SET BIT 17
010214 011304 MOV (R3),.R4 :GET CONTENTS OF BREAK CONTROL
.IIF NB ©, BIC o.R4 ;CLEAR UNWANTED BITS
010216 020504 cHP RS,R4 :WAS BIT 17 SET
010220 001401 BEG 18
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
010222 .I1IF IDN <DHBCR>, <DHBCR>, HLT 3 :BREAK CONTROL REGIS
TER ERROR
010222 104003 EMT 3
.IIF IDN <DHBCR> , <DHSSR>, HLT 4 ;BPEAK CONTROL REGIS
TER ERROR
010224 040513 18: BIC RS, (R3) ;:CLEAR BIT 17
010226 011304 MOV (R3),R4 :READ CONTENTS OF BREAK CONTROL
.IIF NB O, BIC o,R4 ;CLEAR UNWANTED BITS
010230 005704 ST R4 :WAS BIT 17 CLEARED
010232 001402 BEQ 23
010234 005005 CLR RS
.IIF IDN <DHBCR> , <DHLPR> HLT 2 ;BREAK CONTROL REGIS
TER ERROR
010236 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
010236 104003 EMT 2
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
010240 104400 2s: SCOPE
000000 BITX=BITX+BITX
000020 BITC=BITC+1
231 000000 XBIT=BITX
282 000020 CBIT=BITC
283 000001 BITX=1
284 000000 BITC=0
286 000007 .REPT 7
-—— —282 . FFAFOIY TRBITCTTO0
288 .IF EQ BITX 40

289

.NLIST
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290 BITX=100000
291 8ITC~ >
292 .LIS1
293 JIFF
294 .NLIST
295 BITX=BITX+BITX
296 BITC=BITC+1
297 LIST
298 .ENDC
299 .ENDR
010242 REGTS6 t/DHSSR/,\BITX,t/SIL0 STATUS/,\BITC, 700

:SILO STATUS REGISTER DATA TEST
;SET BIT 0 IN SILO STATUS T0 1
sVERIFY THAT BIT O WAS SET
:CLEAR BIT 0

sVERIFY THAT BIT O WAS CLEARED

010242 TS \XN,4000,2%
010242 012767 000340 167526 T77: MOV #340,PS ;DISABLE ALL INTERRUPTS
010250 012767 004000 007600 MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
010256 012767 010340 007566 IF N8 MOV 024 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV ¢, FREE21 :SET UP TO LOOP WITH DATA ; 3
000100 XN=XN+1
010264 012777 004000 007516 MoV #B8IT11,8DHSCR :MASTER CLEAR INTERFACE
010272 016703 007530 MOV DHSSR,R3 ;SET UP POINTER TO SILO STATUS
010276 012705 000001 MOV ¢1,R5 ;BIT O WILL BE SET IN SILO STATUS
010302 010513 MoV R5,(R3) ;SET BIT O
010304 011304 MoV (R3),R4 ;:GET CONTENTS OF SILO STATUS
010306 042704 000700 .IIF NB <700>, BIC 4700,R4 ;CLEAR UNWANTED BITS
010312 020504 cMP R5,R4 sWAS BIT O SET
010314 001401 BEQ 1s
R ERROR .IIF IDN <DHSSR>, <DHLPR>, HT 2 :SILO STATUS REGISTE
R ERROR .IIF IDN <DHSSR>, <DHBCR>, HLT 3 ;SILO STATUS REGISTE
0
ROR 010316 .IIF IDN <DHSSR>, <DHSSR>, HLT 4 :SILO STATUS REGISTE
R ERRO
010316 104004 EMT 4
010320 040513 1¢: 8IC R5,(R3) ;:CLEAR BIT 0
010322 011304 MOV (R3).R4 ;READ CONTENTS OF SILO STATUS
010324 042704 000700 LIIF NB <700>, BIC #700,R4 ;CLEAR UNWANTED BITS
010330 005704 TST R4 ;WAS BIT O CLEARED
010332 001402 BEQ 2%
010334 005005 CLR RS
.IIF IDN <DHSSR>, <DHLPR>, HLT 2 :SILO STATUS REGISTE
R ERROR
.IIF IDN <DHSSR>, <DHBCR>, HT 3 ;SILO STATUS REGISTE
R ERROR
019336 .IIF IDN <DHSSR>, <DHSSR>, HT 4 ;SILO STATUS REGISTE
R ERROR
010336 104004 EMT 4
010340 104400 2% SCOPE
IF EQ BITX-40
.NLIST
BITX=100000
B8ITC=17
.LIST
IFF
000002 BITX=BITX«BITX
000001 BITC=BITC.1
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R ERROR
R ERROR
R ERROR

R ERROR
R ERROR
R ERROR

010342

010342
010342
010350
010356

010364
010372
010376
010402
010404
010406
010412
010414

010416

010416
010420
010422
010424
010430
010432
010434

010436

010436
010440

010442

012767
012767
012767

000101
012777
016703
012705
010513
011304
042704
020504
001401

104004
040513
011304
042704
005704
001402
005005

104004
104400

000004
000002

000340
004000
010440

004000
007430
000002

000700

000700

167426
007500
007466

007416

-ENDC
REGTS6

t/DHSSR/ ,\BITX,t/SILO STATUS/,\BITC,700

:SILO STATUS REGISTER DATA TEST
:SET BIT 1 IN SILO STATUS TO 1
:VERIFY THAT BIT 1 WAS SET
;CLEAR BIT 1

sVERIFY THAT BIT 1 WAS CLEARED

TS \XN,4000,24

SEQ 69

;SILO STATUS REGISTE
:SILO STATUS REGISTE
:SILO STATUS REGISTE

:SILO STATUS REGISTE
:SILO STATUS REGISTE
:SILO STATUS REGISTE

T100: MOV #340,PS ;DISABLE ALL INTERRUPTS
MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
MOV 924 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
IF NB <>
MOV #,FREEZ1 :SET UP TO LOOP WITH DATA
.ENDC
AN=XN+1
MOV #81IT11,80HSCR sMASTER CLEAR INTERFACE
MOV DHSSR,R3 :SET UP POINTER TO SILO STATUS
MOV &2 .RS ;BIT 1 WILL BE SET IN SILO STATUS
MOV RS,(R3) ;SET BIT 1
MOV (R3),.R4 ;GET CONTENTS OF SILO STATUS
.IIF NB <700>, BIC 4700.R4 ;CLEAR UNWANTED BITS
cMpP RS,R4 ;WAS BIT 1 SET
BEQ 14
JIIF IDN <DHSSR>, <DHLPR>, HLT 2
.IIF IDN <DHSSR»>, <DHBCR>, HL1 3
.IIF IDN <DHSSR>, <DHSSR>, HLT 4
EMT 4
1%: BIC RS, (R3) ;CLEAR BIT 1
MOV (R3),R4 ;READ CONTENTS OF SILO STATUS
.IIF NB <700>, BIC #700,R4 ;CLEAR UNWANTED BITS
18T R4 :WAS BIT 1 CLEARED
BEQ 2
CLR RS
.IIF IDN <DHSSR>, <DHLPR»>, HT 2
.IIF IDN <DHSSR >, <DHBCR>, HLT 3
.IIF IDN <DHSSR >, <DHSSR >, HLT 4
EMT 4
2s: SCOPE

.IF EQ BITX-40
.NLIST
B8ITX=100000
BITC=17

LIST

.IFF
BITX=BITX.BITX
BITC=BITC.1
.ENDC

REGTS6

t/DHSSR/ ,\BITX, t/SILO STATUS/,\BITC, 700

:SILO STATUS REGISTER DATA TEST
sSET BIT 2 IN SILO STATUS T0 1
;VERIFY THAT BIT 2 WAS SET
:CLEAR BIT 2

;VERIFY THAT BIT 2 WAS CLEARED




SEQ 70
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010442 TS \XN,4000,2$
010442 012767 000340 167326 T101: MOV 0340,PS ;O0ISABLE ALL INTERRUPTS
010450 012767 004000 007400 MOV 94000, ICOUNT :SET UP FOR 4000 ITERATIONS
010456 012767 010540 007366 IF N8 MOV 02% ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
ENOC MOV ¢ ,FREEZL :+SET UP TO LOOP WITH DATA ;3
000102 XN=XN+1
010464 012777 004000 007316 MOV #BIT11,8D0HSCR :MASTER CLEAR INTERFACE
010472 016703 007330 MOV DHSSR,R3 ;SET UP POINTER TO SILO STATUS
010476 012705 000004 MOV 44 .RS5 ;BIT 2 WILL BE SET IN SILO STATUS
010502 010513 MOV RS,(R3) ;SET BIT 2
010504 011304 MOV (R3),R4 :GET CONTENTS OF SILO STATUS
010506 042704 000700 .IIF NB <700>, BIC #700,R4 ;:CLEAR UNWANTED BITS
010512 020504 cHP R5,R4 :WAS BIT 2 SET
010514 001401 BEQ 13
R ERROR .IIF IDN <DHSSR>, <DHLPR>, HLT 2 :+SILO STATUS REGISTE
R ERROR .IIF IDN <DHSSR>, <DHBCR>, HLT 3 ;SILO STATUS REGISTE
R ERROR 010516 .IIF IDN <DHSSR>, <DHSSR>, HLT 4 ;SILO STATUS REGISTE
RO
010516 104004 EMT 4
010520 040513 1¢: BIC RS,(R3) ;CLEAR BIT 2
010522 011304 MOV (R3),R4 ;READ CONTENTS OF SILO STATUS
010524 042704 000700 .IIF NB <700>, BIC #700,R4 ;CLEAR UNWANTED BITS
010530 005704 1571 R4 ;WAS BIT 2 CLEARED
010532 001402 BEQ 2
010534 005005 CLR RS
.IIF IDN <DHSSR>, <DHLPR>, HLT 2 ;SILO STATUS REGISTE
R ERROR
R ERROR .IIF IDN <DHSSR>, <DHBCR>, HLT 3 ;SILO STATUS REGISTE
ERRO
R 010536 .IIF IDN <DHSSR>, <DHSSR>, HLT 4 :SILO STATUS REGISTE
R ERROR
010536 104004 EMT 4
010540 104400 2%: SCOPE
IF EQ BITX-40
.NLIST
B8ITX=100000
BITC=17
LIST
IFF
000010 BITX=BITX+BITX
000003 BITC=BITC-+1 - ~
.ENDC
010542 REGTS6 t/DHSSR/ ABITX,t/SILO STATUS/,.\BITC,700
;SILO STATUS REGISTER DATA TEST
;SET BIT 3 IN SILO STATUS TO 1
;VERIFY THAT BIT 3 WAS SET
;CLEAR BIT 3
;VERIFY THAT BIT 3 WAS CLEARED
010542 TS \XN,4000,2%
010542 012767 000340 167226 T102: MOV 0340,PS sDISABLE ALL INTERRUPTS
010550 012767 004000 007300 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
010556 012767 010640 007266 IF N8 MOV #2% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
MOV ¢,FREEZ1 ;SET UP TO LOOP WITH DATA i 3
.ENDC
000103 XN=XN+1
- 010564 012777 004000 007216 MOV MBIT11,80HSCR ;MASTER CLEAR INTERFACE
.b-—




o
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010572
010576
010602
010604
010606
010612
010614

R ERROR

R ERROR
010616
R ERROR
010616
010620
010622
010624
010630
010632
010634

R ERROR

H ERROR
010636
R ERROR
010636
010640

010642

010642
010642
010650
019656

010664
010672
010676
010702
010704
010706
010712
0190714

R ERROR

016703 007230
012705 000010

010513
011304
042704
020504
001401

104004
040513
011304
042704
005704
001402
005005

104004
104400

000020
000004

000700

000700

012767
012767
012767

000104
012777
016703
012705
010513
011304
042704
020504
001401

000340
004000
010740

004000
007130
000020

000700

167126
007200
007166

007116

PAGE 17-49

MOV
MOV

MOV
MOV
<7.,0>,
CMP
BEQ
IDN

ION
IDN

EMT
1s: BIC

MOV
.IIF NB <700>,
TST
BEQ
CLR
IDN

IDN
ION

EMT
2s: SCOPE
JIF EQ BITX-40
NLIST
BITX=100000
BITC=17
.LIST
JIFF
BITX=BITX+BITX
BITC=BITC.1

.IIF NB

JIIF
IIF
JIIF

JAIF
JIIF
JIIF

DHSSR,R3
¢10,R5
R5,(R3)
(R3),Ra
8IC
R5.R4

1$

<DHSSR>, <DHLPR>,
<DHSSR> , <DHBCR>,
<DHSSR>, <DHSSR>,

#700,R4

4
RS,(R3)
(R3),R4
BIC
R4
2%
RS
<DHSSR>, <DHLPR>,

<DHSSR>, <DHBCR>,
<DHSSR>, <DHSSR >,
4

#700,R4

SEQ 71

;:SET UP POINTER TO SILO STATUS
;:BIT 3 WILL BE SET IN 3ILO STATUS
;SET BIT 3

;GET CONTENTS OF SILO STATUS
;CLEAR UNWANTED BITS

;WAS BIT 3 SET

HLT 2 ;SILO STATUS REGISTE
HLT 3 ;SILO STATUS REGISTE
HLT 4 ;SILO STATUS REGISTE
;CLEAR BIT 3

sREAD CONTENTS OF SILO STATUS
;CLEAR UNWANTED BITS
;WAS BIT 3 CLEARED

HLT 2 ;SILO STATUS REGISTE
HLT 3 sSILO STATUS REGISTE
HLT 4 ;SILO STATUS REGISTE

REGTS6

.ENDC
t/DHSSR/ ,\BITX,+/SILO STATUS/,\BITC,700

;SILO STATUS REGISTER DATA TEST
;SET BIT 4 IN SILO STATUS TO 1
;VERIFY THAT BIT & WAS SET
;CLEAR BIT 4

sVERIFY THAT BIT & WAS CLEARED

TS \XN,4000,2¢

T103: MOV 4340,PS ;DISABLE ALL INTERRUPTS
MOV 04000, ICOUNT ;SET UP FOR 400 ITERATIONS
MoV #2% ,ESCAPE ;:SET UP TO ESCAPE TO NEXT TEST
JIF NB o
MOV & ,FREEZL :1SET UP TO LOOP WITH DATA : 3
.ENDC
XN=XN+1
MOV #8IT11,8DHSCR ;MASTER CLEAR INTERFACE
MOV DHSSR.R3 +SET UP POINTER TO SILO STATUS
MOV #20,R5 :BIT 4 WILL BE SET IN SILO STATUS
MOV R5,(R3) ;SET BIT 4
MOV (R3).R4 ;GET CONTENTS OF SILO STATUS
LIIF NB <700>, BIC &700,R4 sCLEAR UNMWANTED BITS
CcMP RS.R4 ;WAS BIT 4 SET
8EQ 1
.IIF IDN <DHSSR>, <DHLPR>, HLT 2 ;SILO STATUS REGISTE
PO £ /-3 7. TV IM— - TV T-T T WY T 7 B T S TSTCUSTRTUS REGISTE

R FRROR



CZDHA-D MACRO V04.00 27-JUN-85 12:46:01 PAGE 17 50

R ERROR

R FRROR
R ERROR
R ERROR

010716

010716
010720
010722
010724
010730
010732
010734

010736

010736
010740

010742

010742
010742
010750
010756

010764
010772
013776
011002
011004
011006
011012
011014

R ERROR

R ERROR
011016
R ERROR
011016
011020
11022
011024
0'1030
¢ .032
011034

104004
040513
011304
042704
005704
001402
005005

104004
104400

000040
000005

012767
012767
012767

000105
012777
016703
012705
010513
011304
042704
020504
001401

104004
040513
011304
042704
005704
001402
005005

000700

000340
004500
011040

004000
007030
000040

000700

000700

167026
007100
007066

007016

.IIF IDN <DHSSR>, <DHSSR>, HLT 4
EMT 4
1s: BIC R5,(R3) ;CLEAR BIT 4
MOV (R3),.R4 ;READ CONTENTS OF SILO STATUS
.IIF NB <700>, BIC #700,R4 ;:CLEAR UNWANTED BITS
157 R4 ;WAS BIT 4 CLEARED
BEQ 23
CLR RS
.IIF IDN <DHSSR>, <DHLPR>, MLT 2
.IIF IDN <DHSSR>, <DHBCR>, HLT 3
LIIF ION <DHSSR>, <DHSSR>, HLY 4
EMT 4
2%: SCOPE

.IF EQ BITX-40
.NLIST
BITX=100000
BITC=17

.LIST

.IFF
BITX=BITX+BITX
BITC=BITC+1
.ENDC

REGTS6 +/DHSSR/,\BITX,+/SILO STATUS/,\BITC,700
;SILO STATUS REGISTER DATA TEST

;SET BIT S IN SILO STATUS TO 1

;VERIFY THAT BIT S WAS SET

;CLEAR BIT S

;VERIFY THAT BIT S WAS CLEARED

TS \XN,4000,2%
MOV

SEQ 72

;SILO STATUS REGISTE

$SILM STATUS REGISTE
;SILO STATUS REGISTE
;SILO STATUS REGISTE

T104: 4340,PS :DISABLE ALL INTERRUPTS
MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
MOV 024 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
AF N8 O
MOV 4,FREEZ] sSET UP TO LOOP WITH DATA : 3
.ENDC
XN=XN+1
MOV 48IT11,8DHSCR sMASTER CLEAR INTERFACE
MOV DHSSR,R3 sSET UP POINTER TO SILO STATUS
MOV #40,RS ;811 S WILL BE SET IN SILO STATUS
MOV RS,(R3) :SET BIT S
MOV (R3),R4 sGET CONTENTS OF SILO STATUS
.IIF NB <700>, BIC #700,R4 :CLEAR UNMANTED BITS
cHP RS.R4 s+WAS BIT S SET
8EQ 1$
.IIF IDN <DHSSR>, <DHLPR>, HLT 2 :SILO STATUS REGISTE
.IIF IDN <DHSSR>, <DHBCR>, HLT 3 :SILO STATUS REGISTE
.IIF IDN <DHSSR >, <DHSSR>, HLT 4 :SILO STATUS REGISTE
EMT 4
1s: BIC RS,(R3) ;CLEAR BIT 5
MOV (R3),R4 ;READ CONTENTS OF SILO STATUS
.IIF NB <700»>, BIC $700,R4 ;CLEAR UNWANTED BITS
ST R4 ;:WAS BIT S CLEARED
=2
L
bRl PNt GRS SR DHEPR > T r4 TSICU STRTUS REGISTE

(P
R ERROR
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SEQ 73

R ERROR .IIF IDN <DHSSR>, <DHBCR»>, HLT 3 ;SILO STATUS REGISTE
R ERROR 011036 .IIF IDN <DHSSR>, <DHSSR>, HLT 4 ;SILO STATUS REGISTE
011036 104004 EMT 4
011040 104400 2%: SCOPE
IF EQ BITX-40
100000 BITX=100000
000017 BITC=17
IFF
NLIST
BITX=BITX+BITX
BITC=BITC.1
.LIST
.ENDC
011042 REGTS6 t/DHSSR/ ,\BITX,ts/SILO STATUS/,\BITC, 700
:SILO STATUS REGISTER DATA TEST
;SET BIT 17 IN SILO STATUS TO 1
;VERIFY THAT BIT 17 WAS SET
;CLEAR BIT 17
;VERIFY THAT BIT 17 WAS CLEARED
011042 TS \XN,4000,24
011042 012767 000340 166726 T105: MOV #340,PS ;DISABLE ALL INTERRUPTS
011050 012767 004000 007000 MQV #4000, ICOUNT +SET UP FOR 4000 ITERATIONS
011056 012767 011140 006766 - MOV #24 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
I <>
ENDC MOV #,FREEZ1 :SET UP TO LOOP WITH DATA ; 3
000106 XN=XN+1
011064 012777 004000 006716 MOV #B8IT11,8DHSCR ;MASTER CLEAR INTERFACE
011072 016703 006730 MOV DHSSR,R3 :SET UP POINTER TO SILO STATUS
011076 012705 100000 MOV 2100000, RS :BIT 17 WILL BE SET IN SILO STATUS
011102 010513 MOV RS,(R3) ;SET BIT 17
011104 011304 MOV (R3).R4 ;GET CONTENTS OF SILO STATUS
011106 042704 000700 .IIF NB <700>, BIC #700,.R4 ;CLEAR UNWANTED BITS
011112 020504 CMP RS.R4 ;WAS BIT 17 SET
011114 001401 , BEQ 1s
R .IIF IDN <DHSSR>, <DHLPR>, HLT 2 ;SILO STATUS REGISTE
R ERRO
.IIF IDN <DHSSR>, <DHBCR>, HLT 3 ;SILO STATUS REGISTE
R ERROR
011116 .IIF IDN <DHSSR>, <DHSSR>, HLT 4 ;SILO STATUS REGISTE
R ERROR
011116 104004 EMT 4
011120 040513 1s: BIC RS,(R3) ;:CLEAR BIT 17
011122 011304 MOV (R3),R4 :READ CONTENTS OF SILO STATUS
011124 042704 000700 .IIF NB <700>, BIC #700,R4 ;CLEAR UNWANTED BITS
011130 005704 18T R4 ;WAS BIT 17 CLEARED
011132 001402 BEQ 24
011134 005005 CLR RS
.IIF IDN <DHSSR>, <DHLPR>, HLT 2 ;SILO STATUS REGISTE
R ERROR
.IIF IDN <DHSSR>, <DHBCR>, HLT 3 sSILO STATUS REGISTE
R ERROR
011136 .IIF IDN <DHSSR>, <DHSSR >, HLT 4 sSILO STATUS REGISTE
R ERROR
011136 104004 EMT 4
011140 104400 2%: SCOPE
IF EQ BITX-40
NLIST
BITX=100000
e a4

.LIST
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.IFF
000000 BITX=BITX+BITX
000020 BITC=BITC.1
.ENDC
301 000000 XBIT=BITX
302 000020 CBIT=BITC
303 000001 BITX=1
304 000000 BITC=0
306 000017 .REPT  15.
307 -NLIST
308 CCRBIT=-BITX-1
309 CLRBIT=CCRBITE177767
310 BITCLR=CLRBIT
311 LIST
312 REGTS7 +/DHLPR/,\BITX,t/LINE PARAMETER/,\BITC,177767,\BITCLR
313 JIF EQ BITX-4
314 .NLIST
315 BITX=BITX+BITX
316 BITC=BITC+1
317 .LIST
318 .ENDC
319 .NLIST
320 BITX=BITX+BITX
321 BITC=BITC+1
322 .LIST
323 .ENDR
177776 CCRBIT=-BITX-1
177766 CLRBIT=CCRBITEL177767
177766 BITCLR=CLRBIT
011142 REGTS7 t/DHLPR/,\BITX,t/LINE PARAMETER/,\BITC,177767,\BITCLR
;LINE PARAMETER REGISTER DATA TEST
:SET ALL READ/WRITE BITS IN LINE PARAMETER REGISTER TO 1S
;CLEAR BIT 0O
;VERIFY THAT BI7 O WAS CLEARED
;RESTORE BIT 0
;VERIFY THAT BIT O WAS SET
011142 TS \XN,4000,2%
011142 012767 000340 166626 T106: MOV #340,PS :DISABLE ALL INTERRUPTS
011150 012767 004000 006700 MOV 24000, ICOUNT :SET UP FOR 4000 ITERATIONS
011156 012767 011244 006666 IF N8 MoV 2% ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
] <>
ENDC MOV ¢,FREEZL :SET UP TO LOOP WITH DATA i 3
.EN
000107 XN=XN+1
011164 012777 004000 006616 MOV #8I111,9DHSCR sMASTER CLEAR INTERFACE
011172 016703 006616 MOV DHLPR,R3 :SET UP POINTER TO LINE PARAMETER
011176 012705 177766 MoV 8177766 ,RS +(R5)=EXPECTED DATA
:IN LINE PARAMETER REGISTER, 177766
011202 012713 177767 MoV 177767, (R3) ;:SET ALL READ/MRITE BITS
:IN LINE PARAMETER REGISTER
011206 042713 000001 8IC ¢1,.(R3) ;CLEAR BIT O
011212 011304 MOV (R3).R4 :GET CONTENTS OF LINE PARAMETER
IIF NB <>, 8IC #,R4 ;CLEAR UNWANTED BITS
011214 020504 CMP R5,.R4 ;WAS BIT O CLEARED
011216 001401 BEQ 13
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SEQ 75

011220 .IIF IDN <DHL PR>, <DHLPR>, HLT 2 ;:LINE PARA
STER ERROR METER REGI
011220 104002 f EMT 2 R
.ITF IDN <DHLPR>, <DHBCR>, HLT 3 _INE PARAMET R
STER ERROR IF ION R ER REGI
I <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER R
STER ERROR ER REGI
011222 052713 000001 1s: BIS #1,(R3) ;SET BIT 0O
01126 011304 MOV (R3),R4
.IIF NB <>, 8IC &,R4 :CLEAR UNWANTED BITS
011230 022704 177767 CHP #177767.R4 ;WAS BIT 0 SET
011234 001403 BEQ 24
011236 012705 177767 MOV #177767,RS ;(R5)=EXPECTED DATA IN
;LINE PARAMETER REGISTER, 177767
011242 .IIF IDON <DHLPR>, <DHLPR>, HLT 2 ;:LINE PARAMETER REGI
STER EPROR
011242 104002 EMT 2
.IIF ION <DHLPR>, <DHBCR>, HLY 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
011244 104400 2%: SCOPE
.IF EQ BITX-4
.NLIST
BITX=BITX+BITX
BITC=BITC+1
.LIST
.ENDC
000002 BITX=BITX+BITX
000001 BITC=BITC.+1
177775 CCRBIT=-BITX-1
177765 CLRBIT=CCRBITEL177767
177765 BITCLR=CLRBIT
011246 REGTS?7 t/DHLPR/ ,\BITX,t/LINE PARAMETER/,\BITC,177767,\BITCLR
:LINE PARAMETER REGISTER DATA TEST
;SET ALL READ/WRITE BITS IN LINE PARAMETER REGISTER TO 1S
;CLEAR BIT 1
;VERIFY THAT BIT 1 WAS CLEARED
;RESTORE BIT 1
;VERIFY THAT BIT 1 WAS SET
011246 TS \XN,4000,2%
011246 012767 000340 166522 T107: MoV 9340,PS ;DISABLE ALL INTERRUPTS
011254 012767 004000 006574 MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
011262 012767 011350 006562 - MOV 2% ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
I <>
o MOV #,FREEZ1 ;SET UP TO LOOP WITH DATA i 3
.ENl
000110 XN=XN+1
011270 012777 004000 006512 MOV #BIT11,8DHSCR ;MASTER CLEAR INTERFACE
011276 016703 006512 MOV DHLPR,R3 ;SET UP POINTER TO LINE PARAMETER
011302 012705 177765 MOV 2177765,.RS : (RS)=EXPECTED DATA
s+IN LINE PARAMETER REGISTER, 177765
011306 012713 177767 MOV 2177767,(R3) ;SET ALL READ/WRITE BITS
:IN LINE PARAMETER REGISTER
011312 042713 .,u0002 8IC #2,(R3) ;CLEAR BIT 1
011316 011304 MOV (R3),R4 :GET CONTENTS OF LINE PARAMETER
IIF NB <>, BIC #.R4 ;CLEAR UNWANTED BITS
011320 020504 CHpP RS .R4 ;WAS BIT 1 CLEARED
011322 001401 BEQ 14
011324 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;:LINE PARAMETER REGI
- STER ERROR
f S £ e




g
b
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STER ERROR

STER ERROR
011326
011332

011334
011340
011342

011346
STER ERROR
011346

STER ERROR

STER ERROR
011350

011352

011352
011352
011360
011366

011374
011402
011406

011412

011416
011422

011424
011426
011430
STER ERROR
011430

STER ERROR

052713 000002

011304

022704
001403
012705

104002

104400

000004
000002
177773
177763
177763

012767
012767
012767

000111
012777
016703
012705

012713

042713
011304

020504
001401

104002

177767
177767

000340
004000
011454

004000
006406
177763
177767

000004

166416
006470
006456

006406

SEQ 76

.IIF IDON <DHLPR>, <DHBCR >, MLT 3 ;LINE PARAMETER REGI
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
1s%: 8IS #2,(R3) ;:SET BIT 1
MOV (R3).R4
.IIF NB <>, 8IC #,R4 ;CLEAR UNWANTED BITS
CHP 2177767,R4 ;WAS BIT 1 SET
8EQ 24
MOV #177767,RS ;(R5)=EXPECTED DATA IN
;LINE PARAMETER REGISTER, 177767
.IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;sLINE PARAMETER REGI
.IIF ION <DHLPR>, <DHSSR>, HLT 4 sLINE [ ARAMETER REGI
2%: SCOPE
.IF EQ BITX-4
.NLIST
BITX=BITX«BITX
B8ITC=BITC.1
.LIST
.ENDC
BITX=BITX+BITX
BITC=BITC.1
CCRBIT=-BITX-1
CLRBIT=CCRBITE177767
BITCLR=CLRBIT

REGTS7 t/DHLPR/ ,\BITX,t/LINE PARAMETER/,\BITC,177767,\BITCLR

sLINE PARAMETER REGISTER DATA TEST

;:SET ALL READ/WRITE BITS IN LINE PARAMETER REGISTER TO 1S
;CLEAR BIT 2

sVERIFY THAT BIT 2 WAS CLEARED

+RESTORE BIT 2

;VERIFY THAT BIT 2 WAS SET

TS \XN,4000,2%
v

T110: MO 2340 ,PS ;:DISABLE ALL INTERRUPTS
MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
e MOV 424 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
MOV ®,FREEZ1 ;SET UP TO LOOP WITH DATA ; 3
.ENDC
XN=XN+1
MOV #81IT11,8DHSCR ;MASTER CLEAR INTERFACE
MoV DHLPR.R3 ;SET UP POINTER TO LINE PARAMETER
MOV #177763,RS :(RS)=EXPECTED DATA
;IN LINE PARAMETER REGISTER, 177763
MoV 8177767, (R3) :SET ALL READ/WRITE BITS
;IN LINE PARAMETER REGISTER
BIC #4,(R3) ;CLEAR BIT 2
MoV (R3),R4 ;GET CONTENTS OF LINE PARAMETER
.IIF NB <>, BIC 8.R4 ;CLEAR UNWANTED BITS
CMP RS,R4 tWAS BIT 2 CLEARED
BEQ 13
.IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 :LINE PARAMETER REGI
BNt D PRt DHI SR - + TCINE PRREETER RECT

A
STER ERROR



SEQ 77
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021432 052713 000004 1s: BIS #4,(R3) ;SET BIT 2
011436 011304 MOV (R3),R4
.IIF NB <>, BIC 4.R4 ;:CLEAR UNWANTED BITS
011440 022704 177767 CHP #177767.R4 ;WAS BIT 2 SET
011444 001403 BEQ 24
011446 012705 177767 MOV #177767.RS ; (RS)=EXPECTED DATA IN
;LINE PARAMETER REGISTER, 177767
011452 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
011452 104002 EMT e
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
011454 104400 2%: SCOPE
IF EQ BITX-4
000010 BITX=BITX+BITX
000003 BITC=BITC.1
.ENDC
000020 BITX=BITX+BITX
000004 BITC=BITC+1
177757 CCRBIT=-BITX-1
177747 CLRBIT=CCRBITEL177767
177747 BITCLR=CLRBIT
011456 REGTS? t/DHLPR/ ,\BITX,t/LINE PARAMETER/ ,\BITC,177767,\BITCLR
;LINE PARAMETER REGISTER DATA TEST
;SET ALL READ/MRITE BITS IN LINE PARAMETER REGISTER TO 1S
;CLEAR BIT 4
;VERIFY THAT BIT 4 WAS CLEARED
;:RESTORE BIT 4
;VERIFY THAT BIT 4 WAS SET
011456 TS \XN,4000,2%
011456 012767 000340 166312 Ti1l: MOV #340,PS sDISABLE ALL INTERRUPTS
011464 012767 004000 006364 MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
011472 012767 011560 006352 - MOV 423 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
I <>
ENDC MOV #,FREEZ1 ;SET UP TO LOOP WITH DATA : 3
000112 XN=XN+1
011500 012777 004000 006302 MOV #B8I711,80HSCR ;MASTER CLEAR INTERFACE
011506 016703 006302 MOV DHLPR,R3 ;SET UP POINTER TO LINE PARAMETER
011512 012705 177747 MOV 2177747,R5 ;(R5)=EXPECTED DATA
;IN LINE PARAMETER REGISTER, 177747
011516 012713 177767 MOV 9177767.(R3) ;SET ALL READ/WRITE BITS
;IN LINE PARAMETER REGISTER
011522 042713 000020 8I1C 220, (R3) ;CLEAR BIT 4
011526 011304 Mov (R3).R4 ;GET CONTENTS OF LINE PARAMETER
.IIF NB <>, 8IC 9.R4 ;CLEAR UNWANTED BITS
011530 020504 CHP R5,R4 ;WAS BIT 4 CLEARED
011532 001401 BEQ 14
011534 .IIF IDN <DHLPR>, <DHLPR>, HWT 2 ;LINE PARAMETER REGI
STER ERROR
011534 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLY 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 iLINE PARAMETER REGI
STEP ZRROR
011536 052713 000020 13; BIS #20, (R3) ;SET BIT 4
011542 011304 MoV (R3).R4
.IIF NB <>, 8I1C 9,.R4 ;:CLERR UNWANTED BITS
- 011544 022704 177767 CMP #177767,R4 :WAS BIT 4 SET
.h——
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011550 001403 BEQ 24
011552 012705 177767 MOV 0177767.RS ;(RS)=EXPECTED DATA IN
;LINE PARAMETER REGISTER, 177767
011556 .IIF ION <OHLPR> , <OMLPR>, HLT 2 :LINE PARAMETER REGI
STER ERROR
011556 104002 EMT 2
.IIF ION <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF ION <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
011560 104400 2: SCOPE
.IF EQ BITX-4
NLIST
BITX=BITX+BITX
BITC=BITC+1
.LIST
.ENDC
000040 BITX=BITX+BITX
000005 BITC=BITC+1
177737 CCRBIT=-BITX-1
177727 CLRBIT=CCRBITEL177767
177727 BITCLR=CLRBIT
011562 REGTS7 +/DHLPR/ ,\BITX,t/LINE PARAMETER/,\BITC,177767,\BITLLR
;LINE PARAMETER REGISTER DATA TEST
;SET ALL READ/WRITE BITS IN LINE PARAMETER REGISTER TO 1S
:CLEAR BIT S
;VERIFY THAT BIT S WAS CLEARED
;RESTORE BIT S
{VERIFY THAT BIT S WAS SET
011562 TS \XN,4000,2$
011562 012767 000340 166206 T112: MOV #340,PS ;DISABLE ALL INTERRUPTS
011570 012767 004000 006260 Mov #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
011576 012767 011664 006246 F e MOV #23 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENOC MOV ¢, FREEZ1 1SET UP TO LOOP WITH DATA : 3
000113 XN=XN»1
011604 012777 004000 006176 MOV 98IT11,80HSCR ;MASTER CLEAR INTERFACE
011612 016703 006176 MOV DHLPR,R3 ;SET UP POINTER TO LINE PARAMETER
011616 012705 177727 MOV #177727.RS 1(RS)=EXPECTED DATA
:IN LINE PARAMETER REGISTER, 177727
011622 012713 177767 MOV 177767, (R3) :SET ALL READ/WRITE BITS
;IN LINE PARAMETER REGISTER
011626 042713 000040 BIC #40,(R3) :CLEAR BIT S
011632 011304 MOV (R3),R4 ;GET CONTENTS OF LINE PARAMETER
JIIF NB <>, BIC *.R4 iCLEAR 'JNWANTED BITS
011634 020504 cHp RS,R4 1MAS BIT S CLEARED
011636 001401 BEQ 18
011640 .IIF IDN <DHLPR>, <DHLPR>, HT 2 ;LINE PARAMETER REGI
STER ERROR
011640 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HY 3 ;LINE PARAMETER REGI
STER ERROR
.IIF ION <OMLPR>, <DHSSR>, HT 4 :LINE PARAMETER REGI
STER ERROR
011642 052713 000040 1s: 8IS #40,(R3) ;SET BIT S
011646 011304 MOV (R3),R4
IIF NB >, B8IC ¢.R4 ;CLEAR UNNANTED BITS
011650 022704 177767 cHP €177767.R4 MAS BIT S SET
011654 001403 BEQ 23
011656 012705 177767 MOV #177767,RS 1CRS)=EXPECTED DATA IN
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SEQ 79

;LINE PARAMETER REGISTER, 177767
2

011662 .IIF IDN <DHLPR>, <DHLPR>, HLT ]
STER ERROR sLINE PARAMETER REGI
011662 104002 11F IDNE"T 20 PR
] <DHLPR>, <DHBCR>, HLT 3 :
STER ERROR LINE PARAMETER REGI
.IIF IDN <DHLPR >, <DHSSR>, HLT 4 :
TER ERROR LINE PARAMETER REGI
01l064 104400 2%: SCOPE
IF EQ BITX-4
NLIST
BITX=BITX.BITX
BITC=BITC.1
.LIST
.ENDC
€J0100 BITX=BITX.BITX
000G06 BITC»BITC.1
177677 CCRBIT=-BITX-1
177667 CLRBIT=CCRBITEL177767
177667 BITCLR=CLRBIT
01166¢ REGTS? ¢/DHLPR/ ,\BITX,t/LINE PARAMETER/,\BITC,177767,\BITCLR
sLINE PARAMETER REGISTER DATA TEST
$SET ALL READ/WRITE BITS IN LINE PARAMETER REGISTER TO 1§
;CLEAR BIT 6
;VERIFY THAT BIT 6 WAS CLEARED
:RESTORE BIT €
sVERIFY THAT BIT 6 WAS SET
011666 TS \XN,4000,2%
011666 012767 000340 166102 T113: MOV 9340,PS ;DISABLE ALL INTERRUPTS
011674 012767 004000 006154 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
011762 012767 011770 006142 I N8 MOV 923 ,ESCAPE :SET UP TO £SCAPE TO NEXT TEST
. ')
ENDC MOV 4.FREEZL ;SET UP TO LOOP WITH DATA : 3
000114 XN=XN.1
011710 012777 004000 006072 MoV 4BIT11,3DHSCR :MASTER CLEAR INTERFACE
C117i6 016703 006072 MoV DHLPR,R3 :SET UP POINTER TO LINE PARAMETER
011722 012705 177667 MoV 2177667 ,R5 ;s (RS)=EXPECTED DATA
:IN LINE PARAMETER REGISTER, 177667
011726 012713 177767 MoV 2177767,(R3) :SET ALL READ/MWRITE BITS
:IN LINE PARAMETER REGISTER
011732 042713 000100 BIC 2100,(R3) ;CLEAR BIT &
011736 0611304 MOV (R3),R4 ;GET CONTENTS OF LINE PARAMETER
LIIF NB o>, BIC 2.R4 ;CLEAR UNWANTED BITS
011740 020504 cMP R5.R4 ;sWAS BIT 6 CLEAPED
011742 001401 BEQ 1s
011744 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
011744 104002 EMY 2
.IIF IDN <DHLPR>, <DHBCR>, HT 2 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR»>, HLY 4 ;LINE PARAMETER REGI
STER ERROR
011746 052713 000100 1s: BIS 2100,(R3) :SET BIT 6
011752 011204 MOV {R3),R4
.IIF NB <>, 8IC &,R4 ; CLEAR UNWANTED BITS
(11754 022704 177767 cMP #177767,R4 ;:WAS BIT 6 SET
011760 001403 BEQ 2
011762 012705 177767 MOV 2177767,R5 s (RS)=EXPECTED DATA IN
;:LINE PARAMETFR REGISTER, 177767
r 011766 IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
-2l ER-ERROR..
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SEQ 80

011766 104002 1TF IDNE"T 20 PR> . <D
. <DHLPR>, <DHBCR>, nLT 3 sLINE PAR
STER ERROR € PARARMETER REGI
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PAR
STER ERROR INE AMETER REGI
Q11770 104400 2%: SCOFE
.IF EQ BITX-4
.NLIST
BITX=BITX+BITX
BITC=BITC.1
.LIST
.ENDC
000200 BITX=BITX+BITX
000007 BITC=BITC.1
177577 CCRBIT= BITX-1
177567 CLRBIT=CCRBITEL77767
177567 BITCLP=CLRBIT
011772 REGTS7 */DHLPR/ \BITX,t/LINE PARAMETER/,\BITC,177767,\BITCLR
;LINE PARAMETER REGISTER DATA TEST
sSET ALL READ/WRITE BI'S IN LINE PARAMETER REGISTER TOQ 1S
sCLEAR BIT 7
sVERIFY THAT BIT 7 WAS CLEARED
:RESTORE BIT 7
;VERIFY THAT BIT 7 WAS SET
011772 TS \XN,4000,2%
011772 012767 000340 165776 T114: MoV 2340,PS ;DISABLE ALL INTERRUPTS
012000 012767 004000 006050 MoV 94000, ICOUNT :SET UP FOR 4000 ITERATIONS
0120066 0C12767 012074 006036 IF N8 MOV #2% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,FREEZ21 ;SET UP TO LOOP WITH DATA 3
000115 XN=XN.1
012014 012777 004000 005766 "oV #BIT11,8DHSCR sMASTER CLEAR INTERFACE
012022 016703 GU5766 MOV DHLPR,R3 sSET UP POINTER TO LINE PARAMETER
012026 0127¢5 177567 MOV 2177567,R5 :(RS)=EXPECTED DATA
;IN LINE PARAMETER REGISTER, 177567
012032 012713 177767 MoV #177767,(R3) ;SET ALL READ/WRITE BITS
:IN LINE PARAMETER REGISTER
012036 042713 000200 BIC €200,(R3) ;CLEAR BIT 7
012042 (11304 MOV (R3),.R4 ;GET CONTENTS OF LINE PARAMETER
IIF NB <>, BIC ?.R4 ;CLEAR UNWANTED BITS
012044 020504 cHP R5,R4 sWAS BIT 7 CLEARED
012046 001401 BEQ 13
012050 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
012050 104002 emT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERRCR
012052 052713 000200 1%: 8IS $200,(R3) ;SET BIT 7
012056 011304 MOV (R32,R4
.IIF NB <>, BIC 4,.R4 ;CLEAR UNWANTED BITS
012060 022704 177767 CHP #177767,R4 ;WAS BIT 7 SET
012064 001403 BEQ 24
012066 012705 177767 MoV #177767.RS :CRS)=EXPECTED DATA IN
:LINE PARAMETER REGISTER, 177767
012072 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
012072 104002 EMT 2
[ .IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
w-SIER ERROR
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SEQ 81

.IIF IDN <DHLPR >, <DHSSR>, HLT 4 ;:LINE PA
STER ERROR LINE PARAMETER REGI
012074 104400 2%: SCOPE
.IF EQ BITX-4
.NLIST
BITX=BITX+BITX
B8ITC=BITC.1
LIST
.ENDC
000400 BITX=BITX+BITX
000010 8ITC=BITC.1
177377 CCRBIT=-BITX-1
177367 CLRBIT=CCRBITEL77767
177367 BITCLR=CLRBIT
012076 REGTS? t+/DHLPR/ ,\BITX,t/LINE PARAMETER/,\BITC,177767.\BITCLR
;:LINE PARAMETER REGISTER DATA TEST
;SET ALL READ/WRITE BITS IN LINE PARAMETER REGISTER TO 1S
;CLEAR BIT 10
;VERIFY THAT BIT 10 WAS CLEARED
;:RESTORE BIT 10
;VERIFY THAT BIT 10 WAS SET
012076 TS \XN,4000,2%
012076 012767 000340 165672 T115: MOV #340,PS ;DISABLE ALL INTERRUPTS
012104 0i2767 004000 005744 MOV 94000, ICOUNT sSET UP FOR 4000 ITERATIONS
012112 012767 012200 005732 IF N8 MOV #24 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MoV #,.FREEZ21 :SET UP TO LOOP WITH DATA : 3
000116 XN=XN+1
012120 012777 004000 005662 MoV 481T11,8DHSCR :MASTER CLEAR INTERFACE
012126 016703 005662 MOV DHLPR,R3 ;:SET UP POINTER TO LINE PARAMETER
012132 012705 177367 MOV 9177367,RS : (R5)=EXPECTED DATA
;IN LINE PARAMETER "EGISTER, 177367
012136 012713 177767 MOV 9177767,(R3) ;:SET ALL READ/MWRITE BITS
;IN LINE PARAMETER REGISTER
012142 042713 000400 BIC #400,(R3) ;:CLEAR BIT 10
012146 011304 MOV (R3),R4 ;GET CONTENTS OF LINE PARAMETER
LIIF NB <>, BIC #.R4 ;:CLEAR UNWANTED BITS
012150 020504 CcHMP R5.R4 :WAS BIT 10 CLEARED
012152 001401 BEQ 13
012154 .IIF IDN <DHLPR>, <DHLPR>, HT 2 :LINE PARAMETER REGI
STER ERROR
012154 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HT 4 ;:LINE PARAMETER REGI
STER ERROR
012156 052713 000400 1s: 8IS ©400,(R3) :SET BIT 10
012162 011304 Mov (R3).R4
LIIF NB <>, 8IC #,R4 ;CLEAR UNWANTED BITS
012164 022704 177767 o #177767,R4 :WAS BIT 10 SET
012170 001403 8EQ 24
012172 012705 177767 MOV #177767,RS :(RS)=EXPECTED DATA IN
;LINE PARAMETER REGISTER, 177767
012176 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 :LINE PARAMETER REGI
STER ERROR
012176 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;:LINE PARAMETER REGI
- STER ERROR
JO 012200104400 Y. SCORE-
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012202

012202
012202
012210
012216

012224
012232
012236

012242

012246
012252

012254
012256
012260
STER ERROR
012260

STER ERROR

STER ERROR
012262
012266

012270
012274
012276

012302
STER ERROR

012302
STER ERROR

STER ERROR
012304

001000
000011
176777
176767
176767

012767
012767
012767

000117
012777
016703
012705
012713

042713
011304

020504
001401

104002

052713
0:1304

022704
001403
0°.2705

104002

104400

000340
004000
012204

004000
005556
176767
177767

001000

0012300

177767
177767

165566
005640
005626

005556

Sk
17-60 a 82

.IF EQ BITX-4
.NLIST
BITX=BITX+BITX
BITC=BITC.1

LIST

.ENDC

BITX=BITX+BITX
BITC=BITC+1
CCRBIT=-BITX-1
CLRBIT=CCRBITE177767
BITCLR=CLRBIT

REGTS7 t/DHLPR/,\BITX,t/LINE PARAMETER/ ,\BITC,177767,\BITCLR

;LINE PARAMETER REGISTER DATA TEST

:SET ALL READ/WRITE BITS IN LINE PARAMETER REGISTER TO 1S
;CLEAR BIT 11

sVERIFY THAT BIT 11 WAS CLEARED

;:RESTORE BIT 11

sVERIFY THAT BIT 11 WAS SET

TS \XN,4000,24

Ti16: MOV
MOV
MOV
JJFNB o
MOV
.ENDC
XN=XN+1
MOV
MOV
MOV
MOV
B8IC
MOV
IIF NB o,
CHP
BEQ
.IIF IDN
EMT
IIF IDN
.IIF IDN
1s: 8IS
MOV
IIF NB <>,
cMpP
BEQ
MOV
.IIF IDN
EMT
.IIF IDN
.IIF IDN
2%: SCOPE

.IF EQ BITX-4
.NLIST

#340,PS
#4000, ICOUNT
924 ,ESCAPE
&,FREEZL
#IT11,8DHSCR
DHLPR.R3
#176767,RS
8177767, (R3)
21000,(R3)
(R3),R4

81C 4,.R4
RS.R4

14
<DHLPR >, <DHLPR>,
2

<DHLPR>, <DHBCR>,
<DHLPR> , <DHSSR>,
1000, (R3)
(R3),R4

8IC #.R4
¢177767,R4
2%
8177767,.RS

<DHLPR>, <DHLPR>,

2
<DHLPR>, <DHBCR>,
<DHLPR>, <DHSSR >,

;DISABLE ALL INTERRUPTS
;SET UP FOR 4000 ITERATIONS
;SET UP TO ESCAPE TO NEXT TEST

:SET UP TO LOOP WITH DATA ; 3

;MASTER CLEAR INTERFACE
;SET UP POINTER 70 LINE PARAMETER
.(R5)=EXPECTED DATA
sIN LINE PARAMETER REGISTER, 176767
sSET ALL READ/MWRITE BITS
;IN LINE PARAMETER REGISTER
;CLEAR BIT 11
sGET CONTENTS OF LINE PARAMETER
:CLEAR UNMWANTED BITS
iHAS BIT 11 CLEARED

WY 2 sLINE PARAMETER REGI
HLT 3 sLINE PARAMETER REGI
HLT 4 ;LINE PARAMETER REGI
;SET BIT 11

;CLEAR UNWANTED BITS
+WAS BIT 11 SET

;(R5)=EXPECTED DATA IN
;LINE PARAMETER REGISTER, 177767

HLT 2 ;LINE PARAMETER REGI
HLY 3 ;LINE PARAMETER REGI
HLT 4 sLINE PARAMETER REGI




L2 ¥
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BITX=BITX+BITX
B8ITC»BITC.1
LLIST
.ENDC
002000 BITX=BITX+BITX
000012 BITC=BITC.1
175717 CCRBIT=-BITX-1
175767 CLRBIT=CCRBITE177767
175767 BITCLR=CLRBIT
012306 REGTS7? t/DHLPR/ ,\BITX, t/LINE PARAMETER/,\BITC,177767,\BITCLR
;LINE PARAMETER REGISTER DATA TEST
:SET ALL READ/WRITE BITS IN LINE PARAMETER REGISTER TO 1S
i:CLEAR BIT 12
;:VERIFY THAT BIT 12 WAS CLEARED
;RESTORE BIT 12
:VERIFY THAT BIT 12 WAS SET
012306 TS \XN,4000,2¢
012306 012767 000340 165462 T117: MOV 9340,PS ;DISABLE ALL INTERRUPTS
012314 012767 004000 0055.~° MOV 94000, ICOUNT ;SET UP FOR 4000 ITERATIONS
012322 012767 012410 005522 IF N8 MoV 28 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV 4,FREEZL :SET UP TO LOOP WITH DATA : 3
000120 XN=XN+1
012330 012777 004000 005452 MOV #8IT11,30HSCR ;MASTER CLEAR INTERFACE
012336 016703 005452 MOV DHLPR,R3 sSET UP POINTER 70 LINE PARAME "ER
012342 012705 175767 MoV 175767 ,RS ;(RS)=EXPECTED DATA
;IN LINE PARAMETER REGISTER, 175767
012346 012713 177767 MoV #177767,(R3) sSET ALL READ/WRITE BITS
;IN LINE PARAMETER REGISTER
012352 042713 002000 8IC 92000, (R3) ;CLEAR BIT 12
012356 011304 MOV (R3).R4 ;GET CONTENTS OF LINE PARAMETER
IIF NB <>, BIC &.R4 ;CLEAR UNMANTED BITS
012360 020504 cmp R5,R4 ;WAS BIT 12 CLEARED
012362 001401 BEQ 13
012364 .IIF IDN <DHLPR>, <DHLPR>, Y 2 ;1. INE PARAMETER RFGI
STER ERROR
012364 104002 EMT 4
.IIF ION <OHLPR >, <DHBCR>, HT 3 ;L INE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HT 4 sLINE PARAMETER REGI
STER ERROR
012366 052713 002000 1¢: BIS #2000, (R3) ;SET BIT 12
012372 011304 MOV (R3).R4
IIF NB <>, 8IC Q.R4 ;CLEAR UNMANTED BITS
012374 022704 177767 Cup 9177767 R4 iWAS BIT 12 SET
012400 001403 8EQ 2%
012402 012705 177767 MOV 21777617.R5 s (RS)=EXPECTED DATA IN
;:LINE PARAMETER REGISTER, 177767
012406 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;:LINE PARAMETER REGI
STER ERROR
012406 104002 Ent 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER £ERROR
012410 104400 2%: SCOPE
JIF EQ BITX-4
.NLIST
BITX=BITX+BITX
87TC=BITC.1
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.LIST
.ENDC
004000 BITX=BITX+BITX
000013 BITC=BITC+1
173777 CCRBIT=-BITX-1
1737 »7 CLRBIT=CCRBITE177767
173767 BITCLR=CLRBIT
012412 REGTS? t/DHLPR/ ,\BITX,t/LINE PARAMETER/,\BITC,177767,\BITCLR
;LINE PARAMETER REGISTER DATA TEST
;SET ALL READ/WRITE BITS IN LINE PARAMETER REGISTER TO 1S
;CLEAR BIT 13
;VERIFY THAT BIT 13 WAS CLEARED
;:RESTORE BIT 13
:VERIFY THAT BIT 13 WAS SET
012412 TS \XN,4000,2¢
012412 012767 000340 165356 T120: MOV #340,PS ;OISABLE ALL INTERRUPTS
012420 012767 004000 005430 MOV 94000, ICOUNT sSET UP FOR 4000 ITERATIONS
012426 012767 012514 005416 — MoV 2% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MoV ?,FREEZ21 :SET UP TO LOOP WITH DATA i 3
000121 XN=XN+1
012434 012777 004000 005346 MOV #BIT11,8DHSCR :MASTER CLEAR INTERFACE
012442 016703 (05346 MOV OHLPR,R3 ;:SET UP POINTER TO LINE PARAMETER
012446 012705 173767 MoV 9173767 ,RS : (RS5)=EXPECTED DATA
sIN LINE PARAMETER REGISTER, 173767
012452 012713 177767 Mov #177767,(R3) ;SET ALL READ/WRITE BITS
;IN LINE PARAMETER REGISTER
012456 042713 004000 8IC 24000, (R3) ;CLEAR BIT 13
012462 011304 MoV (R3),R4 ;GET CONTENTS OF LINE PARAMETER
JIIF NB <>, 8IC £.Ra ;CLEAR UNWANTED BITS
012464 020504 CHP R5.R4 ;WAS BIT 13 CLEARED
012466 001401 BEQ 13
012470 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE | 'RAMETER REGI
STER ERROR
012470 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 sLINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 :LINE PARAMETER REGI
STER ERROR
012472 052713 004000 1%: BIS #4000, (R3) ;SET BIT 13
012476 011304 MOV (R3),R4
IIF NB <>, BIC ¢.R4 :CLEAR UNWANTED BITS
012500 022704 177767 CHP 2177767,R4 :WAS BIT 13 SET
012504 001403 8EQ 24
012506 012705 177767 MoV £177767.RS i (R5)=EXPECTED DATA IN
sLINE PARAMETER REGISTER, 177767
012512 .IIF IDN <DHLPR>, <DHLPR>, LT 2 :LINE PARAMETER REGI
STER ERROR
012512 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, ALT 3 :LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;:LINE PARAMETER REGI
STER ERROR
012514 104400 24: SCOPE
-IF EQ BITX-4
.NLIST
BITX=BITX+BITX
BITC=BITC+1
.LIST
.ENDC
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010000 BITX=BITX+BITX
000014 BITC=BITC.1
167777 CCRBIT=-BITX 1
167767 CLRBIT=CCRBITE177767
167767 BITCLR=CLRBIT
012516 REGTS7 t/DHLPR/ ,\BITX,t/LINE PARAMETER/,\BITC,177767,\BITCLR
;:LINE PARAMETER REGISTER DATA TEST
;SET ALL READ/WRITE BITS IN LINE PARAMETER REGISTER TO 1S
;:CLEAR BIT 14
sVERIFY THAT BIT 14 WAS CLEARED
;RESTORE BIT 14
;VERIFY THAT BIT 14 WAS SET
012516 TS \XN,4000,2%
012516 012767 000340 165252 Ti21: MOV #340,PS ;:DISABLE ALL INTERRUPTS
012524 012767 004000 005324 MOV #4000, ICOUNT ;:SET UP FOR 4000 ITERATIONS
012532 012767 012620 005312 IF N8 MOV #24 ,ESCAPE +SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,FREEZ1 ;SET UP TO LOOP WITH DATA ]
020122 XN=XN+1
012540 012777 004000 005242 MOV #BIT11,3DHSCR :MASTER CLEAR INTERFACE
012546 016703 005242 MOV DHLPR,R3 ;SET UP POINTER TO LINE PARAMETER
012552 012705 167767 MOV #167767,RS : (RS)=EXPECTED DATA
;IN LINE PARAMETER REGISTER, 167767
012556 012713 177767 MOV #177767,(R3) ;SET ALL READ/WRITE BITS
;IN LINE PARAMETER REGISTER
012562 042713 010000 BIC #10000, (R3) ;CLEAR BIT 14
012566 011304 MoV (R3).R4 ;GET CONTENTS OF LINE PARAMETER
.IIF NB <>, BIC 4,R4 ;:CLEAR UNWANTED BITS
012570 020504 CHP R5,R4 :WAS BIT 14 CLEARED
012572 001401 BEQ 1
012574 .IIF ION <DHLPR>, <DHLPR>, HLT 2 ;:LINE PARAMETER REGI
STER ERROR
012574 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;:LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;:LINE PARAMETER RECI
STER ERROR
012576 052713 010000 1s: BIS #10000,(R3) ;SET BIT 14
012602 011304 MOV (R3),R4
.IIF NB <>, 8IC #,R4 ;CLEAR UNWANTED BITS
012604 022704 177767 cHp #177767,R4 ;WAS BIT 14 SET
012610 001403 BEQ 28
012612 012705 177767 MOV #177767,RS :(RS)=EXPECTED DATA IN
;LINE PARAMETER REGISTER, 177767
012616 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
012616 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
012620 104400 28: SCOPE
.IF €EQ BITX-4
.NLIST
BITX=BITX+BITX
BITC=BITC.1
.LIST
.ENDC
020000 BITX=BITX+BITX
000015 BITC=BITC.1
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SEQ 86

157777 CCRBIT=-BITX-1
157767 CLRBIT=CCRBITEL177767
157767 BITCLR=CLRBIT
012622 REGTS7 t/DHLPR/ ,\BITX,t/LINE PARAMETER/ ,\BITC.177767,\BITCLR
;LINE PARAMETER REGISTER DATA TEST
:SET ALL READ/WRITE BITS IN LINE PARAMETER REGISTER TO 1S
;CLEAR BIT 15
;VERIFY THAT BIT 15 WAS CLEARED
;RESTORE BIT 15
;VERIFY THAT BIT 15 WAS SET
012622 TS \XN,4000,2%
012622 012767 000340 165146 T122: MOV #340,PS ;:DISABLE ALL INTERRUPTS
012630 012767 004000 005220 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
012636 012767 012724 005206 IF N8 MOV #2$,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC HOV #,FREEZL ;:SET UP TO LOOP WITH DATA : 3
000123 XN=XN+1
012644 012777 004000 005136 MOV 48IT11,8DHSCR ;MASTER CLEAR INTERFACE
012652 016703 005136 MOV DHLPR,R3 ;SET UP POINTER TO LINE PARAMETER
012656 012705 157767 MOV #157767,RS :(RS)=EXPECTED DATA
:IN LINE PARAMETER REGISTER, 157767
012662 012713 177767 MOV #177767,(R3) ;SET ALL READ/WRITE BITS
;IN LINE PARAMETER REGISTER
012666 042713 020000 8IC #20000,(R3) ;CLEAR BIT 15
012672 011304 MOV (R3),R4 ;:GET CONTENTS OF LINE PARAMETER
.IIF NB <>, BIC 2.R4 ;:CLEAR UNWANTED BITS
012674 020504 CHP R5,R4 :WAS BIT 15 CLEARED
012676 001401 BEQ 1s
012700 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
012700 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;:LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 :LINE PPRAMETER REGI
STER ERROR
012702 052713 020000 1s: BIS #20000,(R3) ;SET BIT 15
012706 011304 MOV (R3),R4
.IIF NB <>, BIC Q.R4 ;:CLEAR UNWANTED BITS
012710 022704 177767 CcHp #177767,.R4 ;WAS BIT 15 SET
012714 001403 BEQ 28
012716 012705 177767 MOV #177767.RS ; (RS)=EXPECTED DATA IN
;LINE PARAMETER REGISTER, 177767
012722 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 iLINE PARAMETER REGI
STER ERROR
012722 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
012724 104400 2%: SCOPE
.IF EQ BITX-4
.NLIST
BITX=BITX+BITX
BITC=BITC+1
.LIST
.ENDC
040000 BITX=BITX+BITX
000016 BITC=BITC+1
137777 CCRBIT=-BITX 1
137767 CLRBIT=CCRBITE177767
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137767 BITCLR=CLRBIT
012726 REGTS7 t/DHLPR/,\BITX,t/LINE PARRMETER/ ,\BITC,177767,\BITCLR
;:LINE PARAMETER REGISTER DATA TEST
;SET ALL READ/MWRITE BITS IN LINE PARAMETER REGISTER TO 1S
;CLEAR BIT 16
;VERIFY THAT B8IT 16 WAS CLEARED
;RESTORE BIT 16
;VERIFY THAT BIT 16 MWAS SET
012726 TS \XN,4000,2¢
012726 012767 000340 165042 T123: MOV #340,PS ;DISABLE ALL INTERRUPTS
012734 012767 004000 005114 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
012742 012767 013020 005102 IF N8 MOV 924 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,.FREEZ1 :SET UP TO LOOP WITH DATA ; 3
000124 XN=XN+1
012750 012777 004000 005032 MOV #BIT11,8DHSCR :MASTER CLEAR INTERFACE
012756 016703 005032 MoV DHLPR,R3 ;SET UP POINTER TO LINE PARAMETER
012762 012705 137767 MOV #137767.RS ;(R5)=EXPECTED DATA
:IN LINE PARANETER REGISTER, 137767
012766 012713 177767 MOV #177767,(R3) ;SET ALL READ/WRITE BITS
;IN LINE PARAMETER REGISTER
012772 042713 040000 BIC #40000, (R3) ;CLEAR BIT 16
012776 011304 MOV (R3),R4 ;GET CONTENTS OF LINE PARAMETER
IIF NB <>, 8IC &.R4 ;CLEAR UNWANTED BITS
013000 020504 CMP R5.R4 ;WAS BIT 16 CLEARED
013002 001401 BEQ 14
013004 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;:LINE PARAMETER REGI
STER ERROR
013004 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR»>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;sLINE PARAMETER REGI
STER ERROR
013006 052713 040000 1s¢: 8IS #40000, (R3) ;SET BIT 16
013012 011304 MOV (R3) ,R4
IIF NB <>, BIT &,R4 ;CLEAR UNWANTED BITS
013014 022704 177767 CcHP #177767,.R4 ;WAS BIT 16 SET
013020 001403 BEQ 24
013022 012705 177767 MOV #177767.RS ;(RS) EXPECTED DATA IN
;LINE PARAMETER REGISTER, 177767
013026 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 :LINE PARAMETER REGI
STER ERROR
013026 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
013030 104400 2%: SCOPE
JIF EQ BITX-4
.NLIST
BITX=BITX+BITX
BITC=BITC+1
.LIST
.ENDC
100000 BITX=BITX+BITX
000017 BITC=BITC+1
0777117 CCRBIT=-BITX-1
077767 CLRBIT=CCRBITEL77767
077767 BITCLR=CLRBIT
013032 REGTS?T t/DHLPR/,\BITX,t/LINE PARAMETER/,\BITC,177767,\8ITCLR
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;LINE PARAMETER REGISTER DATA TEST

;SET ALL READ/WRITE BITS IN LINE PARAHMETER REGISTER TO 1S
;CLEAR BIT 17

;VERIFY THAT BIT 17 WAS CLEARED

;RESTORE BIT 17

;VERIFY THAT BIT 17 WAS SET

013032 TS \XN,4000,2%
013032 012767 000340 164736 T124: MOV #340,PS ;DISABLE ALL INTERRUPTS
013040 012767 004000 005010 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
013046 012767 013134 004776 IF N8 MOV #24% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV ¢,FREEZ] :SET UP TO LOOP WITH DATA ; 3
000125 XN=XN+1
013054 012777 004000 004726 MOV #B8IT11,80HSCR ;MASTER CLEAR INTERFACE
013062 016703 004726 MOV “HLPR,R3 :SET UP POINTER TO LINE PARAMETER
013066 012705 077767 MOV #77767,RS :(R5)=EXPECTED DATA
:IN LINE PARAMETER REGISIER, 77767
013072 012713 177767 MOV 4177767,(R3) :SET ALL READ/WRITE BITS
:IN LINE PARAMETER REGISTER
013076 042713 100000 BIC 4100000, (R3) ;CLEAR BIT 17
013102 011304 MOV (R3),.R4 ;GET CONTENTS OF LINE PARAMETER
.IIF NB <>, BIC #,.R4 ;CLEAR UNWANTED BITS
013104 020504 CcHMP R5,R4 ;WAS BIT 17 CLEARED
013106 001401 BEQ 1s
013110 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
013110 104002 EMT 2
.IIF IDN <DHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;:LINE PARAMETER REGI
STER ERROR
013112 052713 100000 1s: BIS 4100000, (R3) ;SET BIT 17
013116 011304 MOV (R3),.R4
IIF NB <>, BIC &.R4 ;CLEAP UNWANTED BITS
013120 022704 177767 CMP #177767,R4 ;WAS BIT 17 SET
013124 001403 BEQ 24
013126 012705 177767 MOV #177767,R5 ;(RS)=EXPECTED DATA IN
;LINE PARAMETER REGISTER, 177767
013132 .IIF IDN <DHLPR>, <DHLPR>, HLT 2 ;LINE PARAMETER REGI
STER ERROR
013132 104002 EMT 2
.IIF ION <OHLPR>, <DHBCR>, HLT 3 ;LINE PARAMETER REGI
STER ERROR
.IIF IDN <DHLPR>, <DHSSR>, HLT 4 ;LINE PARAMETER REGI
STER ERROR
013134 104400 2%: SCOPE
IF EQ BITX-4
.NLIST
BITX=BITX+BITX
BITC=BITC+1
LIST
.ENDC
000000 BITX=BITX+BITX
000020 BITC=BITC-.1
325 000000 XBIT=BITX
326 000020 CBIT=BITC
327 000001 BITX=1
328 000000 BITC=0
330 000020 .REPT 16.
331 .NLIST
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SEQ 89

332 CLRBIT= BITX-1
333 BITCLR=CLRBIT
334 .LIST
335 REGTS7 t/DHBCR/ ,\BITX,t/BREAK CONTROL/,\BITC,177777,\BITCLR
336 NLIST
337 BITX=BITX+BITX
338 BITC=BITC+1
339 .LIST
340 .ENDR
177776 CLRBIT=-BITX-1
177776 BITCLR=CLRBIT
013136 REGTS7 t/DHBCR/,\BITX,t/BREAK CONTROL/,\BITC, 177777 ,\BITCLR
;:BREAK CONTROL REGISTER DATA TEST
;:SET ALL READ/WRITE BITS IN BREAK CONTROL REGISTER TO 1S
;CLEAR BIT O
;VERIFY THAT BIT O WAS CLEARED
;RESTORE BIT 0O
s:VERIFY THAT BIT O WAS SET
013136 TS \XN,4000,2%
013136 012767 000340 164632 T125: MOV 9340,PS ;:LISABLE ALL INTERRUPTS
013144 012767 004000 004704 MOV 94000, ICOUNT ;SET UP FOR 4000 ITERATIONS
013152 012767 013240 004672 IF e MOV #2$,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,FREEZ1 :SET UP TO LOOP WITH DATA i 3
000126 XN=XN+1
013160 012777 004000 004622 MOV #81T711,80HSCR ;MASTER CLEAR INTERFACE
013166 016703 004632 MOV OHBCR,R3 ;SET UP POINTER O BREAK CONTROL
013172 012705 177776 MOV 8177776 ,R5 :(R5)=EXPECTED DATA
:IN BREAK CONTROL REGISTER, 177776
013176 012713 1777717 MOV #177777,(R3) sSET ALL READ/WRITE BITS
; IN BREAK CONTROL REGISTER
013202 042713 000001 8IC #1,(R3) ;CLEAR BIT 0
013206 011304 MoV (R3).R4 ;GET CONTENTS OF BREAK CONTROL
.IIF NB <>, 8IC ¢.R4 ;CLEAR UNWANTED BITS
013210 020504 CHP R5.R4 ;WAS BIT O CLEARED
013212 001401 BEQ 13
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
013214 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
013214 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL REG1S5
TER ERROR
013216 052713 000001 1%: BIS #1,(R3) ;SET BIT 0
013222 011304 MOV (R3),R4
IIF NB <>, 8IC 9.R4 ;CLEAR UNWANTED BITS
013224 022704 177777 CHP #177777,R4 :WAS BIT O SET
013230 001403 BEQ 28
013232 012705 177777 MOV #177777.RS :(R5)=EXPECTED DATA 1IN
;BREAK CONTROL REGISTER, 177777
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 :BREAK CONTROL REGIS
TER ERROR
013236 .IIF ION <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
013236 104003 EMT 3
.IIF IDN <DHBCR >, <DHSSR»>, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
013240 104400 2s: SCOPE
000002 BITX=BITX+BITX
000001 BITC=BITC.1
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013242

013242
013242
013250
013256

013264
013272
013276

013302

013306
013312

013314
013316

TER ERROR
013320

TER ERROR
013320

TER ERROR
013322
013326

013330
013334
013336

TER ERROR
013342

TER ERROR
013342

TER ERROR
013344

013346

177775
177775

012767
012767
012767

000127
012777
016703
012705

012713

042713
011304

020504
001401

104003

052713
011304

022704
001403
12705

104003

104400
000004
000002
177773
177773

000340
004000
013344

164526
004600
004566

004000 004516

004526
177775
17717

000002

000002

17717717
17771

CLRBIT=-BITX-1
BITCLR=CLRBIT
REGTS?7 +/DHBCR/,\BITX,t/BREAK CONTROL/,\BITC,177777,\BITCLR

;BREAK CONTROL REGISTER DATA TEST

;SET ALL READ/WRITE BITS IN BREAK CONTROL REGISTER TO 1S
sCLEAR BIT 1

;VERIFY THAT BIT 1 WAS CLEARED

;RESTORE BIT 1

;VERIFY THAT BIT 1 WAS SET

TS \XN,4000,2%

T126: MOV #340,PS ;:OISABLE ALL INTERRUPTS
MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
IF NG MOV #2$ ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
IF NB ©
MOV 4,FREEZ1 iSET UP TO LOOP WITH DATA ]
.ENDC
XN=XN+1
MOV «BIT11,80HSCR ;MASTER CLEAR INTERFACE
MOV OHBCR,R3 :SET UP POINTER TO BREAK CONTROL
MOV #177775,RS ; (R5)=EXPECTED DATA
:IN BREAK CONTROL REGISTER, 17777S
MOV #177777,(R3) sSET ALL READ/MWRITE BITS
; IN BREAK CONTROL REGISTER
8IC #2,(R3) ;:CLEAR BIT 1
MOV (R3),R4 :GET CONTENTS OF BREAK CONTROL
.IIF NB <>, 8IC 4.R4 ;CLEAR UNWANTED BITS
CHP RS.R4 ;WAS BIT 1 CLEARED
BEQ 13
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 :BREAK CONTROL REGIS
.IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;:BREAK CONTROL RECIS
EMT 3
.IIF IDN <DHBCR>, <DHSSR>, T 4 ;BREAK CONTROL REGIS
1s%: 8IS #2,(R3) ;SET BIT 1
MOV (R3),.R4
IIF NB <>, 8IC 4,R4 ;CLEAR UNWANTED BITS
CHP 2177777.,R4 :WAS BIT 1 SET
BEQ 23
MOV #177777,R5 ;(RS)=EXPECTED DATA IN
:BREAK CONTROL REGISTER, 177777
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 :BREAK CONTROL REGIS
.IIF ION <DHBCR>, <DHBCR>, HLT 3 :BREAK CONTROL REGIS
EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BRCAK CONTROL REGIS
2$: SCOPE
BITX=BITX«BITX
BITC=BITC.1
CLRBIT=-BITX-1
BITCLR=CLRBIT
REGTS? +/DHBCR/,\BITXx,t/BREAK CONTROL/,\BITC,177777,\BITCLR

;:BREAK CONTROL REGISTER DATA TEST

:SET ALL READ/MWRITE BITS IN BREAK CONTROL REGISTER TO 1S
;CLEAR BIT 2

;VERIFY THAT BIT 2 WAS CLEARED

;RESTORE BIT 2
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SEQ 91

;VERIFY THAT BIT 2 WAS SET

013346 TS \XN,4000,2%
013346 012767 000340 164422 T127: MOV 0340,PS ;DISABLE ALL INTERRUPTS
013354 012767 004000 004474 MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
013362 012767 013450 004462 IF N8 MOV 02$% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV ¢,FREEZ] ;SET UP TO LOOP WITH DATA : 3
000130 XN=XN+1
013370 012777 004000 004412 MOV #8I7T11,8DHSCR sMASTER CLEAR INTERFACE
013376 016703 004422 MOV DHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
013402 012705 177773 MOV e177773,RS s(RS)=EXPECTED DATA
;IN BREAK CONTROL REGISTER, 177773
013406 012713 177777 MOV #177777,(R3) ;SET ALL READ/MWRITE BITS
;IN BREAK CONTROL REGISTER
013412 042713 000004 8IC 04 ,(R3) ;CLEAR BIT 2
013416 011304 MOV (R3),R4 sGET CONTENTS OF BREAK CONTROL
IIF NB <>, 8IC 9.R4 ;CLEAR UNWANTED BITS
013420 020504 CMP R5,R4 ;WAS BIT 2 CLEARED
013422 001401 BEQ 1
.IIF IDN <DHBCR >, <DHLPR>, HLY 2 ;BREAK CONTROL REGIS
TER ERROR
013424 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
013424 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT ) ;BREAK CONTROL REGIS
TER ERROR
013426 052713 000004 13: 8IS o4 ,(R3) sSET BIT 2
013432 011304 MOV (R3).R4
IIF NB <>, 8IC o,.R4 sCLEAR UNMANTED BITS
013434 022704 177777 cHp 2177777.R4 tWAS BIT 2 SET
013440 001403 BEQ 24
013442 012705 177777 MOV 177777.RS t1(RSI=EXPECTED DATA IN
;BREAK CONTROL REGISTER, 177777
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL RECIS
TER ERROR
C13446 .IIF IDN <DHBCR>, <DHBCR>, HLY 3 ;BREAK CONTROL REGIS
TER ERROR
013446 104003 EMT 3
.IIF IDN <DHBCR> , <DHSSR>, HY 4 ;BREAK CONTROL REGIS
TER ERROR
013450 104400 2%: SCOPE
000010 BITX=BITX+BITX
000003 BITC=BITC+1
177767 CLRBIT=-BITX-1
177767 BITCLR«CLRBIT
013452 REGTS7 +/DMBCR/,\BITX,t/BREAX CONTROL/,\BITC,177777,\BITCLR
;BREAK CONTROL REGISYER DATA TEST
sSET ALL READ/WRITE BITS IN BREAX CONTROL REGISTER TQ 1S5
;CLEAR BIT 3
;sVERIFY THAT BIT 3 WAS CLEARED
sRESTORE BIT 3
sVERIFY THAT BIT 3 WP, SET
013452 TS \XN,4000.2%
013452 012767 000340 164316 T130: MOV 4340,PS ;DISABLE ALL INTERRUPTS
013460 012767 004000 004370 MOV #4000, ICOUNT 1SET UP FOR 4000 ITERATIONS
013466 012767 013554 004356 o MoV 923 ,ESCAPE sSEY UP TO ESCAPE TO NEXT TEST
JIF <>
MOV ,FREEZL iSET UP TQ LOOP WITH DATA : 3
.ENDC
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SEQ 92

000131 XN=XN.1
013474 012777 004000 004306 MOV 98IT11,8DHSCR +MASTER CLEAR INTERFACE
013502 016703 004316 MOV OMBCR,R3 :SET UP POINTER TO BREAK CONTROL
013506 012705 177767 MOV 9177767 ,RS 1(RS)=EXPECTED DATA
s IN BREAK CONTROL REGISTER, 177767
013512 012713 1777177 MOV 0177777.(R3) $SET ALL READ/WRITE BITS
:IN BREAK CONTROL REGISTER
013516 042713 000010 8IC 910,(RY) ;CLEAR BIT 3
015522 011304 MOV (R3).R4 ;:GET CONTENTS OF BREAK CONTROL
IIF NB <>, 8IC ¢.R4 ;CLEAR UNWANTED BITS
013524 020504 CcHP RS.R4 ;WAS BIT 3 CLEARED
013526 001401 11 IDNBEQ 1% CR> . <OHLPR
. <DHBCR>, <DHLPR >, HLT 2 ;BREAK NTR R
TER ERROR EAK CONTROL REGIS
(13} .IIF IDN <DHBCR>, <DHBCR>, HLY 3 ;BREAK CONTROL REGIS
TER ERROR
013530 104003 EMT 3
IIF IDN <DHBCR>, <DHSSR>, HLT 4 sBREAK CONTROL REGIS
TER ERROR
013532 052713 000010 1s: 8IS #10,(R3) ;:SET BIT 3
01353¢ 011304 MOV (R3).R4
LIIF NB o, 8IC ?.R4 ;CLEAR UNWANTED BITS
013540 022704 177777 (of 1 9177777.R4 ;WAS BIT 3 SET
013544 001403 B8EQ 2%
013546 012705 177777 MOV 8177777.RS ; (RS)=EXPECTED DATA IN
;:BREAK CONTROL REGISTER, 177777
.IIF IDN <OHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
013552 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
013552 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL RCGIS
TER ERROR
013554 104400 2%: SCOPE
000020 BITX=BITX+BITX
000004 BITC=BITC.1
177757 CLRBIT=-BITX-1
177757 BITCLR=CLRBIT
013556 REG157 +/DHBCR/ ,“BITX,t/BREAK CONTROL/,\BITC,177777.\BITCLR
;BREAKX CONTROL REGISTER DATA TEST
:SET ALL READ/WRITE BITS IN BREAK CONTROL REGISTER TO 1S
sCLEAR BIT 4
;VERIFY THAT BIT 4 WAS CLEARED
;RESTORE BIT &
:VERIFY THAT BIT 4 WAS SET
013556 TS \XN,4000,2%
013556 012767 000340 164212 T131: MOV 0340,PS ;DISABLE ALL INTERRUPTS
013564 nN12767 004000 004264 MoV #4000, ICQUNT ;SET UP FOR 4000 ITERATIONS
013572 412767 012660 004252 - MoV 023 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
JIF <>
MOV ®,FREEZL :SET UP TO LOOP WITH DATA i 3
.ENDC
000132 XN=XN+1
013600 012777 004000 004202 MoV 9BIT11,80HSCR iMASTER CLEAR INTERFACE
013606 016703 004212 MOV DHBCR,R3 $SET UP POINTER TO BREAK CONTROL
013612 012705 177757 MoV #177757,RS :(RS)=EXPECTED DATA
1IN BREAK CONTROL REGISTER, 177757
013616 012713 1777717 MOV 9177777,(R3) :SET ALL READ/MRITE BITS
1IN BREAK CONTROL REGISTER
013622 042713 000020 8IC %20, (R3) 1CLEAR BIT 4
013626 011304 MOV (R3),Ra ;:GET CONTENTS OF BREAK CONTROL
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SEQ 93

.IIF NB o, 8IC ®,R4 ;:CLEAR UNWANTED BITS
013630 020504 cMP R5.R4 :WAS BIT 4 CLEARED
013632 001401 1T IDNBEQ 13 BCR
. <DH >, <DHLPR>, HLT 2 ;sBREAK G
TER ERROR BHEAK CONTROL REGIS
013634 .IIF IDN <DMBCR>, <DHBCR >, HLT 3 ;BREAK
TER ERROR BREAK CONTROL REGIS
013634 104003 I IDNEHT 3D BCR> . <D
. <DH| >, <DHSSR~, HLT 4 ;BREAK N7
TER ERROR BREAK CCNTROL REGIS
013636 052713 000020 18: BIS 420,(R3) ;SET BIT 4
013642 011304 MOV (<3).R4
IIF NB <>, BIC 2,R4 ;:CLEAR UNWANTED BITS
013644 022704 177777 (of [ 2177777,R4 ;WAS BIT 4 SET
013650 001403 BEQG 2s
013652 012705 1777717 MOV 8177777,.RS ; (RS)ZEXPECTED DATA 1IN
;BREAK CONTROL REGISTER, 177777
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
013656 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
013656 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HT 4 ;BREAK CONTROL REGIS
TER ERROR
013660 104400 2%: SCOPE
000040 BITX=BITX+BITX
000005 BITC=BITC.1
177737 CLRBIT=-BITX-1
177737 BITCLR=CLRBITY
013662 REGTS7 t/DHBCR/ ,\BITX,t/BREAK CONTROL/,\BITC,177777.\BITCLR
;:BREAK CONTROL REGISTER DATA TEST
sSET ALL READ/WRITE BITS IN BREAKX CONTROL REGISTER TO 1S
;CLEAR BIT S
;VERIFY THAT BIT 5 WAS CLEARED
;RESTORE BIT S
sVERIFY THAT BIT S5 WAS SET
013662 TS \XN,4000,2¢
013662 012767 000340 164106 T132: MoV 0340,PS sDISABLE ALL INTERRUPTS
013670 012767 004000 004160 MOV #4000, ICOUNT sSET UP FOR 4000 ITERATIONS
013676 012767 01376 004146 IF N8 MOV 423 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
ENOC MOV @,FREE2) :SET UP TO LOOP WITH DATA ;3
000133 XN=XN+1
C13704 012777 004200 004076 MoV #B81IT11,8DHSCR sMASTER CLEAR INTERFACE
013712 016703 004106 MoV DHBCR,R3 :SET UP POINTER TO BREAX CONTROL
013716 012705 177737 MOV #177737,RS ; (RS)I=EXPECTED DATA
:IN BREAK CONTROL REGISTER, 177737
013722 012713 1777717 MoV #177777,.(R3) ;SET ALL READ/MWRITE BITS
;IN BREAK CONTROL REGISTER
013726 042713 000040 81C 40, (R3) ;CLEAR BIN S
013732 011304 HOV (R3),.R4 ;:GET CONTENTS OF BREAK CONTROL
.IIF NB <>, 8IC %,R4 ;CLEAR UNWANTED BITS
013734 020504 CH¢e RS ,.R4 ;:WAS BIT S CLEARED
013736 001401 BEQ 14
.IIF IDN <DHBCR>, <DHLPR>, HL.T 2 ;BREAK CONTROL REGIS
TER EXROR
013740 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
013740 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
013742 052713 000040 1%: B81S 440, (R3) ;SET BIT S
013746 (11304 MOV (R3),R4
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TER ERROR

JIF NB <>, 8IC #,R4 ;CLEAR UNWANTED BITS
013750 022704 177777 CHP #177777,R4 ;WAS BIT S SET
013754 001403 8EQ 24
013756 012705 177777 MOV 2177777,RS ;(RS)=EXPECTED DATA IN
sBREAK CONTROL REGISTER, 177777
JIIF ION <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
013762 .IIF IDN <DHBCR >, <DHBCR>, HLT 3 :BPFAK CONTROL REGIS
TER ERROR
013762 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>»>, HLT 4 sBREAK CONTROL REGIS
TER ERROR
013764 104400 2%: SCOPE
000100 BITX=BITX+BITX
000006 8ITC=BITC+1
177677 CLRBIT=-BITX-1
177677 BITCLR=CLRBIT
013766 REGTS? t/DHBFR/,\BITX,t/BREAK CONTROL/,\BITC,177777,\BITCLR
;BREAK CONTROL REGISTER DATA TEST
;SET ALL READ/WRITE BITS IN BREAK CONTROL REGISTER TQ 1S
sCLEAR BIT 6
;VERIFY THAT BIT 6 WAS CLEARED
sRESTORE BIT 6
:VERIFY THAT BIT 6 WAS SET
013766 TS \XN,4000,2¢
013766 012767 000340 164002 T133: MOV 9340,PS sDISABLE ALL INTERRLPTS
013774 012767 004000 004054 MoV ¢4000, ICOUNT sSET UP FOR 4000 ITERATIONS
0140G2 012767 ©14070 004042 IF e MoY 924 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,.FREEZ21 :SET UP TO LOOP MITH DATA : 3
000134 XN=XN+1
014010 012777 004000 003772 MoV 0B8IT11,.8DHSCR sMASTER CLEAR INTERFACE
014016 016703 004002 HOV DHBCR,R3 sSET UP POINTER TO BREAK CONTROL
014022 012705 177677 MOV #177677,RS s (RS)=EXPECTED DATA
;IN BREAK CONTROL REGISTER, 177677
014026 012713 1717777 MOV 81777177, (RY) +SET ALL READ/MRITE BITS
;1IN BREAK CONTROL REGISTER
014032 042713 000100 B8IC €100,(R3) .CLEAR BIT 6
014036 011304 MOV (R3),R4 ;:GET CONTENTS OF BREAX CONTROL
JIIF N8 <>, 81c¢ 4,R4 sCLEAR UNMANTED BITS
014040 020504 CHP RS.R4 ;:WAS BIT 6 CLEARED
014042 001401 8EQ 1s
LIIF ION <DHBCR>, <DHLPR>, HT 2 ;BREAK CONTROL REGIS
TER ERROR
014044 .IIF ION <DHBCR>, <DHBCR >, HT 3 ;BREAK CONTROL REGIS
TER ERROR
014044 104003 enT 3
.IIF IDN <DHBCR >, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
014046 052713 000100 1s: 81S #100,(R3) ;SET BIT 6
014052 011304 MOV (R3),R4
.IIF N8B <>, 8IC 9,R4 ;:CLEAR UNWANTED BITS
014054 022704 177777 cHp 8177777,R8 :WAS BIT 6 SET
014060 001403 B8EQ 24
014062 012705 177777 MOV 9177777.RS s(RS)=EXPECTED DATA IN
sBREAK CONTROL REGISTER, 177777
.IIF IDN <DHBCR>, <DHLPR>, HT 2 ;:BREAK CONTROL REGIS
TER ERROR
14066 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 :BREAK CONTROL REGIS
[ TER ERROR
o 344066104003 &M %
.TIF IDN <DHBCR>, <DHSSR>, HLY 4 ;BREAK CONTROL REGIS




CZOHA D MACRO V04.00 27-JUN-85 !2:46.01 PAGE 17-73

014070

014072

014072
014072
014100
014106

014114
014122
014126

014132

014136
014142

014144
014146

TER ERROR
014150

TER ERROR
014150

TER ERROR
014152
014156

014160
014164
014166

TER ERROR
014172

TER ERROR
014172

TER ERROR
014174

014176

104400
000200
000007
177577
177577

012767
012767
012767

000135
012777
016703
012705

012713

042713
011304

020504
001401

104003

052713
011304

022704
001403
012705

104003

104400
000400
000010
17713717
1773717

000340
004000
014174

004000
003676
177577
177777

000200

000200

177717
1777717

163676
003750
003736

003666

24: SCOPE
BITX=BITX+BITX
BITC=BITC.1

CLRBIT=-BITX-1
BITCLR=CLRBIT
REGTS?

SEQ 95

t/0HBCR/ ,\BITX, t/BREAK CONTROL/,\BITC,177777,\BITCLR

;BREAK CONTROL REGISTER DATA TEST
1SET ALL READ/MWRITE BITS IN BREAK CONTROL REGISTER TO 1S
;CLEAR BIT 7

:VERIFY THAT BIT 7 WAS CLEARED

;RESTORE BIT 7

;VERIFY THAT BIT 7 WAS SET

TS \XN,4000,2%

T134: MOV
MOV
MOV

JIFNB o

MoV
.ENDC
XN=XN+1

MoV

MOV

MOV

MOV

8IC
MoV
.IIF NB <>,
cMp
BEQ
.IIF IDN

.IIF IDN

EMT
.IIF IDN

1s: 8IS
MOV
.IIF NB o,
cHp
BEQ
MOV

.IIF IDN
.IIF IDON

EMT
.IIF IDN

24: SCOPE
BITX=BITX+BITX
BITC=BITC.1

CLRBIT=-BITX-1
BITCLR=CLRBIT
REGTS?

4340,PS
#4000, ICOUNT
24 ,ESCAPE

8,FREEZL
&BIT11,8DHSCR
OHBCR,R3
9177577,R5
9177777,.(R3)
$200,(R3)
(R3).R4

BIC o,R4
RS,.R4

1s

<DHBCR>, <DHLPR>,

<DHBCR>, <DHBCR>,

3

<DHBCR>, <DHSSR>,
£200,(R3)
(R3),R4

BIC 2.R4
*177777.R8

24

2177777.R5
<DHBCR>, <DHLPR>,

<DHBCR>, <DHBCR>,

3
<DHBCR>, <DHSSR»>,

;OISABLE ALL INTERRUPTS
:SET UP FOR 4000 ITERATIONS
+SET UP TQ ESCAPE TO NEXT TEST

;:SET UP TO LOOP WITH DATA : 3

:MASTER CLEAR INTERFACE
;SET UP POINTER TO BREAK CONTROL
:(RS)=EXPECTED DATA
:IN BREAK CONTROL REGISTER, 177577
;SET ALL READ/MRITE BITS
sIN BREAK CONTROL REGISTER
sCLEAR BIT 7
;:GET CONTENTS OF BREAK CONTROL
;CLEAR UNWANTED BITS
;MAS BIT 7 CLEARED

HLT 2 ;:BREAK CONTROL REGIS
HT 3 ;BREAK CONTROL REGIS
HLT 4 :BREAK CONTROL REGIS
:SET BIT 7

sCLEAR UNWANTED BITS
;WAS BIT 7 SET

+(RS)=EXPECTED OATA IN
;:BREAK CONTROL REGISTER, 177777

RLT 2 :BREAK CONTROL REGIS
HLT 3 :BREAK CONTROL REGIS
HLT 4 ;BREAK CONTROL REGIS

t/DHBCR/ ,\BITX, t+/BREAK CONTROL/,\BITC,177777,\BITCLR

;BREAK CONTROL REGISTER DATA TEST
1SET ALL READ/WRITE BITS IN BREAK CONTROL REGISTER TO 1S
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;CLEAR BIT 10

{VERIFY THAT BIT 10 WAS CLEARED

;RESTORE BIT 10

s VERIFY THAT BIT 10 WAS SET

5EQ 96

014176 TS \XN,4000,2%
014176 012767 000340 163572 T135: MOV 4340,PS ;DISABLE ALL INTERRUPTS
014204 012767 004000 003644 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
014212 012767 014300 003632 F N MOV 724 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,FREEZ1 ;SET UP TO LOOP WITH DATA ; 3
000136 XN=XN+1
014220 012777 004000 003562 MOV 48IT11,8DHSCR ;sMASTER CLEAR INTERFACE
014226 016703 003572 MOV DHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
014232 012705 177377 MOV 9177377,R5 (RS )=EXPECTED DATA
;IN BREAK CONTROL REGISTER, 177377
014236 012713 177777 MOV 9177777, (R3) ;SET ALL READ/K™"TE BITS
;IN BREAK CONTROL REGISTER
014242 042713 000400 BIC 9400,(R3) ;sCLEAR BIT 10
014246 011304 MOV (R3),R4 sGET CONTENTS OF BREAK CONTROL
LIIF NB <>, 8IC 9.R4 ;:CLEAR UNMANTED BITS
014250 020504 cMe R5.R4 :WAS BIT 10 CLEARED
014252 001401 BEQ 14
.IIF IDN <DHBCR>, <DHLPR>, HT ;BREAX CONTROL REGIS
TER ERROR
014254 .IIF IDN <DHBCR >, <DHBCR>, WY 3 ;BREAX CONTROL REGIS
TER ERROR
014254 104003 EmMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
014256 052713 000400 1s: B81S 2400,(R3) sSET BIT 10
014262 011304 MOV (R3).R4
IIF N8 o, BIC o,R4 :CLEAR UNMANTED BITS
014264 022704 177777 cHp 8177777.R4 sWAS BIT 10 SET
014270 001403 BEQ 24
014272 012705 177777 MoV 2177777.RS :1(RS)=EXPECTED DATA IN
;BRFAK CONTROL REGISTER, 177777
.IIF IDN <DHBCR>, <DHLPR>, HT 2 ;BREAK CONTROL RECIS
TER ERROR
014276 .IIF IDN <DHBCR> , <DHBCR>, HY 3 :BREAK CONTROL REG.S
TER ERROR
014276 104003 EMT 3
.IIF IDN <DHBCR >, <DHSSR>, HT 4 ;BREAK CONTROL REGIS
TER ERROR
014300 104400 24: SCOPE
001000 BITX=BITX+BITX
000011 BITC=BITC+}
176777 CLRBIT»-BITX-1
176777 BITCLR=CLRBIT
014302 REGTS7 ¢/DHBCR/ ,\BITX,t/BREAK CONTROL/,\BITC,177777.\BITCLR
- ;BREAK CONTROL REGISTER DATA TEST
;SET ALL READ/WRITE BITS IN BREAK CONTROL REGISTER TO 1S
;CLEAR BIT 11
;VERIFY THAT BIT 11 WAS CLEARED
;RESTORE 817 11
;VERIFY THAT BIT 11 WAS SET
014302 TS \XN,4000,2%
014302 012767 000340 163466 T136: MOV 4340,PS :DISABLE ALL INTERRUPTS
014310 032767 004000 003540 MOV #4000, ICOUNT 1SET UP FOR 4000 ITERATIONS
014316 012767 014404 003526 = MOV 924 ,ESCAPE $SET UP TO ESCAPE TO NEXT TEST
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SEQ 97

IF NB o
ENDC MOV #,FREEZ1 ;SET UP TO LOOP WITH DATA ; 3
000137 XN=XN+1
014324 012777 004000 003456 MOV #BIT11,80HSCR :MASTER CLEAR INTERFACE
014332 016703 003466 MOV DHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
014336 012705 176777 MOV 9176777,R5 ;: (RS)sEXPECTED DATA
; IN BREAK CONTROL REGISTER, 176777
014342 012713 1777717 MOV 9177777,(R3) :SET ALL READ/MWRITE BITS
; IN BREAK CONTROL REGISTER
014346 042713 001000 BIC #1000, (R3) ;CLEAR BIT 11
014352 011304 MOV (R3),R4 ;GET CONTENTS OF BREAK CONTROL
IIF NB <o, BIC ,R4 ;CLEAR UNWANTED BITS
014354 020504 CMP RS5.R4 ;WAS BIT 11 CLEARED
014356 001401 BEQ 14
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERRGR
014360 .IIF IDN <DHBCR>, <DHBCR»>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
014360 104003 EMT 3
.IIF IDN <DHBCR >, <DHSSR>, HLT 4 ;BREAK CONTROL RECIS
TER ERROR
014362 052713 001000 1s: BIS #1000, (R3) ;SET BIT 11
014366 011304 MOV (R3),.R4
.IIF NB <>, BIC 2,R4 ;CLEAR UNWANTED BITS
014370 022704 177777 cMP 0177777,R4 ;WAS BIT 11 SET
014374 001403 BEQ 24
014376 012705 177777 MOV Q177777,RS :(RS)=EXPECTED DATA IN
;BREAK CONTROL REGISTER, 177777
.IIF IDN <DHBCR >, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
014402 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;:BREAK CONTROL REGIS
TER ERROR
014402 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
014404 104400 24: SCOPE
002000 BITX=BITX+BITX
000012 BITC=BITC.1
175777 CLRBIT=-BITX-1
1757717 BITCLR=CLRBIT
014406 REGTS7?7 +/DHBCR’ ,\BITX,t/BRERK CONTROL/,.\BITC,177777,.\BITCLR
;BREAK  INTROL REGISTER DATA TEST
;SET AL READ/WRITE BITS IN BREAK CONTROL REGISTER TO 1S
;CLEAR BIT 12
;VERIFY THAT BIT 12 WAS CLEARED
;RESTORE BIT 12
;VERIFY THAT BIT 12 WAS SET
014406 TS \XN,4000,2¢
014406 012767 000340 163362 T137: MOV #340,PS ;DISABLE ALL INTERRUPTS
013414 012767 004000 003434 MOV #4000, ICOUNT sSET UP FOF 4000 ITERATIONS
014422 012767 014510 003422 MOV 024 ,ESCAPE sSET UP TO ESCAPE TO NEXT TEST
IF NB o
MOV 9,FREEZL ;SET UP TQO LOOP WITH DATA : 3
.ENDC
000140 XN=XN+1
014430 012777 004000 003352 MOV #B8IT11,80HSCR :MASTER CLEAR INTERFACE
014436 016703 003362 MOV OHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
014442 012705 175777 MOV #175777.R5 ;(RS)=EXPECTED DATA
;IN BREAK CONTROL REGISTER, 175777
014446 012713 1777717 MOV #177777,(R3) ;SET ALL READ/HRITE BITS
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;IN BREAK CONTROL REGISTER

SEQ 98

014452 042713 002000 8IC #2000, (R3) ;CLEAR BIT 12
014456 011304 MOV (R3),R3 ;:GET CONTENTS OF BREAK CONTROL
.IIF NB <o, 8IC #.R4 :CLEAR UNWANTED BITS
014460 020504 CcMP R5.R4 ;WAS BIT 12 CLEARED
014462 001401 BEQ 1
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
014464 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
014464 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
014466 052713 002000 1s: BIS #2000, (R3) ;SET BIT 12
014472 011304 iy (R3).R4
JIIF NB <o, BIC #,R4 ; CLEAR UNWANTED BITS
014474 022704 177777 (o, [ #177777.R4 ;WAS BIT 12 SET
014500 001403 BEQ 2%
014502 012705 177777 MoV #177777,R5 ; (RS)=EXPECTED DATA IN
;BREAK CONTROL REGISTER, 177777
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
014506 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTPOL REGIS
TER ERROR
014506 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT .} ;BREAK CONTROL REGIS
TER ERROR
014510 104400 2% : SCOPE
004000 BITX=BITX+BITX
000013 BITC=BITC-+1
173777 CLRBIT=-BITX-1
17371717 BITCLR=CLRBIT
014512 REGTS? t/DHBCR/,\BITX,t/BREAK CONTROL/,\BITC,177777,\BITCLR
;BREAK CONTROL REGISTER DATA TEST
;SET ALL READ/WRITE BITS IN BREAK CONTROL REGISTER TO 1S
;CLEAR BIT 13
;VERIFY THAT BIT 13 WAS CLEARED
sRESTORE BIT 13
;VERIFY THAT BIT 13 WAS SET
014512 TS \XN,4000,2$
014512 012767 000340 163256 T140: MOV 9340,PS ;DISABLE ALL INTERRUPTS
014520 012767 004000 003330 MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
014526 012767 014614 003316 IF N MOV 924 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
MOV #,FREEZ1 :SET UP TO LOOP WITH DATA : 3
.ENDC
000141 XN=XN+1
014534 012777 004000 003246 MOV #8IT11,8DHSCR ;sMASTER CLEAR INTERFACE
014542 016703 003256 MOV DHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
014546 012705 173777 MOV #173777,RS ;(R5)=EXPECTED DATA
:IN BREAK CONTROL REGISTER, 173777
014552 012713 17771717 MOV #177777,(R3) ;SET ALL READ/WRITE BITS
;IN BREAK CONTROL REGISTER
014556 042713 004000 8IC #4000, (R3) ;CLEAR BIT 13
014562 011304 MOV (R3).R4 :GET CONTENTS OF BREAK CONTROL
.IIF NB <>, 8IC #.R4 ;CLEAR UNWANTED BITS
014564 020504 cMP R5,.R4 ;WAS BIT 13 CLEARED
014566 001401 BEQ 13
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
- 014570 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
"w-1ER-ERROR
014570 104003 EMT 3
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TER ERROR
014572
014576

014600
014604
014606

TER ERROR

014612
TER ERROR
014612

TER ERROR
014614

014616

014616
014616
014624
014632

014640
014646
014652

014656

014662
014666

014670
014672

TER ERROR

014674
TER ERROR
014674

TER ERROR
014676
014702

014704
014710
014712

e

052713
011304

022704
001403
012705

104003

104400
010000
000014
167777
167777

012767
012767
012767

000142
012777
016703
012705

012713

042713
011304

020504
001401

104003

052713
011304

022704
001403
012705

004000

1777717
1777717

000340
004000
014720

004000
003152
167777
1777717

010000

010000

1mrnmn
1rnn

163152
003224
003212

003142

.IIF IDN

13: 8IS
MOV
IIF NB <>,
cHp
BEQ
MOV

.IIF IDN
.IIF IDN

EMT
.IIF IDN

2%: SCOPE
BITX=BITX+BITX
BITC=BITC+1

CLRBIT=-BITX-1
BITCLR=CLRBIT
REGTS?

<DHBCR >, <DHSSR>,

#4000, (R3)
(R3).R4

8IC #.R4
#177777.R4
24
#177777.R5

<DHBCR>, <DHLPR>,
<DHBCR>, <DHBCR>,

3
<DHBCR>, <DHSSR>,

t/DHBCR/ ,\BITX, t/BREAK CONTROL/,\BITC,177777 ,\BITCLR

;BREAK CONTROL REGISTER DATA TEST
;SET ALL READ/WRITE BITS IN BREAK CONTROL REGISTER TO 1S

;CLEAR BIT 14

;VERIFY THAT BIT 14 WAS CLEARED

;:RESTORE BIT 14

;VERIFY THAT BIT 14 WAS SET

TS \XN,4000,2¢

T141: MOV #340,PS
MOV #4000, ICOUNT
MOV #2% ,ESCAPE
JIF NB <
MOV #,FREEZ1
.ENDC
XN=XN+1
MOV oBIT11,8DHSCR
MOV DHBCR,R3
MOV #167777.RS
MOV #177777,(R3)
BIC #10000,(R3)
MOV (R3),R4
IIF NB <>, BIC #.Ra
CcMP R5,.R4
BEQ 1
.IIF IDN <DHBCR>, <DHLPR>,
.IIF IDN <DHBCR>, <DHBCR>,
EMT 3
.IIF IDN <DHBCR>, <DHSSR>,
1%: BIS #10000, (R3)
MoV (R3),R4
JIIF NB <>, BIC %#.R4
CHP #177777,R4
BEQ 24
MOV #177777,R5
rE TNt BHBER < DHEPR >

[S—
TER ERROR

SEQ 99

HLT 4
;SET BIT 13

;CLEAR UNWANTED BITS
;WAS BIT 13 SET

;(R5)=EXPECTED DATA IN
:BREAK CONTROL REGISTER, 177777

;:BREAK CONTROL REGIS

HLT 2 ;BREAK CONTROL REGIS
HLT 3 :BREAK CONTROL REGIS
HLT 4 ;BREAK CONTROL REGIS

:DISABLE ALL INTERRUPTS
:SET UP FOR 4000 ITERATIONS
;SET UP TO ESCAPE TO NEXT TEST

:SET UP TO LOOP WITH DATA i 3

iMASTER CLEAR INTERFACE
;:SET UP POINTER TO BREAK CONTROL
;(R5)=EXPECTED DATA
: IN BREAK CONTROL REGISTER, 167777
;:SET ALL READ/WRITE BITS
;IN BREAK CONTROL REGISTER
:CLEAR BIT 14
:GET CONTENTS OF BREAK CONTROL
;CLEAR UNWANTED BITS
;WAS BIT 14 CLEARED

HLT 2 :BREAK CONTROL REGIS
HLT 3 ;:BREAK CONTROL REGIS
HLT 4 ;BREAK CONTROL REGIS
;SET BIT 14

;CLEAR UNWANTED BITS
;WAS BIT 14 SET

;(R5)=EXPECTED DATA IN
sBREAK CONTROL REGISTER, 177777

Lg | ™ | [-4
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014716
TER ERROR
014716

TER ERROR
014720

014722

014722
014722
014730
014736

014744
014752
014756

014762

014766
014772

014774
014776

TER ERROR

015000
TER ERROR
015000

TER ERROR
015002
015006

015010
015014
015016

TER ERROR
015022

TER ERROR
015022

TER ERROR
015024

104003

104400
020000
00115
1577717
157777

012767
012767
012767

000143
012777
016703
012705

012713

042713
011304

020504
001401

104003

052713
011304

022704
001403
012705

104003

104400
040000
000016
137171

122222

SEQ 100

.1IF IDN <DHBCR> , <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 :BREAK CONTROL REGIS
2%: SCOPE
BITX=BITX+BITX
BITC=BITC,1
CLRBIT=-BITX-1
BITCLR=CLRBIT
REGTS?7 t/DHBCR/,\BITX,t/BREAK CONTROL.,,\BITC,177777,\BITCLR
sBREAK CONTROL REGISTER DATA TEST
;SET ALL READ/WRITE BITS IN BREAK CONTROL REGISTER TO 1S
;CLEAR BIT 15
;VERIFY THAT BIT 15 WAS CLEARED
;RESTORE BIT 15
;VERIFY THAT BIT 15 WAS SET
TS \XN,4000,2$
000340 163C46 Ti42: MoV 4340,PS ;:DISABLE ALL INTERRUPTS
004000 003120 MOV 44000, ICOUNT ;SET UP FOR 4000 ITERATIONS
015024 003106 IF N8 Hov %42%,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
JIF <>
MOV & ,FREEZ] +SET UP TO LOOP WITH DATA i 3
.ENDC
XN=XN+1
004000 003036 MoV #8IT11,80HSCR sMASTER CLEAR INTERFACE
003046 MOV DHBCR,R3 :SET UP POINTER TO BREAK CONTROL
157717 MOV #157777,RS ; (RS)=EXPECTED DATA
;:IN BREAK CONTROL REGISTER, 157777
177717 MoV #177777,(R3) :SET ALL READ/WRITE BITS
:IN BREAK CONTROL REGISTER
020000 BIC #20000,(R3) ;:CLEAR BIT 15
MoV (R3).R4 ;:GET CONTENTS OF BREAK CONTROL
.IIF NB <>, 8IC #,R4 :CLEAR UNWANTED BITS
ggg g?.R4 ;WAS BIT 15 CLEARED
.1IF IDN <DHBCR>, <DHLPR>, HLT 2 ;:BREAK CONTROL REGIS
.IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;:BREAK CONTROL REGIS
EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
020000 1s: 81S #20000, (R3) ;SET BIT 1S
MOV (R3),R4
IIF NB <>, 8IC %,R4 :CLEAR UNWANTED BITS
177717 gHP #177777.R4 ;WAS BIT 15 SET
EQ 28
1771717 MOV #177777.R5 ; (RS)=EXPECTED DATA IN
;BREAK CONTROL REGISTER, 177777
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 1BREAK CONTROL REGIS
.IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
EMT 3
.IIF IDN <DHBCR>, <DH:3K>, HLT 4 ;BREAK CONTROL REGIS
2%: SCOPE
BITX-BITX+BITX
BITC=BITC+1
CLRBIT=—BIT¥11
SIIGLRaGERS:

015026

REGTS?

?/D;éCR/.\BITX.f/BREAK CONTROL/,\BITC,177777,\BITCLR
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;:BREAK CONTROL REGISTER DATA TEST

;SET ALL READ/WRITE BITS IN BREAK CONTROL REGISTER TO 1S
;CLEAR BIT 16

;VERIFY THAT BIT 16 WAS CLEARED

;RESTORE BIT 16

;VERIFY THAT BIT 16 WAS SET

015026 TS \XN,4000,2%
015026 012767 000340 162742 T143: MOV #340,PS ;DISABLE ALL INTERRUPTS
015034 012767 004000 003014 MoV #4009, ICOUNT ;SET UP FOR 4000 ITERATIONS
015042 012767 015130 003002 — MOV #2$,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
) <>
ENDC Mov % ,FREEZ1 :SET UP TO LOOP WITH DATA i 3
000144 XN=XN+1
015050 012777 004000 002732 MOV #8IT11,30HSCR ;MASTER CLEAR INTERFACE
015056 016703 002742 MOV DHBCR,R3 :SET UP POINTER TO BREAK CONTROL
015062 012705 137777 MoV #137777,RS :(RS)=EXPECTED DATA
: IN BREAK CONTROL REGISTER, 137777
015066 012713 177777 Mov #177777,(R3) ;SET ALL READ/WRITE BITS
; IN BREAK CONTROL REGISTER
015072 042713 040000 8IC #40000,(R3) ;CLEAR BIT 16
015076 011304 MOV (R3),R4 ;GET CONTENTS OF BREAK CONTROL
IIF NB <>, 8IC #,R4 ;CLEAR UNWANTED BITS
015100 020504 cHP R5.R4 :WAS BIT 16 CLEARED
015102 001401 BEQ 1s
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;:BREAK CONTROL REGIS
TER ERROR
015104 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 ;BREAK CONTROL REGIS
TER ERROR
015104 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL RECIS
TER ERROR
015106 052713 040000 1s: BIS #40000, (R3) :SET BIT 16
015112 011304 MoV (R3),R4
IIF NB <>, 8IC %,R4 ;:CLEAR UNWANTED BITS
015114 022704 177777 cHp #177777,R4 ;WAS BIT 16 SET
015120 001403 BEQ 23
015122 012705 177777 MoV #177777,RS ; (RS)=EXPECTED DATA IN
:BREAK CONTROL REGISTER, 177777
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
015126 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 1BREAK CONTROL REGIS
TER ERROR
015126 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR >, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
015130 104400 2%: SCOPE
100000 BITX=BITX+BITX
000017 BITC=BITC.1
077777 CLRBIT=-BITX-1
0777177 BITCLR=CLRBIT
015132 REGTS7 t/DHBCR/ ,\BITX,t/BREAK CONTROL/,\BITC,177777,\BITCLR
;BREAK CONTROL REGISTER DATA TEST
:SET ALL READ/WRITE BITS IN BREAK CONTROL REGISTER TO 1S
;:CLEAR BIV 17
;VERIFY THAT BIT 17 WAS CLEARED
;RESTORE BIT 17
;VERIFY THAT BIT 17 WAS SET
015132 TS \XN,4000.2¢
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SEQ 102

015132 012767 000340 162636 T144: nov #340,PS ;DISABLE ALL INTERRUPTS
015140 012767 004000 002710 Mov 24000, ICOUNT ;3ET UP FOR 4000 ITERATIONS
015146 012767 015234 002676 IF Ne Mov #2% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
3 <>
ENDC MoV ¢,FREEZ) ;SET UP TO LOOP WITH DATA i 3
000145 XN=XN+1
015154 012777 004000 002626 MOV #B8IT11,8DHSCR :MASTER CLEAR INTERFACE
015162 016703 002636 MOV DHBCR,R3 ;SET UP POINTER TO BREAK CONTROL
015166 012705 077777 MOV 477777 .,RS ; (RS)=EXPECTED DATA
:IN BREAK CON,ROL REGISTER, 77777
015172 012713 177777 MOV #177777,(R3) ;SET ALL READ/WRITE BITS
;IN BREAK CONTROL REGISTER
015176 042713 100000 BIC £100000, (R3) ;CLEAR BIT 17
015202 011304 MOV (R3),R4 ;GET CONTENTS OF BREAK CONTROL
JIF NB <>, BIC #.R4 ;CLEAR UNWANTED BITS
015204 020504 cHMP RS5,.R4 ;WAS BIT 17 CLEARED
015206 001401 BEQ 1$
.IJIF IDN <DHBCR>, <DHLPR>, HLT 2 ;BREAK CONTROL REGIS
TER ERROR
015210 .IIF IDN <DHBCR>, <DHBCR>, HLT 3 +BREAK CONTROL REGIS
TER ERF %
015210 104003 EMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 ;BREAK CONTROL REGIS
TER ERROR
015212 052713 100000 1%: BIS 100000, (R3) ;SET BIT 17
015216 011304 MOV (R3),R4
IIF NB <>, BIC 2.R4 ;CLEAR UNWANTED BITS
015220 022704 177777 cHp #177777.R4 ;WAS BIT 17 SET
015224 001403 BEQ 2%
0159226 012705 177777 Mov #177777.RS ; (RS)=EXPECTED DATA 1IN
:BREAK CONTROL REGISTER, 177777
.IIF IDN <DHBCR>, <DHLPR>, HLT 2 1BREAK CONTROL REGIS
TER ERROR
015232 .IIF IDN <DHBCR>, <DHBCR>, HLY s ;BREAK CONTROL REGIS
TER ERROR
015232 104003 EnMT 3
.IIF IDN <DHBCR>, <DHSSR>, HLT 4 :BREAK CONTROL REGIS
TER ERROR
015234 104400 24%: SCOPE
000000 BITX=BITX+BITX
000020 BITC=BITC.1
342 000000 XBIT=BITX
343 000020 CBIT=BITC
344 000001 BITX=1
345 000000 BITC=0
347 000007 REPT 7
348 .NLIST
349 CCRBIT=-BITX-1
350 CLRBIT=CCRBITE100077
351 BITCLR=CLRBIT
352 LIST
353 REGTST +/DHSSR/.\BITX,t/SILO STATUS/,\BITC,100077,CLRBIT, 77700
354 IF EQ BITX-40
355 .NLIST
356 B8ITX=100000
357 BITC=17
358 LLIST
359 JIFF
360 .NLIST
361 BITX=BITX.BITX
362 BITC=BITC-.1
363 LIST
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SEQ 103

364 .ENUC
365 .ENDR
177776 CCRBIT=-BITX-1
100076 CLRBIT=CCRBITE100077
100076 BITCLR=CLRBIT
015236 REGTS7 t/DHSSR/,\BITX,t/3ILO STATUS/,\BITC,100077.CLRBIT, 77700
;SILO STATUS REGISTER DATA TEST
+SET ALL READ/WRITE BITS IN SILO STATUS REGISTER TO 1S
;CLEAR BIT 0
;VERIFY THAT BIT O WAS CLEARED
;RESTORE BIT 0
sVERIFY THAT BIT O WAS SET
015236 TS \XN,4000,2%
015236 012767 (00340 162532 Ti45: MOV 4340,PS :DISABLE ALL INTERRUPTS
015244 012767 004000 002604 MOV 94000, ICOUNT :SET UP FOR 4000 ITERATIONS
015252 012767 015350 002572 IF N MOV 2% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV 4,.FREEZ1 :SET UP TO LOOP WITH DATA i 3
000146 XN=2XN+1
015260 012777 004000 002522 MOV #8IT11,8DHSCR ;MASTER CLEAR INTERFACE
015266 016703 002534 MOV DHSSR,R3 ;SET UP POINTER TO SILO STATUS
015272 012705 100076 MOV 4CLRBIT,RS :(RS5)=EXPECTED DATA
;IN SILO STATUS REGISTER, CLRBIT
015276 012713 100077 MOV 4100077, (R3) :SET ALL READ/WRITE BITS
:IN SILO STATUS REGISTER
015302 042713 000001 BIC #1,(R3) ;CLEAR BIT 0
015306 011304 MOV (R3),.R4 ;GET CONTENTS OF SILO STATUS
015310 042704 077700 .IIF NB <77700>, BIC 977700,R4 ;CLEAR UNWANTED BITS
015314 020504 CMP R5,R4 ;WAS BIT O CLEARED
015316 001401 BEQ 14
.IIF IDN <DHSSR>, <DHLPR>, HLT 2 1SILO STATUS REGISTE
R ERROR
.IIF IDN <DHSSR>, <DHBCR>, HLT 3 :SILO STATUS REGISTE
R ERROR
015320 .IIF IDN <DHSSR>, <DHSSR>, HLT 4 +SILO STATUS REGISTE
R ERROR
015320 104004 EMT 4
015222 052713 000001 1s: 8IS #1,(R3) ;SET BIT O
015326 011304 MOV (R3),R4
015330 042704 077700 .IIF NB <77700>, BIC 477700,R4 ;CLEAR UNWANTED BITS
015334 022704 100077 CcMP €100077,R4 ;WAS BIT O SET
015340 001403 BEQ 24
015342 012705 100077 HOv #100077.,R5 :(RS)=EXPECTED DATA IN
;:SILO STATUS REGISTER, 100077
.1IF IDN <DHSSR> , <DHLPR >, HLT 2 :SILO STATUS REGISTE
R ERROR
.IIF IDN <DHSSR>, <DHBCR>, HLT 3 ;SILO STATUS REGISTE
R ERROR
015346 .IIF IGN <DHSSR>, <DHSSR>, HLT 4 1SILO STATUS REGISTE
R ERROR
' 015346 104004 EMT 4
015350 104400 2%: SCOPE
.IF EQ BITX-40
.NLIST
BITX=100000
BITC=17
.LIST
.IFF
000002 BITX=BITX+BITX
3 000001 BITC=BITC.1
b
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SEQ 104

.ENDC
177775 CCRBIT=-BITX-1
100075 CLRBIT=CCRBITE100077
100075 BITCLR=CLRBIT
015352 REGTS7 t/DHSSR/,\BITX,*/SILO STATUS/,\BITC,100077,CLRBIT,77700
;SILO STATUS REGISTER DATA TEST
;SET ALL READ/WRITE BITS IN SILO STATUS REGISTER TO 1S
;CLEAR BIT 1
;VERIFY THAT BIT 1 WAS CLEARED
:RESTORE BIT 1
;VERIFY THAT BIT 1 WAS SET
015352 TS \XN,4000,24
015352 012767 000340 162416 T146: MOV #340,PS ;DISABLE ALL INTERRUPTS
015360 012767 004000 002470 MOV 94000, ICOUNT ;SET UP FOR 4000 ITERATIONS
015366 012767 015464 002456 IF N8 MoV #2% ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MoV ¢,FREEZ1 ;SET UP TO LOOP WITH DATA i 3
000147 XN=XN+1
015374 012777 004000 002406 MoV #8IT11,3DHSCR :MASTER CLEAR INTERFACE
015402 016703 002420 MoV DHSSR,R3 :SET UP POINTER TO SILO STATUS
015406 012705 100075 MoV 9CLRBIT,RS ;CRS)=EXPECTED DATA
:IN SILO STATUS REGISTER, CLRBIT
015412 012713 100077 MoV #100077,(R3) :SET ALL READ/WRITE BITS
;:IN SILO STATUS REGISTER
015416 042713 000002 8IC ©02.(R3) ;CLEAR BIT 1
015422 011304 MOV (R3),R4 ;GET CONTENTS OF SILO STATUS
015424 042704 077700 .IIF N8 <77700>, eIC 977700.R4 ;CLEAR UNMWANTED BITS
015430 020504 CMP R5,R4 sWAS BIT 1 CLEARED
015432 001401 BEQ 14
.IIF IDN <DHSSR>, <DHLPR>, HLT 2 ;SILO STATUS REGISTE
ERROR
Q .IIF IDN <DHSSR>, <DHBCR>, HLT 3 ;sSILO STATUS REGISTE
ERRO
015434 .IIF IDN <DHSSR>, <DHSSR>, HLT 4 :SILO STATUS REGISTE
ERROR
015434 104004 EMTY 4
015436 052713 000002 1s: 8IS #2,(R3) 1SET BIT 1
015442 011304 MOV (R3),R4
015444 042704 077700 .IIF NB <77700>, BIC 277700,R4 ;:CLEAR UNMANTED BITS
015450 022704 100077 CcHpP #100077,R4 ;WAS BIT 1 SET
015454 001403 BEQ 28
015456 012705 100077 Mov #100077,.RS s(RS)=EXPECTED DATA IN
1SILO STATUS REGISTER, 100077
.IIF IDN <DHSSR>, <DHLPR>, HT 2 sSILO STATUS REGISTE
ERROR
.IIF IDN <DHSSR>, «DHBCR >, HY 3 :SILC STATUS REGISTE
ERROR
015462 .IIF IDN <DHSSR>, <DHSSR>, HLT 4 sSILO STATUS REGISTE
ERROR
015462 104004 ENT 4
015468 104400 2%: SCOPE
.IF EQ B8ITX-40
.NLIST
BITX=100000
BITC=17
LISY
IFF
000004 BITX=BITX+B8ITX
000002 BITC=BITC.1
.ENDC
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SEQ 105

177773 CCRBIT= BITX-1
100073 CLRBIT<CCRBITE100077
100073 BITCLR=CLRBIT
015466 REGTS? +/DHSSR/,\BITX,*/SILO STATUS/,\BITC,100077,CLRBIT, 77700
+SILO STATUS REGISTER DATA TEST
sSET ALL READ/MRITE BITS IN SILO STATUS REGISTER TO 1S
sCLEAR BIT 2
;VERIFY THAT BIT 2 WAS CLEARED
:RESTORE BIT 2
:VERIFY THAT BIT 2 WAS SET
0:5466 TS \XN,4000,2$
015466 012767 000340 162302 T147: MOV 0340,PS ;DISABLE ALL INTERRUPTS
015474 012767 004000 002354 MOV 04000, ICOUNT sSET UP FOR 4000 ITERATIONS
015502 012767 015600 002342 — 923, ESCAPE sSET UP TO ESCAPE TO NEXT TEST
. <>
ooc 4 ,FREEZL ;SET UP TO LOOP WITH DATA ;3
000150 XN=XNe 1
015510 012777 004000 002272 MOV #B8IT11,80HSCR iMASTER CLEAR INTERFACE
015516 016703 002304 MOV DHSSR, R3 :SET UP POINTER TO SILO STATUS
015522 012705 100073 MoV oCLRBIT,RS :(RS)=EXPECTED DATA
:IN SILO STATUS REGISTER, CLRBIT
015526 012713 100077 MOV 9100077, (R3) :SET ALL READ/WRITE BITS
;IN SI'.0 STATUS REGISTER
015532 042713 000004 BIC 04, (R3) :CLEAR BIT 2
015536 011304 MOV (R3),R4 :GET CONTENTS OF SILO STATUS
015540 042704 077700 .IIF NB <77700>, BIC 077700,R4 ;CLEAR UNMANTED BITS
015544 020504 cHe RS,R4 iWAS BIT 2 CLEARED
015546 001401 BEQ 13
- .IIF IDN <DHSSR>, <DHLPR>, HLT 2 :SILO STATUS REGISTE
ERROR
.IIF IDN <DHSSR>, <DHBCR>, HLT 3 ;SILO STATUS REGISTE
ERROR
015550 .IIF IDN <DHSSR>, <DHSSR>, HLT 4 :SILO STATUS REGISTE
ERROR
015550 104004 EMT 4
015552 052713 000004 1s: BIS 84, (R3) :SET BIT 2
015556 011304 MOV (R3),R4
015560 042704 077700 .IIF NB <77700>, BIC 477700,R4 ;CLEAR UNMANTED BITS
015564 022704 100077 cHP #100077,R4 iMAS BIT 2 SET
015570 001403 BEQ 28
015572 012705 100077 MOV #100077,RS :(RS)=EXPECTED DATA IN
:SILO STATUS REGISTER, 100077
.IIF IDN <DHSSR>, <DHLPR>, HT 2 :SILO STATUS REGISTE
ERROR
.IIF ION <DHSSR> . <DHBCR>, HT 3 :5ILO STATUS REGISTE
ERROR
015576 .IIF IDN <DHSSR>, <DHSSR>, HT A ;SILO STATUS REGISTE
ERROR
015576 104004 EMT 4
01560C 104400 2% : SCOPE
.IF €EQ BITX-40
NLIST
BITX=100000
BITC»17
.LIST
IFF
000010 BITX=BITX+BITX
000003 BITC=BITC+1
.ENDC
177767 CCRBIT=-BITX-1
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100067 CLRBIT=CCRBITE100077
100067 BITCLR=CLRBIT
015602 REGTS? +/DHSSR/,\BITX,t/SILO STATUS/,\BITC,100077,CLRBIT, 77700
sSILO STATUS REGISTER DATA TEST
:SET ALL READ/WRITE BITS IN SILO STATUS REGISTER TO 1S
:CLEAR BIT 3
;VERIFY THAT BIT 3 WAS CLEARED
;RESTORE BIT 3
iVERIFY THAT BIT 3 WAS SET
015692 TS \XN,4000,24
015602 012767 000340 162166 T150: MOV 4340,P5S :DISABLE ALL INTERRUPTS
015610 012767 004000 002240 MOV 44000, ICOUNT :SET UP FOR 4000 ITERATIONS
015616 012767 015714 002226 — MOV 923 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
ENOC MOV ¢,FREEZ1 :SET UP TO LOOP WITH DATA : 3
000151 XN=XN«1
015624 012777 004000 002156 MoV @BIT11,8DHSCR sMASTER CLEAR INTERFACE
015632 016703 002170 MOV DHSSR,R3 ;SET UP POINTER TO SILO STATUS
015636 012705 100067 MOV @CLRBIT,RS s(R5)=EXPECTED DATA
sIN SILO STATUS REGISTER, CLRBIT
015642 012713 100077 MoV #100077,(R3) ;SET ALL READ/WRITE BITS
sIN SILO STATUS REGISTER
015646 042713 000010 8IC €10, (R3) :CLEAR BIT 3
015652 011304 MOV (R3).,R4 ;:GET CONTENTS OF SILO STATUS
015654 042704 077700 JIIF NB <77700>, 8IC 477700,R4 sCLEAR UNMANTED BITS
015660 020504 cHe RS.R4 sWAS BIT 3 CLEARED
015662 00140% 8eQ 14
ROR .IIF IDN <DHSSR>, <DHLPR>, HY 2 ;SILO STATUS REGISTE
R ER
ROR .IIF IDN <DHSSR>, <DHBCR>, HT 3 ;SILO STATUS REGISTE
R ER
ROR 015664 .IIF IDN <DHSSR>, <DHSSR>, HT 4 sSILO STATUS REGISTE
R ERRO
015664 104004 EMT 4
015666 052713 000010 1%: 8IS #10,(R3) ;SET BIT 3
015672 011304 MOV (R3).R4
015674 042704 077700 .IIF NB <77700>, 8IC 477700,.R4 ;CLEAR UNMANTED BITS
015700 022704 100077 cHP €100077.R4 sWAS BIT 3 SET
015704 001403 8EQ 2$
015706 012705 100077 MoV #100077,R5 i(RS)=EXPECTED DATA IN
iSILO STATUS REGIS1ER, 100077
.IIF IDN <DHSSR>, <DHLPR>, HLT 2 :SILO STATUS REGISTE
R ERROR
.IIF IDN <DHSSR>, <DHBCR>, HT 3 s27LO STATJS REGISTE
R ERROR
015712 .IIF IDN <DHSSR>, <DHSSR>, HLT 4 ;SILO STATUS REGISTE
R ERROR
015712 104004 EMT 4
015714 104400 2s: SCOPE
.IF EQ BITX-40
.NLIST
BITX~100000
BITC=17
LLIST
.IFF
000020 BITX=BITX«BITX
000004 BITC=BITC.1
.ENDC
177157 CCRBIT=-BITX-1
100057 CLRBIT=CCRBITE100077
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SEQ 107

100057 BITCLR=CLRBIT
015716 REGTS? t/DMSSR/,\BITX,t/SILO STATUS/,\8ITC,100077,CLRBIT, 77700
:SILO STATUS REGISTER DATA TEST
1SET ALL READ/WRITE BITS IN SILO STATUS REGISTER TO 1S
;CLEAR BIT 4
{VERIFY THAT BIT 4 WAS CLEARED
;RESTORE BIT 4
sVERIFY THAT BIT 4 WAS SET
015716 TS \XN,4000,2$
015716 012767 000340 162052 T151: MOV 0340,PS s1DISABLE ALL INTERRUPTS
015724 012767 004000 002124 MOV 44000, ICOUNT ;SET UP FOR 4000 ITERATIONS
015732 012767 016030 002112 - MOV 923 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
NDC MOV ¢,FREEZL sSET UP TO LOOP WITH DATA : 3
-
000152 XN=XN+1
015740 012777 004000 002042 MOV #B8IT11,8DHSCR sMASTER CLEAR INTERFACE
015746 016703 002054 MOV OMSSR,R3 :SET UP POINTER TO SILO STATUS
015752 012705 100057 MOV @CLRBIT,RS s(RS)=EXPECTED DATA
:IN SILO STATUS REGISTER, CLRBIT
015756 012713 100077 MOV 2100077,(R3) sSET ALL READ/WRITE BITS
sIN SILO STATUS REGISTER
015762 042713 000020 8IC 420, (R3) ;CLEAR BIT &
015766 011304 MOV (R3),R4 :$GET CONTENTS OF SILO STATUS
015770 042704 077700 IIF NB <77700>, 81C 477700 .R4 :CLEAR UNMANTED BITS
015774 020504 cHP RS .R4 sMAS BIT 4 CLEARED
015776 001401 8€EQ 14
.IIF IDN <DHSSR>, <OHLPR>, HT 2 ;SILO STATUS REGISTE
ERROR
.IIF IDN <OHSSR>, <DHBCR>, HT :SILO STATUS REGISTE
ERROR
016000 .IIF IDN <DHSSR>, <DHSSR>, HT 4 ;SILO STATUS REGISTE
ERROR
016000 104004 emt 4
016002 052713 000020 1s8: 8IS #20,(R3? ;SET BIT 4
016006 011304 MoV (R3).R4
016010 042704 077700 .IIF NB <77700>, BIC 477700 .R4 sCLEAR UNMANTED BITS
016014 022764 100077 cHpP €100077.R4 1MAS BIT &4 SET
016020 0014903 B8EQ 24
016022 012705 100077 MOV #100077,RS :(RS)-EXPECTED OATA IN
:SILO STATUS REGISTER, 100077
.IIF IDN <DHSSR>, <DHLPR>, HT 2 sSILO STATUS REGISTE
ERROR
.IIF IDN «DHSSR> , <DHBCR>, HT 3 sSILO STATUS REGISTE
ERROR
016026 .IIF IDN <DHSSR>, <DHSSR >, T 4 ;SILO STATUS REGISTE
ERROR
016026 104004 EMT 4
016030 104400 2%: SCOPE
JIF EQ B8ITX-40
.NLIST
8ITX=100000
BITC=17
LIST
IFF
000040 BITX=BITX+BITX
000005 BITC=BITC.1
.ENDC
177737 CCRBIT=-BITX-1
100037 CLRBIT=CCRBITEL00077
100037 BITCLR=CLRBIT
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016032 REGTS? t/DHSSR/,\BITX,t/SILO STATUS/,\BITC,100077,CLRBIT,77700
:SILO STATUS REGISTER DATA TEST
:SET ALL READ/WRITE BITS IN SILO STATUS REGISTER TO 1S
:CLEAR BIT 5
;VERIFY THAT BIT 5 WAS CLEARED
{RESTORE BIT S
tVERIFY THAT BIT 5 WAS SET
016032 TS \XN,4000,24
016032 012767 000340 161736 T152: MOV #340,PS ;DISABLE ALL INTERRUPTS
016040 012767 004000 002010 MoV 44000, ICOUNT 3SET UP FOR 4000 ITERATIONS
016046 012767 016144 001776 IF N8 MoV #2% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV % ,FREEZ] ;SET UP TO LC)HP WITH DATA : 3
000153 XN=XN+1
016054 012777 004000 001726 MOV @BIT11,80HSCR sMASTER CLEAR INTERFACE
016062 016703 001740 MOV DHSSR,R3 :SET UP POINTER TO SILO STATUS
016066 012705 10C037 MOV O0CLRBIT,RS ;(R5)=EXPECTED DATA
;IN SILO STATUS REGISTER, CLRBIT
016072 012713 100077 MOV 9100077, (R3) ;SET ALL READ/MRITE BITS
:IN SILO STATUS REGISTER
016076 G42713 000040 8IC 840, (R3) :CLEAR BIT S
016102 011304 MOV (R3),Rs ;:GET CONTENTS OF SILO STATUS
016104 042704 077700 IIF NB <77700>, 8IC 477700.R4 ;CLEAR UNMANTED BITS
016110 020504 cHp R5.Ra :WAS BIT 5 CLEARED
016112 001401 8eQ 13
.IIF IDN <DHSSR>, <DHLPR>, HLT 2 sSILO STATUS REGISTE
R ERROR
.IIF IDN <DHS5SR>, <DHBCR>, HLT 3 ;SILO STATUS REGISTE
R ERROR
016114 .IIF IDN <DHSSR>, <DHSSR>, HT 4 :SILO STATUS REGISTE
R ERIOR
016114 104004 EMT 4
016116 052713 000040 1%: 8IS €40,(R3) sSET BIT 5
016122 011304 MoV (R3).R4
016124 042704 077700 .IIF NB <77700>, BIC €77700.R4 ;CLEAR UNMANTED BITS
016130 022704 100077 CMP 9100077,.R4 tWAS BIT 5 SET
016134 001403 8EQ 2%
016136 012705 100077 MOV 9100077,R5 s (RS)=EXPECTED DATA IN
sSILO STATUS REGISTER, 100077
IIF IDN <DHSSR>, <DHLPR>, Y 2 sSILO STATUS REGISTE
R ERROR
.IIF IDN <DHSSR>, <DHBCR>, HLY 3 ;SILO STATUS REGISTE
R ERROR
016142 .IIF IDN <DHSSR> , <DHSSR>, HT 4 ;SILO STATUS REGISTE
R ERROR
016142 104004 EMT 4
015144 104400 2%: SCOPE
.IF EQ B8ITX-40
100000 B8ITX=100000
000017 8ITC=17
IFF
-NLIST
BITX=BITX+BITX
BITC=BITC+1
LIST
.ENDC
0717777 CCRBIT=-BITX-1
000077 CLRBIT=CCRBITE100077
000077 BITCLR=CLRBIT
016146 REGTS? t/DHSSR/,\BITX,+/SILQ STATUS/,\B8ITC,100077,CLRBIT,77700
A v
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:SILO STATUS REGISTER DATA TEST
1SET ALL READ/WRITE B1TS IN SILO STATUS REGISTER TO 1S

SEQ 109

iCLEAR BIT 17
{VERIFY THAT BIT 17 WAS CLEARED
:RESTORE BIT 17
;VERIFY THAT BIT 17 WAS SET
016146 TS \XN,4000,2%
016146 012767 000340 161622 T153: MOV #340,PS 1DISABLE ALL INTERRUPTS
016154 012767 004000 001674 MOV 294000, ICQUNT ;SET UP FOR 4000 ITERATIONS
016162 012767 016260 001662 IF NB MoV 924 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
) <>
ENDC MOV ?,FREEZ21 ;SET UP TO LOOP WITH DATA : 3
000154 XN=XN+1
016170 012777 004000 001612 MOV e8IT11,8DHSCR ;MASTER CLEAR INTERFACE
016176 016703 001624 MOV DHSSR, R3 sSET UP POINTER TO SILO STATUS
016202 012705 000077 MOV 4CLRBIT,RS s(R5)=EXPECTED DATA
;IN SILO STATUS REGISTER, CLRBIT
016206 012713 100077 MOV 4100077,(R3) 1SET ALL READ/WRITE BITS
;IN SILO STATUS REGISTER
016212 042713 100000 8IC 9100000, (R3) ;CLEAR BIT 17
016216 011304 MOV (R3),R4 1GET CONTENTS OF SILO STATUS
016220 042704 077700 IIF NB <77700>, 8IC #77700,R4 ;CLEAR UNMANYED BITS
016224 020504 CHP R5,.R4 tWAS BIT 17 CLEARED
016226 001401 BEQ 14
.IIF IDN <DHSSR> , <DHLPR>, HT 2 :SILO STATUS REGISTE
R ERROR
.IIF IDN <DHSSR», <DHBCR>, HLT ;SILO STATUS REGISTE
R ERROR
016230 .IIF IDN <DHSSR>, <DHSSR>, HLY 4 :SILO STATUS REGISTE
R ERROR
016230 104004 ENT 4
016232 052713 100000 1%: 8IS 2100000, (R3) sSET BIT 17
016236 011304 oy (R3).R4
016240 042704 077700 IIF NB <77700>, BI1C #77700,R4 ;CLEAR UNMANTED BITS
016244 022704 100077 Cne #100077,R4 sWAS BIT 17 SET
016250 001403 B8EQ 24
016252 012705 100077 MoV #100077,85 1 (RS)=EXPECTED DATA IN
1SILQ STATUS REGISTER, 100077
.IIF IDN <DHSSR? , <DHLPR>, HT 2 :SILO STATUS REGISTE
R ERROR
IIF IDN <DHSSR>, <DHBCR>, L R 3 sST_0 STATUS REGISTE
R ERROR
016256 .IIF IDN <DHSSR>, <DHSSR>, HT 4 ;SILO STATUS REGISTE
R ERROR
016256 104004 et |
016260 104400 23: SCOPE
.IF EQ BITX-40
.NLIST
8ITX=100000
BITC=17
.LIST
.IFF
000000 BITX=BITX+BITX
000020 BITC=BITC+1
.ENOC
356
367 $SYSTEM CONTROL REGISTER MOVE-BYTE TEST (PART 1)
368 +ISSUE A MASTER CLEAR
369 tMOVE A BYTE TO SET INTERRUPT ENABLE BITS
370 H IN UPPER BYTE OF SYSTEM CONTROL
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371
372
373
374
375
376
377
378
379
380
381
382
383
384
38S
386
387
388
389

390
391
392
393
394
39S
396
397

398
399
400
401
402
403
404
405
406
407
408
409
410
411
412
413
414
415
416
417
418
419
420
421
422

423
424

016262
016266
016274
016302
016310
016316
016322
016324

016330
016336
016340
016344
016350
016350
016352
016354

016362
016370
016372
016376
016402
016402
016404

016406
016412
016420
016426
015434
016442
016446
016450

016456
016464
016466
015472
016476
016476
016500
016502

012706
012767
012767
012767
052777
016703
005203
112713

022777
001406
01270°%
017704

104001
000414
112777

022777
001405
012705
017704

104001
104400

012706
012767
012767
012767
052777
016703
005203
112777

022777
001406
012705
017704

104001
000413
112713

021544
000340
016404
004000
004000
001466

000060
030000

030000
001440

000100
030100

030100
001406

021544
000340
016530
004000
004000
001342

000017
000017

000017
001312

000002

161502
001550
001546
001472

001452

001426
001420

161356
001424
001422
001346

001332
001324

T154:

2%:

99%:

T155:

2%:

+VERIFY BITS SET CORRECTLY
:MOVE A BYTE TO SET INTERRUPT ENABLE BIT
IN LOWER BYTE OF SYSTEM CONTROL

i
; VERIFY

UPPER BYTE WAS NOT AFFECTED
MOV #STACK, SP :SET UP STACK
MOV #340, PS ;LOCK OQUT INTERRUPTS
MOV 4994, ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
MOV 94000, ICOUNT ;SET UP FOR 4000 1TERATIONS
BIS #8IT11, QDHSCR ;ISSUE MASTER CLEAR
MOV DHSCR, RS x(RS) SYSTEM CONTROL REGISTER ADDRESS
INC R3 UPPER BYTE
Move 260, (R3) xSET INTERRUPT ENABLE BITS
sIN UPPER BYTE OF SYSTEM CONTROL
CcHp 0BIT13+81IT12,8DHSCR ;VERIFY BITS SET CORRECTLY
BEQ 23 1BRANCH IF 0K
MOV %BIT13.BIT12,R5 ;(R5)=REGISTER EXPECTED DATA
MOV GOHSCR, R4 1(R4)=REGISTER ACTUAL DATA
gh} i ;8ITS DID NOT SET CORRECTLY
B8R 994 sBRANCH TO SCOPE
Move #BIT06, SDHSCR ;SET INTERRUPT ENABLE BIT
:IN LOMER BYTE OF SYSTEM CONTROL
cnp OBIT13081T12081T06 SDHSCR sVERIFY BITS SET CORRECTLY
BEQ BRANCH IF 0K
Mov OBITI3OBITIZOBIT06 RS  ;(RS)=REGISTER EXPECTED DATA
Mov SDHSCR, R4 :(R‘)'REGISTER ACTUAL DATA
gh} 1 sUPPER BYTE MAS AFFECTED?
SCOPE sCHECK FOR ITERATIONS,LOOP

:SYSTEM CONTROL REGISTER HOVE-BYTE TEST (PART 2)
sISSUE MASTER CLEAR

3HOVE A BYTE TO SET LINE SELECT BITS

IN LOWER BYTE OF SYSTEM CONTROL
:VERIFY B8ITS SET CORRECTLY
:MOVE A BYTE TO SET THE MAINTENANCE BIT
IN UPPER BYTE OF SYSTEM CONTROL

i
$VERIFY LOWER BYTE WAS NOT AFFECTED
MOV #STACK, SP 1SET UP STACK
MOV €340, PS ;LOCK OUT INTERRUPTS
nov #3998, ESCAPE ;SET UP TO ESCAPE TO MNEXT TEST
nov #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
8IS #8IT11, WOHSCR ;ISSUE MASTER CLEAR
nov DHSCR, R3 ;(RB)-SYSTEH CONTROL REGISTER ADORESS
INC R3 UPPER BYTE
Hovs 7, SDHSCR :SET LINE SELECTY BITS
1IN LOWER BYTE OF SYSTEM CONTROL
cHp v, QDHSCR  ;VERIFY BITS SET CORRECTLY
6EQ 2% :BRANCH IF 0K
MoV 017, a5 s (RS)=REGISTER EXPECTED DATA
MoV QOHSCR, R4 s (R40=REGISTER ACTUAL DATA
:h} i ;8ITS DID NOT SET CORRECTLY
B8R 994 ;BRANCH TO SCOPE
MOV e, (R3) :SET MAINTENANCE BIT
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425

426 016506

427 016514

428 016516

429 016522

430 016526
016526

431 016530

432

433 016532

016532
016534
016536
016542
016546
016552
016556
016560
016562
016564
016566
016570
016572
016572
016600
016600
016604
016606
016610
016612
016614
016616
016620
016624
016626
016630
434 016632

016632
016640
016642
015650
016652
016660
016662
016666
016674

022777
001405
012705
017704

104001
104400

104401
020467
005067
005067
005267
005767
001005
104401
020502
104402
016624
000403

016767

013701
001405
000005
004711
000240
000240
000240
000167
000001

006
020044

032777
001030
032777
001021
032777
001006
005267
026767
001007

001017

001017
001262

001344
001274
001272
162224

001246
000042

162462
002

002000
040000
004000

001172
001166

001274

162202

162140
162130
162120

001162

99 :
.EOP

EOP:

2%:
3s:

LOGICAL:

RESTRT:
PASARG:

.SCOPE

SCOPER:
1$:

IN UPPER BYTE OF SYSTEM CONTROL

ChP #1017, @&DHSCR VERIFY BITS SET CORRECTLY
8EQ 994 ;BRANCH IF OK

MOV #1017, RS :(RS)'REGISTER EXPECTED DATA
MOV 80HSCR, R4 ;(R4)=REGISTER ACTUAL DATA
EL} 1 ;LOMER BYTE WAS AFFECTED?

M 1

SCOPE :CHECK FOR ITERATIONS,LOOP
t/BEGIN/

;END OF PASS

; TYPE NAME OF TEST
sUPDATE PASS COUNT

;CHECK FOR EXIT TO ACT-11
+RESTART TEST

TYPE
MEPASS
CLR
CLR
INC
TST
BNE
TYPE
PASTXT
OCTASC
PASARG
BR

MoV

MOV
BEQ
RESET

NOP
NOP
NOP
JMP
- “mo
.BYTE
.WORD

;TYPE NAME OF TEST

LAST ;CLEAR LAST ERROR PC
ERRFLG ;CLEAR ERROR FLAG
PASCNT ;UPDATE PASS COUNT
LIGHTS i ARE WE USING LIGHTS?
-3 s BRANCH IF WE ARE

s TYPE PASCOUNT MESSAGE
3 PRINT PASSCOUNT

34 ; CONTINUE

PASCNT ,LIGHTS ;DISPLAY PASS COUNT
9042,R1 ;CHECK FOR ACT-11 OR DOP
RESTRY :IF NOT, CONTINUE TESTING

JSR PC.(R1)

BEGIN
1

6,2
PASCNY

i+ PARAMETERS TO PRINT PASSCOUNT

;CHECK FOR LOOP ON CURRENT TEST
sCHECK FOR ITERATION SUPPRESSION

BIT
BNE
8IT
BNE
817
BNE
INC
CHP
BNE

:EHIO. S5WR
95U14, SSHR
34

ASUL1, ISHR
2%

LPCNT
%gCNT.ICOUNT

SEQ 111

o ®e

- g
L I T )

a Ak AUV

wvuwn
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016676 005067 001156 24: CLR LPCNT
016702 005067 001134 CLR ERRFLG
010706 011667 (001136 MOV (SP),RETRN
016712 000002 RTI
016714 016716 001130 38: MOV RETRN, (SP)
016720 000002 RTI
016722 005767 001114 44: TST ERRFLG
016726 001745 BEQ 1
016730 000762 BR 23
435 016732 .SCOP1
;:CHECK FOR FREEZE ON CURRENT DATA
016732 032777 001000 162040 SCOP1R: BIT #SW09, 8SWR ; 4
016740 001402 BEQ 13
016742 016716 001106 MOV FREEZ1,(SP)
016746 000002 1s: RTI
436 016750 .ERROR

;ERROR HANDLER

016750 032777 020000 162022 ERRORS: BIT @SW13, JSWR ; 4
016756 001055 BNE HALTS

016760 021667 001122 CcMP (SP),LAST

016764 001404 BEQ 13

016766 011667 001114 MOV (SP),LAST

016772 005067 001044 CLR ERRFLG

016776 104406 18 SAVOSP

017000 011605 MoV (SP),RS5

017002 162705 000002 suB #2,R5

017006 011504 MOV (R5),R4

017010 006304 ASL R4

017012 006304 ASL R4

017014 042704 177001 BIC #177001,R4

017020 062704 020622 ADD SERRTAB, R4

017024 012467 000040 MOV (R4)+,ERRMSG

017030 011467 000052 MOV (R4) ,DATABP

017034 005767 001002 TST ERRFLG

017040 001403 BEQ TYPUSG

017042 005767 000040 TST DATABP

017046 001011 BNE TYPDAT : 3
017050 104401 TYPMSG: TYPE : S
017052 020377 MCRLF ; S
017054 104402 QOCTASC i S
017056 017154 ERTABO

017060 012767 000001 000754 MoV 21 ,ERRFLG

017066 104401 TYPE

017070 000000 ERRMSG: O

017072 005767 000010 TYPDAT: TST DATABP

017076 001404 BEQ RESREG

017100 104401 TYPE i S
017102 020377 MCRLF : S
017104 104402 OCTASC

017106 000000 DATABP: 0

017110 104407 RESREG: RESOS

017112 005777 161662 HALTS: TST BSWR i 4
017116 100005 BPL EXITER




CZOHA D MACRO v04.00 27-JUN-85 12:46:01 PAGE 17-91

437

438

439

017120
017122
017126
017130
017132
017136
017144
017146
017152
017154
017156
017160
017162

017162
017164
017170
017174
017176
017202
017206
017212
017214

017214
017220
017224
017230
017232
017234
017236
017240
017244
017246

017246
017254
017260
017262
017264
017270
017274
017300
017302
017306
017312
017316
017320
017326

010046
016600
000000
012600
005267
032777
001402
016716
000002
000001

006
020100

011646
162716
017616
006316
042716
062716
017616
000136

017605
062716
105777
100375
105715
201001
000002
112577
000767

017667
062716
104401
000000
012704
012703
105777
100375
117714
142714
122427
001413
1177717
105777

000002

000710
002000

000700

002

000002
000000

177001
020542
000000

000000
000002
000554

000542

000000
000002

020564
000007
000500

000474
000200
000015

000456
000452

161634

000006

000460

EXITER:

1$:
ERTABO:

.TRPSRV

TRPSRV:

TRPOK :

.TYPER

TYPFR:
1s$:

2%:
.INSTRG

INSTRG:
INSTR1:
MSG:

1¢:

2%:

PUSHRO

MOV 2(SP).RO
HALT

POPRO

INC ERRCNT

BIT #SW10, aSWR
BEQ 1$

MOV ESCAPE, (SP)
RTI

1

.BYTE 6,2

SAVPC

; TRAP DISPATCH SERVICE

sARGUMENT OF TRAP IS EXTRACTED

;AND USED AS OFFSET TO OBTAIN POINTER
;TO SELECTED SUBROUTINE

MOV (sP), (sP) :GET PC OF RETURN

sSuB #2,(SP) ;=PC OF TRAP

MoV a(sP),(sP) ;GET TRP

ASL (5P) ;MULTIPLY TRAP ARG BY 2

8IC #177001, (SP) ;CLEAR UNWANTED BITS

ADD 4TRPTAB, (SP) ;POINTER TO SUBRCUTINE ADDRESS
MoV a(sP), (sSP) ; SUBROUTINE ADDRESS

JMP a(SP)+ ;GO TO SUBROUTINE

s TELETYPE OUTPUT ROUTINE

Mov 8(SP),RS

ADD #2,(SP)

TSTB ITPCSR

BPL 1$

1578 (RS)

BNE 24

RTI

Move (R5)+,8TPDBR
BR 13

;ASCII STRING INPUT ROUTINE

MoV 8(SP),MSG
ADD #2,(SP)

TYPE

0

MoV ®INBUF ,R4
MOV 47,R3
TST8 8TKCSR
8PL 13

HOvB 8TKDBR, (R4)
8ICB 94200,(R4)
cMPB (R4).+,£15

BEQ INSTR2

nove 8TKDBR ., 8TPDBR
TST8 9TPCSR

SEQ 113




017332
017334
017336
017340
017342
017344
017346
440 017350

017350
017352
017356
017362
017366
017372
017376
017400
017402
017406
017412
017414
017420
017422
017426
017430
017434
017436
017442
017444
017446
017450
017452
017454
017456

017460
017464
017466
017472
017474
017500

017502
017506
017510
017514
017520
017522
017524
017526
017530

100375
005303
001356
104401
020373
000745
000002

011605
012567
012567
012567
112567
112567
010516
005005
012704
122714
001420
121427
002415
121427
003012
142714
152405
122714
001406
006305
006305
006305
000760
104404
000750

020567
101373
020567
103770
136705
001365

016704
010524
062705
105367
001372
000002
000000
000000
000000

000146
000144
000142
000140
000135

020564
000015
000060
000067
000060
000015

000042
000032
000032

000022

000002
000013

INSTRE:

INSTR2:
.PARAMS

PARAMS :

PARAML :

1s:

PARERR:

LIMITS:

1s:

LOLIM:
HILIM:

DEVADR:

SEQ 114
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B8PL 24

DEC R3

BNE 1s

TYPE

MQM

B8R INSTR1

RTI

;CONVERT ASCII STRING TO OCTAL ; 3
MoV (SP),RS

MOV (R5)+,LOLIM
MOV (R5)+,HILIM
MOV (R5)+,DEVADR
MovB (R5)+,LOBITS
MOVB (R5)+, ADRCNT
MOV RS,(SP)

CLR RS

MCV 9INBUF ,R4
CMPB @15, (R4)
BEQ PARERR

CMPB (R4),%60

BLT PARERR

CMPB (R4),%67
B8GT PARERR

BICB 260, (R4)
B8ISB (R4)+,RS
CMPB #15,(R4)
BEQ LIMITS

ASL RS

ASL RS

ASL RS

BR 1

INSTER

BR PARAM1

:TEST TO SEE IF NUMBER IS WITHIN LIMITS
CHP RS,HILIM
8HI PARERR

CHP R5,LOLIM
BLO PARERR

B8IT8 LOBITS,RS I

BNE PARERR
;STORE NUMBER AT SPECIFIED ADDRESS

MOV DEVADR ,R4
MOV RS,(R4).
ADD #2,R5
DECB ADRCNT
BNE 1s

RTI

0

0

0
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441

442

017532
017534

017534
017540
017544
017550
017554
017560
017564
017570
017574
017600
017602
017606
017612
017614
017616
017620
017622
017624
017626
017632
017634
017640
017642
017646
017650
017654
017660
017662
017664
017666
017670
017674
017676
017700
017702

017704
017706

017706

017714
017720
017724
017730
017734
017740

000000
017533

017601
062716
012167
112167
112167
013167
016704
116705
012790
010403
042703
062703
110320
006204
006204
006204
005305
001365
012703
114023
105367
001374
105767
001405
112723
105367
001373
105013
104401
020610
005367
001325
000002
000000
000000
017703
000000

016667

010567
010467
010367
010267
010167
010067

000000
000002
000130
000126
000123
000120
000114
000106
020576

177770
000260

020610
000042
000035

000240
000023

000004

00004

000154
000146
000140
000132
000124
000116

000164

LOBITS: O
ADRCNT=LOBITS+1
.0CTASC
;CONVERT OCTAL NUMBER TO ASCII AND QUTPUT TO TELEPRINTER
OCTASN: MOV a(SP),.R1
ADD 82,(5P)
MOV (R1)+,WRDCNT
1¢: MOovVB (R1)+,CHRCNi
MOVB (R1)+,SPACNT
MOV 8(R1)+ ,BINWRD
2%: MOV BINWRD ,R4
MOVB CHRCNT RS
MOV #TEMP,RO
33 MOV R4 ,R3
BIC #177770.R3
ADD #260,R3
MOVB R3,(RO).
ASR R4
ASR R4
ASR R4
DEC RS
BNE 33
MOV OMDATA ,R3
4%: MOVB -(RO),(R3).
DECB CHRCNT
BNE 44
1578 SPACNT
BEQ 64
5%: MOVB 9240,(R3)«
DECB SPACNT
BNE 53
6%: CLRB (R3)
TYPE
MDATA
DEC WROCNT
BNE 1s
RTI
WRDCNT: 0
CHRCNT: 0
SPACNT=CHRCNT+1
BINWRD: O
.SAVREG
;SAVE PC OF TEST THAT FAILED AND RO-RS
SYOSP: MOV 4(SP),SAVPC
;:SAVE RO-RS
SV05: MOV RS, SAVRS
MOV R4 ,SAVR4

MOV R3,S5AVR3
MOV R2,SAVR2
MOV R1,SAVR1
MOV RO, SAVRO

SEQ 115




443

444

TLVL»

445

017744
017746

017746
017752
017756
017762
017766
017772
017776
020000

020000
020002
020004
020006

020010
020012
020014
020016
020020
020022
020024
020026
020030
020032
020034
020036
020040
020042

020042
020044
020046
020050
020052
020054
020056
020060
020062
020064
020066
020070
020072
020074
020076
020100
020102
020104
020106

000002

016700
016701
016702
016703
016704
016705
000002

177560
177562
177564
177566

000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
00000C
000000

000000
000000
900000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000

000110
000106
000104
000102
000100
000076

.RESREG

RSO5:

.POINT

TKCSR:
TKDBR:
TPCSR:
TPDBR:
IRP

A:
.ENOM
DHSCR:
DHNRC:
DHLPR:
DHBA:
DHBC :
DHBAR:
DHBCR:
DHSSR:
OHSLR:
OHRVEC:
OHRLVL :
DHTVEC:
DHTLVL :
.VARIA

ERRFLG:
PASCNT :
ERRCNT:
RETRN:
ESCAPE ;
FREEZ1:
ICOUNT:
LPCNT:
SAVRO:
SAVR1:
SAVRZ2:
SAVR3I:
SAVRS:
SAVRS:
SAVSP:
SAVPC:

INIFLG:

STFLG:
LAST:
.IRP
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RT1

sRESTORE RO-R5

MOV
HOY

RTI

SAVRO,RO
SAVR1.R1
SAVR2,R2
SAVR3,R3
SAVRA,R4
SAVRS,R5

SEQ 116

t/DHSCR, DHNRC ,DHLPR ,OHBA ,DHBC , DHBAR , DHBCR, DHSSR, DHSLR, DHRVEC ,OHRLVL , OHTVEC ,DHTLVL/
;INDIRECT POINTERS

177560
177562
177564
177566
A

OCO0OO0OO0O0O0OO0O0O0O0O0O0O O

i 3

<DHSCR ,DHNRC ,DHLPR ,DHBA, DHBC ,DHBAR ,DHBCR ,DHSSR ,DHSLR ,DHRVEC, DHRL VL ,DHTVEC, DH

;PROGRAM VARIABLES

POOOOOCODOOO0OOO0OO0OO0O0OOO0OO0O

<>

;ERROR FLAG

;PASS COUNT

:ERROR COUNT

; SCOPE RETURN ADDRESS FOR TEST LOOPING
;ADDRESS FOR ERROR ESCAPE

;DATA LOOPING RETURN ADDRESS
;ITERATION COUNT FOR TEST IN PROGRESS
;NUMBER OF ITERATIONS THIS TEST

;RO SAVE AREA

+R1 SAVE AREA

1tR2 SAVE AREA

:R3 SAVE ARE

;R4 SAVE AREA

;R5 SAVE AREA

;STACK POINTER SAVE AREA

;CALLING ROUTINE SAVE AREA

;:PROGRAM INITIALIZATION FLAG

;PROGRAM START FLAG

;LAST ERROR PC
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A: 0
.ENDM
446 020110 .PFAIL
;ENTER HERE ON POWER FAILURE
020110 010046 PFAIL: MOV RO, (SP) :SAVE RO-RS5 ON PROCESSOR STACK
020112 010146 MOV R1,-(SP)
020114 010246 MOV R2,-(SP)
020116 010346 MOV R3,-(5P)
020120 010446 MOV R4, -(SP)
020122 010546 MOV RS, -(SP)
020124 016746 157674 MOV 24,-(SP)
020130 010667 177742 MOV SP,SAVSP :SAVE STACK POINTER
020134 012767 020146 157662 MOV JRESTART 24 :SET UP FOR POWER UP TRAP 1 3
020142 000000 HALT {HALT ON POMWER DOWN NORMAL
020144 000777 BR
;PROCESSOR WILL TRAP HERE WHEN POWER IS RESTORED
020146 016706 177724 RESTAR: MOV SAVSP, SP ;RESTORE STACK POINTER
020152 012605 MOV (SP)+,R5 ;RESTORE RO-RS
020154 012604 MOV (SP)+,R4
020156 012603 MOV (SP)+,R3
020160 012602 MOV (SP)+,R2
020162 012601 MOV (SP)+,RL
020164 012600 MOV (SP)+,RO
023166 012767 020110 157630 MOV OPFAIL ,24 :SET UP FOR POWER FAILURE
020174 012767 000340 157574 MOV #340,PS
020202 012706 021544 MOV #STACK,SP
020206 005067 000364 CLR TEMP
020212 005267 000360 INC TEMP
020216 001375 BNE .-4
020220 104401 TYPE 1 S
020222 020377 MCRLF : S
020224 104402 OCTASC
020226 020250 PFTAB
020230 104401 TYPE
020232 020402 MPFAIL
020234 005067 177602 CLR ERRFLG
020240 005067 177642 CLR LAST
020244 000177 177600 JMP SRETRN
020250 000001 PFTAB: 1
020252 000006 000002 6,2
020256 020050 RETRN
447 020260 .MSG t/DH11 STATIC LOGIC TEST/,t/CZDHA-DO/

020260 015 212 012 MTITLE: .ASCIZ <315»<12><12>/DH11 STATIC LOGIC TEST /<15>¢12>
020263 104 110 061
020266 061 040 123
020271 124 101 124
020274 111 103 040
020277 114 117 107
020302 111 103 040
020305 124 105 123

020310 124 040 015

020313 012 000
020315 015 012 126 MVECTO: .ASCIZ <«15>¢12>/VECTOR ADDRESS-/




—"
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020320
020323
020326
020331
020334
020337
020342
020345
020350
020353
020356
020361
<0364
020367
020372
020373
020376
020377

0c0402
020405
020410
020413
020416
020421
020424
020427
020432
020435
020440
020443
020446
020451
020454
020457
020462
020465
020467
020472
020475
020500
020502
020505
020510
029513
020516
020521
020522
020525
020526
020531
020534
020537

448 020542

105
117
101
122
123
015
117
122
040
107
174
040
104
i23
000
040
000
015

040
117
122
101
125
054
122
122
040
123
122
101
124
124
116
122
122
123
015
132
101
060
015
101
040
125
040

015
000
015
105
040
055

103
122
104
105
055
012
116
117
122
111
105
101
122
123

040
012

040
127
040
111
122
040
117
101
122
124
124
124
105
040
040
117
105
000
012
104
055
000
012
123
103
116
075

012

012
123
120
000

124
040
104
123
000
103
124
114
105
123

114

123

103
110
104

120
123
117
124
040

122
124

124
103

MREGAD: .ASCIZ <15><12>/CONTROL REGISTER ADDRESS-/

MaM: LASCIZ /s U/
MCRLF: .ASCIZ  <15><12>
MPFAIL: .ASCIZ / POMER FAILURE, PROGRAM RESTART AT TEST IN PROGRESS/

MEPASS: .ASCIZ «<15>¢12>/C70HA-DO/

PASTXT: ,ASCIZ <15»<12>/PARSS COUNT = /

MR: .ASCIZ <«15><«12>/R/

MTSTPC: .ASCIZ <1S»><«12>/TEST PC-/

.EVEN
.TRPTAB

sTABLE OF POINTERS FOR TRAP DECODING

5EQ 118

(%)
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439

450

451
452
453
454
455
456
457
458
459
460
461
462
463

464

455

020542
020544
020546
020550
020552
020554
020556
020560
020562
020564

020564
020576

020610
020622

020622
020622
020624
020626
020630
020632
020634
020636
020640
020642
020644
020646
020650
020652
020655
020660
020663
020666
020671
020674
020677
020702
02070¢
020710
020713
020714
020717
029722
020725
020730
020733
020736

016632
017214
017534
017246
017340
017350
017706
017746
016732

000000
020575
200000
020610

000000
020622

020652
021320
020714
021326
021003
021326
021072
021326
021160
021326
021244
021326
122
111
135
104
040
124
105
117
015
104
105
000
123
124
040
116
117
122
111

105
123
122
111
116
040
123
116
212
104
123

131
105
103
124
114
105
123

TRPTAB:
.BUFFER
INBUF:
.*.+10
TEMP :
= +10
MDATA:
.*.+10
.ERRTAB
ERRTAB:

107 EMO:

124

040

104

117

122

120

104

101

12

123

123 eMl:

115

117

122

040

107

124

SCOPER
TYPER
OCTASN
INSTRG
INSTRE
PARAMS
SVO5P
RSO05
SCOPIR

sBUFFERS FOR INPUT-OUTPUT
0
0

;TABLE OF POINTERS TO ERROR MESSAGES AND CATA

EMO
D10
1)
D11
M2
AgY
EM3
oL
EM4
pT1
ens

o7l
.ASCIT /REGISTER DID NOT RESPOND/

LASCIZ <15>¢12>/ADDRESS/

.ASCII /SYSTEM CONTROL REGISTER ERROR/

3EQ 119




«.JHR D

466

467

268

469

470

471
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020741
020744
020747
020751
020754
020757
020762
020765
020770
020773
020776
021001
021003
021006
021011
021014
021017
021022
021025
021030
021033
021036
021040
021043
021046
021051
021054
021057
021062
021065
021070
021072
021075
021100
021103
021106
021111
021114
021117
021122
021125
021126
021131
021134
021137
021142
021145
021150
021153
021156
021160
021163
021166
021171
021174
021177
021202

105
105
117
015
130
040
040
103
040
104
122
123
114
105
101
115
105
122
111
105
105
117
015
130
040
040
103
040
101
122
123
102
101
103
124
114
105
123
122
122
122
015
130
040
040
103
040
101
122
123
123
117
124
125
122
111
105

122
122
122
012
120
040
122
040
040
04
10y
0Go
111
040
122
105
122
105
123
122
122
122
012
120
040
122
040
040
104
105
000
122
113
117
122
040
107
124
040
122

012
120
040
122
040
040
104
105
000
111
040
101
123
105
123
122

040
12¢2

105
040
040
105
040
040
104
123

116
120
101
124
040
107
124
040
122

105
040
040
105
040
040
104
123

105
040
116
117
122
111
105
105
117

105
040
040
105
040
040

123

114
123
124
040
107
124
040

EM2:

EM3:

EM4:

.ASCIZ

.ASCII

.ASCIZ

.ASCII

.ASCIZ

.ASCII

<15><12>/EXP REC ADDRESS/

/LINE PARAMETER REGISTER ERROR/

€15>¢12>/7EXP REC ADDRESS/

/BREAK CONTROL REGISTER ERROR/

<15><12>/EXP REC ADDRESS/

/SILO STATUS REGISTER ERROR/

Ju LoV
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472

473

373

475
476
477
478
479
480
481
482
483
484
485
486

487
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021205
021210
021212
021215
021220
021223
021226
02123.
021234
021237
021242
021244
021247
021252
021255
021260
021263
021266
021271
0c1274
021277
021302
021305
021310
021313
021316

021320
021322
021324
021326
021330
021332
021334
021336
021340
021342
021344
021344

105
117
015
130
040
040
103
040
i01
122
123
115
124
040
105
040
122
015
130
040
040
103
040
101
122
123

000001

006
020074
000003

020070

000000
000001

122
122
012
120
040
122
040
040
104
105
000
101
105
103
101
105
117
0le
120
040
122
040
040
104
105
000

000

002
002
000

122

105
040
040
105
040
040
104
123

123
122
114
122
122
122
105
040
040
105
040
040
104
123

LASCIZ  <15><12>/EXP REC
EMS: .ASCII /MASTER CLEAR ERROR/
LASCIZ  <15><12>/EXP REC
.EVE
DTO: 1
.BYTE 6,0
SAVRS
0T1: 3
.BYTE 6,2
SAVRS
.BYTE 6.2
SAVRA
.BYTE 6,0
SAVR3
.ENDCOD
ENDCOD: ©
.END

ADDRESS/

ADDRESS/

xuw l1lel
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SYMBOL TABLE

ACRCNT= 017533
BEGIN 001306
BINWRD 017704
8ITC = 000020
BITCLR= 000077
8ITX = 000000
BIT00 = 000001
8IT01 = 000002
81702 = 000004
BITC3 = 000010
BIT04 = 000020
B8ITOS = 000040
BIT06 = 000100
8IT07 = 000200
8IT08 = 000400
B8IT09 = 001000
8IT10 = 002000
B8IT11 = 004000
8IT12 = 010000
B8IT13 = 020000
8IT14 = 040000
8IT1S5 = 100000
CBIT = 000020
CCRBIT= 077777
CHRCNT 017702
CLRBIT= 000077
DATABP 017106
DEVADR 017530
DHBA 020016
DHBAR 020022
DHBC 020020
DHBCR 020024
DHLPR 020014
DHNRC 020012
DHRLYL 020034
DHRVEC 020032
OHSCR 020010
DHSLR 020030
DHSSR 020026
DHTLVL 020040
DHTVEC 020036
D10 021320

DT1 021326
EMC 020652
EML 020714
EM2 021003
EM3 021072
EM4 021160
EMS 021244
ENDCOD 021344
EoP 016532

ERPUNT 020046
EFRFLG 020042
ERRMSG 017070
ERRORS 016750
ERRTAS 020622

ERTABO
ESCAPE
EXITER
FREEZ)
HALTS
HILIM
ICOUNT
INBUF
INIFLG
INSTER=
INSTR =
INSTRE
INSTRG
INSTR1
INSTR2
LAST
LIGHTS
LIMITS
LOBITS
LOGICA
LOLIM
LPCNT
MCRLF
MDATA
MEPASS
MPFAIL
MQM

MR
MREGAD
MSG
MTITLE
MTSTPC
MVECTO
N =
OCTASC=
OCTASN
PARAM =
PARAMS
PARAM1
PARERR
PASARG
PASCNT
PASTXT
PFAIL
PFTAB
POPRO =
POP1SP=
POP2SP=
PS =
PUSHRO=
PJUSH1S=
PUSH2S =
RESREG
RESTAR
RESTRT
RESOS =

017154
020052
017132
020054
017112
017526
020056
020564
020102
104404
104403
017340
017246
017260
017346
020106
001002
017460
017532
016610
017524
020060
020377
020610
020467
020402
020373
020522
020337
017262
020260
020526
020315
000001
104402
017534
104405
017350
017400
017454
016624
020044
020502
020110
020250
012600
005726
022626
177176
010046
005746
024646
017110
020146
016620
104407

RETRN
RSOS
SAVPC
SAVRO
SAVR1
SAVR2
SAVR3
SAVR4
SAVRS
SAVSP
SAVOSP=
SCOPE =
SCOPER
SCOPEL=
SCOP1R
SPACNT=
STACK =
START
STFLG
SV05
SvVosP
SWR
SW00
SWO1
SW02
SWO3
SHO4
SHOS
SWO6
SWOB
SWO9
SW10
SW1l
SW12
SW13
SW14
SW15
TEMP
TKCSR
TKDBR
TPCSR
TPDBR
TRPOK
TRPSRV
TRPTAB
TYPDAT
TYPE =
TYPER
TYPMSG
T

T10
T100
T101
T102
T103

020050
017746
020100
020062
020064
020066
020070
020072
020074
020076
104406
104400
016632
104410
016732
017703
021544
001004
020104
017714
017706
001000
000001
000002
000004
000010
000020
000040
000100
000400
001000
002000
004000
010000
020000
040000
100000
020576
020000
020002
020004
020006
017174
017162
020542
017072
104401
017214
017050
001400
002244
010342
010442
010542
010642

T104
7105
7106
T107
T11

T110
T111
T112
T113
T114
T115
T116
T117
T12

7120
T121
T122
T123
T124
T125
T126
T127
T13

T130
T131
T132
T133
7134
T135
T136
T137
T14

T140
T141
T142
T143
T144
T145
T146
T147
T15

T150
T151
T152
T153
T154
T155
T16

T17

T20
T21
T22
T23
T24

010742
011042
011142
011246
002340
011352
011456
011562
011666
011772
012076
012202
012306
002420
012412
012516
012622
012726
013032
013136
013242
013346
002500
013452
013556
013662
013766
014072
014176
014302
014406
002560
014512
014616
014722
015026
015132
015236
015352
015466
002644
015602
015716
016032
016146
016262
016406
002732
003020
001474
003106
003174
003262
003350
003436

125
T26
127
T3
T30
731
132
733
T34
T35
1736
137
T4
T40
T41
T42
143
T44
T45
T46
T47
15
150
751
152
153
154
155
156
157
T6
160
T61
T62
163
T64
165
T66
T67
7
T70
T71
172
173
174
175
176
177
VEC1
VEC2
WROCNT
X

XBIT
XN
Y

003524
003612
003700
001570
003766
004042
004116
004172
004246
004322
004452
004602
001664
004732
005022
005112
005202
005272
005362
005452
005542
001760
005632
005722
006012
006102
006172
006262
006352
006442
002054
006532
006622
006712
007002
007072
007162
007252
007342
002150
007432
007522
007612
007702
007772
010062
010152
010242
001164
001174
017700
000000
000000
000154
000011

SEQ 122
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SYMBOL TABLE

. ABS. 021336 000
000000 001
ERRORS DETECTED: ©

VIRTUAL MEMORY USED: 20736 WORDS ( 81 PAGES)

DYNAMIC MEMORY AVAILABLE FOR 71 PAGES
CZDHAD .BIN,CZDHAD.SEQ=CZDHAD .00C,DHMACA.MAC,CZDHAD .P11

ol 145
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